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1. inkFkZ ,oa mldh izÏfr
(Matter & Its Nature)

foKku dh og 'kk[kk gS] ftlds vUrxZr inkFkks± ds xq.k] la?kVu] lajpuk 

rFkk muesa gksus okys ifjorZuksa dk v/;;u fd;k tkrk gSA

Chemistry vFkkZr~ jlk;u foKku 'kCn dh mRifÙk felz ds izkphu 'kCn 
^dhfe;k* (Chemea) ls gqbZ gS] ftldk vFkZ gS dkyk jaxA felz ds yksx 
dkyh feêh dks ^dsfe* (Chemi) dgrs Fks vkSj izkjaHk esa jlk;u foKku ds 
vè;;u dks dsfeVs¥dx (Chemeteching) dgk tkrk FkkA

I. inkFkZ (Matter)

 nqfu;k dh dksbZ Hkh oLrq tkss LFkku ?ksjrh gks] ftldk nzO;eku gksrk gks 
vkSj tks viuh lajpuk esa ifjorZu dk fojks/k djrh gks] inkFkZ dgykrs 
gaSA mnkgj.kµty] gok] ckyw vkfnA

 izkjaHk  esa Hkkjrh;ksa vkSj ;wukfu;ksa dk vuqeku Fkk fd izÏfr 
dh lkjh oLrq,¡ ik¡p rRoksa ds la;ksx ls cuh gSa] ;s ik¡p rRo 
gSaµf{kfrt] ty] ikod] xxu ,oa lehjA

 Hkkjr ds egku ½f"k d.kkn ds vuqlkj lHkh inkFkZ vR;Ur  
lw{ed.kksa ls cus gSa_ ftls ^ijek.kq* dgk x;k gSA

(i) BkslµinkFkZ dh og HkkSfrd voLFkk ftldk vkdkj ,oa vk;ru 
nksuksa fuf'pr gksa] Bksl dgykrk gSA tSlsµyksgs dh NM+] ydM+h 
dh dqlhZ] cQZ dk VqdM+k vkfnA

(ii) æoµinkFkZ dh og HkkSfrd voLFkk ftldk vkdkj vfuf'pr 
,oa vk;ru fuf'pr gks ^nzo* dgykrk gSA tSlsµ ,Ydksgy] 
ikuh] rkjihu dk rsy] feêh rsy vkfnA

(iii) xSlµinkFkZ dh og HkkSfrd voLFkk ftldk vkdkj ,oa vk;ru 

nksuksa vfuf'pr gkas ^xSl* dgykrk gSA tSlsµgok] vkWDlhtu 

vkfnA

rRo@fl¼kar ,oa muds [kkstdrkZ  
(Elements/Theories & Their Discoverers)

[kkst [kkstdrkZ æO;eku

bysDVªkWu dh [kkst ts- ts- FkkWelu 9.108 × 10–31 kg

izksVkWu dh [kkst xksYMLVhu@jnjQksMZ 1.67 × 10–27 kg

U;wVªkWWu dh [kkst tsEl pSMfod 1.67 × 10–27 kg

ukfHkd dh [kkst ykWMZ jnjQksMZ —

ijek.kq Øekad dh [kkst ekslys —

vk/kqfud vkoÙkZ lkj.kh ekslys —

2. HkkSfrd jlk;u  
(Physical Chemistry)

jlk;u foKku] foKku dh og 'kk[kk gS ftlds vUrxZr inkFkks± ds xq.k 

(Properties), la?kVu (Composition), lajpuk (Structure), mlds 
vkilh lEcU/kksa (mutual relations among substance) o muesa gksus 
okys ifjorZuksa bR;kfn dk vè;;u fd;k tkrk gSA HkkSfrd jlk;u dgykrk 
gSA

ysok;fl;s dks ^vkèkqfud jlk;u foKku dk firk* dgk tkrk gSA

	 ijek.kqµfdlh inkFkZ dk lw{;ere d.k tks vfHkfØ;k esa Hkkx ysrk 
gSA

	 v.kqµfdlh inkFkZ dk lw{ere d.k tks vfHkfØ;k esa Hkkx ugha ysrk 
gSA

I. ijek.kq lajpuk (Atomic Structure)

(i) MkYVu dk ijek.kq fl¼kUrµtkWu MkWYVu us 1803 bZ- esa 
crk;k fd ijek.kqqq vfoHkkT; d.k gS] fdarq ckn esa Kkr gqvk fd 
ijek.kq fuEu ekSfyd d.kksa ls feydj cuk gksrk gSA

 bysDVªkWuµbysDVªkWu dh [kkst ts- ts-FkkWelu us dh FkhA 
bldk æO;eku 9.1 × 10–31 kg rFkk vkos'k – 1.6 × 

10–19 dwykWe gksrk gSA

 izksVkWuµbl d.k dh [kkst jnjQksMZ us dh FkhA bldk 

æO;eku 1.67 × 10–27 kg rFkk vkos'k + 1.6 × 10–19 
dwykWe gksrk gSA

 U;wVªkWuµbl ij dksbZ vkos'k ugha gksrk gSA U;wVªkWu dh [kkst 
1932 bZ- esa pSMfod us csjhfy;e èkkrq ij a d.kksa ls 
vk?kkr djkdj dh FkhA bldk æO;eku 1.67 × 10–27 kg 

gksrk gSA

(ii) jnjQksMZ dk ijek.kq ekWMyµjnjQksMZ us 1911 esa ijek.kq 
dh lgh lajpuk tkuus ds fy, ,d egRoiw.kZ iz;ksx fd;kA 
jnjQksMZ us ;g ns[kk fd Lo.kZ&i= esa ls xqtjrs gq, a d.k 
fofHkUu fn'kkvksa esa fo{ksfir gks tkrs gSaA

(iii) ijek.kq dk FkkWelu ekWMyµFkkWelu us  1904 bZ- esa crk;k 
fd ijek.kq ,d xksys osG leku gS rFkk bl xksys esa txg&txg 
ij bysDVªkWu bl izdkj èk¡ls jgrs gSa] tSls fd rjcwt esa mlds 
chtA

 ikWthVªkWu bysDVªkWu ijek.kq esa ik;k tkus okyk ,d ekSfyd d.k 
gSA ;g /ku vkos'k ;qDr bysDVªkWu gSA blds xq.k bysDVªkWu ds 
leku gksrs gSaA bls + IP° ls iznf'kZr djrs gSaA

jlk;u foKku
v/;k;
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(iv)  cksj dk ijek.kq ekWMyµuhYl cksj (1913) osG ijek.kq ekWMy 
osG vuqlkjµ

 izR;sd bysDVªkWu esa ,d fuf'pr ÅtkZ dh ek=k fufgr gksrh 
gSA fdlh d{kk fo'ks"k ds lHkh bysDVªkWuksa dh ÅtkZ leku 
gksrh gSA

 bysDVªkWu tc ,d ÅtkZ Lrj ls nwljs ÅtkZ Lrj ij dwnrk 
gS rks ÅtkZ mRltZu djrk gS vU;Fkk ughaA 

(v)  gq.M dk fu;eµtgk¡ rd lEHko gks fdlh midks'k (Subshell) 

ds d{kdksa (Orbitals) esa v;qfXer (Unpaired) bysDVªkWuksa dh 
la[;k vfèkdre jgrh gS vkSj v;qfXer bysDVªkWuksa dk pØ.k 
(Spin) lefn'k (In the same direction) gksrk gSA

II. jklk;fud caèk (Chemical Bond)

 fofHkUu ijek.kq ftl cy }kjk ijLij tqM+dj v.kq cukrs gSa] ml cy 
dks jklk;fud vkcUèk ;k cUèk (Chemical Bond) rFkk bl izfØ;k 
dks jklk;fud vkcUèku (Chemical Bonding) dgrs gSaA

(i) vkW;uµfo|qr vkos'k ls eqDr ijek.kq o ijek.kqvksa dk lewg 
(Ions) dgykrk gS] tSlsµNa+, Mg++, Cl– (DyksjkbM 
vk;u)] (lYQsV vkW;u) o  (QkWLQsV vk;u) bR;kfnA

 ;s vk;u nks izdkj ds gksrs gSaµ

 (i) èkuk;u] (ii) ½.kk;u

  ,d nksgjh vi?kVu vfHkfØ;k ds nkSjku vfHkdkjdksa ds 
chp vk;u dk vknku&iznku gksrk gSA

 	fdlh rRo esa bysDVªkWu dks R;kx dj /kuk;u cukus dh 
izo`fÙk ikbZ tkrh gSA

 mnk- % isIVhdj.kµisIVhdj.k ds nkSjku vo{ksi fo|qr vi?kV~; 
ds ,d vk;u dks lks[k ysrk gS ftlds dkj.k vo{ksi 
ij /kukRed ;k ½.kkRed vkos'k mRiUu gks tkrk gS vkSj 
vUrr% dfyyh; foy;u esa cny tkrk gSA

(ii) la;kstdrkµfdlh rRo dk ijek.kq nwljs ijek.kq ds lkFk ftrus 
bysDVªkWu R;kxrk] xzg.k djrk vFkok ftrus bysDVªkWu ;qXeksa dks 
lk>k djrk gS] og ml rRo dh la;kstdrk dgykrh gSA

 fdlh rRo dh la;kstdrk mlds ijek.kq dh ckáre d{kk esa 
mifLFkr bysDVªkWuksa dh la[;k ij fuHkZj djrh gSA

 tSlsµ

 Na −−→  Na+

 2, 8, 1 2, 8

III. vkWDlhdj.k&vip;u (Oxidation-Reduction)

(i) vkWDlhdj.kµfdlh ijek.kq] v.kq ;k vk;u ls bysDVªkWuksa 
dk fudyuk vFkkZr~ i`Fkd~ gksuk] vkWDlhdj.k (Oxidation) 
dgykrk gSA

 Na −−→ Na+ + e–

 2Cl −−→ Cl2 + 2e
 fo|qr jklk;fud izfØ;k tks ,uksM ij gksrh gS mls vkWDlhdj.k 

dgrs gSaA
(ii) vip;uµfdlh ijek.kq] v.kq ;k vk;u ds bysDVªkWu xzg.k 

djus dh fØ;k dks vip;u dgrs gSaA

 mnkgj.kµ  Fe+++ + e– −→ Fe++ 

          Cl2 + 2e– −→ 2Cl–

(iii) vkWDlhdkjd inkFkZµos inkFkZ tks vfHkfØ;k esa bysDVªkWu xzg.k 
djrs gSa] vkWDlhdkjd dgykrs gSaA

 mnkgj.kµDyksjhu] ukbfVªd vEy vkfnA

(iv) vipk;d inkFkZµos inkFkZ tks vfHkfØ;k esa bysDVªkWu ifjR;kx 
djrs gSa] vipk;d dgykrs gSaA

 mnkgj.kµH2S vkfn

(v) vkWDlhdj.k la[;kµfdlh rRo dh vkWDlhdj.k la[;k og 
la[;k gS tks fdlh ;kSfxd] v.kq vFkok vk;u esa ml ijek.kq ij 
vkos'kksa dh la[;k crkrh gSA ;g la[;k èkukRed ;k ½.kkRed 
nksuksa izdkj dh gks ldrh gS] tSlsµNaCl esa lksfM;e dh 
vkWDlhdj.k la[;k +1 vkSj Dyksjhu dh vkWDlhdj.k la[;k 
–1 gS] D;ksafd Na+ vk;u ij +1 vkSj Cl– vk;u ij –1 fo|qr 
vkos'k gSA

3. vEy] {kkj vkSj yo.k
(Acids, Bases and Salts)

I. vEy (Acid) 
 os inkFkZ tks vius tyh; foy;u esa gkbMªkstu ds èkuk;u (H+) 

mRiUu djrs gSa] vEy dgykrs gSaA ;s izksVkWu ns ldrs gSaA
 tSls HCl dks ty esa ?kksyus ij ty (H2O) dks (H+) vk;u 

iznku djrk gSA vr% ;g vEy gSA
HCl + H2O �  H3O+ + Cl–

vEyksa osG xq.kµ

 ;s izk;% Lokn esa [kV~Vs gksrs gSaA
 uhys fyVel i= rFkk feFkkby vkWjsat dks yky dj nsrs gSaA
 budk pH eku 7 ls de gksrk gSA

lkj.kh % dqN vEyksa ds izkÏfrd lzksr
(Natural Sources of Some Acids)

vEy
(Acid)

izkÏfrd lzksr
(Natural Source)

 ,lhfVd vEy fljdk (Vinegar)

 ,Ldk£cd vEy (foVkfeu&C) vk¡oyk] [kês Qy] I;kt
 flfVªd vEy lUrjk] uhcw vkfn [kV~Vs Qy
 eSysbd vEy lsc
 VkVZfjd vEYk beyh] vaxwj] dPpk vke
 vkWDtSfyd vEy VekVj] ikyd] pus dh iÙkh
 ySfDVd vEy ngh o [kV~Vk nwèk (Sour Milk)

 eSFksukWbd vEYk phaVh o usVy ikSèks dh iÙkh
 QkW£ed vEYk phaVh

II. {kkj (Bases)

 bUgsa HkLe Hkh dgrs gSaA {kkjd os inkFkZ gSa tks tyh; foy;u esa 
gkbMªkWDlkbM vk;u (OH–) nsrs gSaA ;s izksVªkWu ys ldrs gSaA
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 tSlsµ
 NaOH �  Na+ + OH–

 (tyh; foy;u)    (tyh; foy;u)
ty esa foys; {kkjdksa (Bases) dks {kkj (Alkali) dgrs gSaA tSlsµ 
lksfM;e gkbMªkWDlkbM (NaOH), iksVSf'k;e gkbMªkWDlkbM (KOH), 

veksfu;e gkbMªkWDlkbM (NH4OH) bR;kfnA
	 'kq"d pwuk cM+h ek=k esa dadM+ ;k feV~Vh ;qDr pwuk iRFkj dks 

tykdj cuk;k tkrk gSA tc pwuk (CaO) dks ty esa ?kksyk 
tkrk gS] rks pwuk ty (Lime water) curk gS] ftls dSfYl;e 
gkbMªkWDlkbM [(CaOH)2] dgrs gSaA

CaO + H2  Ca[OH]2

{kkjdksa osG xq.kµ

	 lHkh {kkjd] vEyksa ls fØ;k djds mnklhu (Neutral) gks tkrs 
gSa ;k yo.k (Salt) ,oa ty cukrs gSa vkSj vEYk dks Hkh mnklhu 
dj nsrs gSaA

 ;s yky fyVel dks uhyk dj nsrs gSaA
 budk pH eku 7 ls vfèkd gksrk gSA
 {kkj rsyksa o olkvksa (Fats) ls vfHkfØ;k djds fXyljkWy o 

lkcqu cukrs gSaA

III. yo.k (Salt)

 yo.k os inkFkZ gSa tks ty esa foys; gksdj gkbMªkstu (H+) vkSj 
gkbMªkWfDly (OH–) vk;u ds vfrfjDr dksbZ vkSj èkuk;u rFkk 
½.kk;u nsrs gSaA tSlsµ
 NaCl, KNO3 vkfnA

NaCl �  Na+ + Cl–

KNO3 �  K+ + NO3
–

 ftu vfHkfØ;kvksa esa vEy o {kkj fØ;k djds ty ,oa yo.k 
cukus gSa mu fØ;kvksa dks  mnklhuhdj.k vfHkfØ;k dgrs gSaA

IV. pH eku (pH Value)
 pH ,d la[;kRed ekid (Scale) gS] tks inkFkks± dh vEyh;rk 

rFkk {kkjh;rk dks izn£'kr djrk gSA ;g fdlh foy;u ds 1 
yhVj esa mifLFkr xzke gkbMªkstu vk;Ul ds lkUæ.k ds O;qRØe 
(Reciprocal) dk y?kqxq.kd (Logarthm) gksrk gSA

 pH = log
1

H�
�

�
�

�

�
�

         ;k pH = – log (H+)

 pH iSekus dk vkfo"dkj ,l- ih- ,y- lksjsUlu us o"kZ 1904 esa 
fd;k FkkA

 pH dk eku 0 ls 14 ds chp gksrk gSA ftl foy;uksa ds pH dk 
eku 7 ls de gksrk gS] os vEyh; gksrs gSaA ftu foy;uksa dk pH 

eku 7 ls vfèkd gksrk gS] os {kkjh; gksrs gSaA
 mnklhu foy;uksa ds pH dk eku 7 gksrk gSA pH ewY; dk mi;ksx 

,YdksgkWy] phuh] dkxt vkfn m|ksxksa esa gksrk gSA
 'kq¼ ikuh dk pH eku 7 gksrk gSA jDr dk pH eku 7.4

 'khry is; (dksYM fMªad)  esa eq[;r% dkcZfud ,flM] lkbfVªd 
vkSj QkWLQksfjd ik;s tkrs gSaA 'khry is; dk pH dk eku 2.4 ls 
ysdj 3.5 rd gksrk gSA

4. b±/ku
(Fuels)

os lc inkFkZ tks vdsys ;k vU; inkFkks± ls izfrfØ;k djds Å"ek (Heat) 

iznku djrs gSa] b±èku dgykrs gSaA vfèkdka'k b±èkuksa esa dkcZu mifLFkr jgrk 
gSA

fdlh inkFkZ ds Toyu'khy gksus ds fy, blesa vkWDlhtu ds lkFk vfHkfØ;k 
djus dh {kerk gksuh pkfg,A gkbMªkstu lokZf/kd Toyu'khy gSA
I. vPNs b±èku ds xq.k (Quality of Good Fules)

 b±èku dk Å"eh; eku mPp gksuk pkfg,A
 tykus ij de&ls&de vif'k"V (Waste) og gkfudj xSlksa 

(Warmful Gasses) dk mRltZu de gksuk pkfg,A

II. egRoiw.kZ b±èku (Important Fules)

(i) dks;ykµdks;yk eq[;r% dkcksZfuQsjl dky dh ijrnkj 
pV~Vkuksa esa ik;k tkrk gSA ;g vkS|ksfxd Økafr dk vkèkkj jgk 
gS] vr% bls m|ksxksa dh tuuh Hkh dgk tkrk gSA dks;yk dks 
^^nch gqbZ jks'kuh** dgk tkrk gSA dks;yk pkj izdkj dk gksrk 
gSµ,UFkzklkbV (loksZÙke dks;yk)] fcVqfeul] fyXukbV rFkk 
ihV (fuEure Js.kh dk dks;ykA dkcZu] ok"i o ty dh ek=k 
ds vk/kkj ij dks;yk ds fuEufyf[kr izdkj gSaµ

dks;ys osG izdkj
(Types of Coal)

dkcZu dh ek=k

(Amount of 
Carbon)

,UFkzslkbV (mÙke Js.kh) 80-95%

fcVqfeul 55-65%

fyXukbV 45-55%

ihV (fuEu Js.kh) < 30%

(ii) isVªksfy;eµ;g xgjs dkys&Hkwjs jax dk ';ku (Viscous) vFkkZr~ 
xk<+k rjy gSA
 dPps rsy dk izHkkth vklou (Fractional distillation)  

}kjk ifj"dj.k djus ij fofHkUu rki ifjljksa ij fofHkUu 
isVªksfy;e mRikn izkIr gksrs gSaA tSlsµisVªksy] Mhty] fLizV] 
Lusge] ,sLQkYV] iSjkfQu ekse] isVªksfy;e ;k izkÏfrd xSl 
(Natural Gases), dksyrkj bR;kfnA

  dkcZu MLV isVªksfy;e inkFkZ dk vfUre mRikn gksrh gSA

  rjy isVªksfy;e xSlµrjy isVªfy;e xSl (,yihth) Toyu'khy 
gkbMªkstu xSl dh ,d Js.kh gSA æfor isVªksfy;e xSl ?kjksa esa 
jlksbZ ds b±/ku ds :i esa iz;ksx dh tkrh gSA vlesa vR;ar mPp 
nkc ij izksisu] C;wVsu ,oa vkblksC;wVsu tSlh xSlsa æfor gksrh gSaA 
bUgha æfor gkbMªksdkcZuksa ds feJ.k dks L.P.G. dgrs gSaA

(iii) izkÏfrd xSl o laihfMr izkÏfrd xSlµbldk eq[; la?kVd 
ehFksu (CH4) rFkk ,Fksu gSA bl xSl dk eq[; lzksr isVªksfy;e ds 
dwi gSa ftuls ;g Lor% fudyrh jgrh gSA

 bldk iz;ksx okguksa esa djus ds fy, 200 ls 250 fdxzk@
eh3 rd laihfMr djds flys.Mjksa esa Hkj fn;k tkrk gSA rc 
;g laihfMr izkÏfrd xSl (Compressed Natural Gas-
CNG) dgykrh gSA
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(iv) Hkki vaxkj xSlµ;g dkcZu eksuks vkWDlkbM o gkbMªkstu 
dk feJ.k gksrh gSA

(v) dksy xSlµ;g jaxghu o rh{.kxaèk okyh xSl gSA blesa 
55% gkbMªkstu] 30% ehFksu] 4% dkcZu eksuks 
vkWDlkbM vU; 10% esa vlar`Ir gkbMªksdkcZu o 
vTToyu'khy v'kqf¼;k¡ gksrh gaSA

(vi) ok;q vaxkj xSlµizksM~;wlj xSl esa yxHkx 32% dkcZu 
eksuks vkWDlkbM] 65% ukbVªkstu rFkk dqN ek=k dkcZu 
Mkb vkWDlkbM dh (v'kqf¼ ds :i esa) gksrh gSA

(vii) rsy xSlµehFksu] ,fFkyhu] ,flVyhu bR;kfn ds lar`Ir 
o vlar`Ir gkbMªksdkcZuksa dk feJ.k bl xSl esa gksrk gSA

 blds vUrxZr gkbMªkstu] DySFkjsV] dksycsM] ehFksu] 
xSlksgky dks Hkfo"; dk b±/ku dgrs gSa] D;ksafd blus dksbZ 
gkfudkjd vo'ks"k ugha cprkA

5. vdkcZfud jlk;u  
(Inorganic Chemistry)

I. rRoksa dk vkorhZ oxhZdj.k (Periodic Classification of 
Elements)

lu~ 1803 bZ- esa MkYVu uked jlk;uK us lkis{k ijek.kq Hkkjksa] 
ftldks vktdy ijek.kq æO;ekuksa ds :i esa Lohdkj fd;k x;k gS] 
dh ,d lkj.kh izdkf'kr dh FkhA bl lkfj.kh us rRoksa ds fy, ,d  
egRoiw.kZ uhao dk dk;Z fd;kA blh Øe esa MkWcsjkbuj us f=d 
fl¼kUr] foy;e izkmV (1815) us viuh ifjdYiuk] ØqDl 
(1854), U;wyS.M (1869) o es.MyhQ (1871) vkfn us vius&vius 
rjhds ls rRoksa ds oxhZdj.k djus ds iz;kl fd;sA
lu~ 1869 bZ- esa U;wyS.M ds v"Vd fu;e esa lqèkkj djds es.MyhQ 
us ,d vkorZ fu;e fn;k ftls es.MyhQ dk vkorZ fu;e 
(Mendeleeff’s Periodic Law) dgrs gSaA bl fu;e ds vuqlkj] 
rRoksa ds HkkSfrd ,oa jklk;fud xq.k muds ijek.kq Hkkjksa ds vkorhZ 
Qyu (Periodic Functions) gksrs gSaAÞ

(i) vkèkqfud vkorZ fu;e 

 ijek.kq Øekad (Atomic Number) dh [kkst ds ckn ekslys us 
Kkr fd;k fd rRoksa ds HkkSfrd vkSj jklk;fud xq.k&/keZ muds 
ijek.kq Øekad ds vkorhZ Qyu gksrs gSa] ijek.kq Hkkj ij ughaA

 vkèkqfud vkorZ&fu;e ds vkèkkj ij es.MyhQ dh vkorZ& 
lkj.kh dks 1913 esa la'kksfèkr dj fn;k x;kA vkorZ lkj.kh ds 
la'kksfèkr  :i   dks  vkèkqfud vkorZ&lkj.kh (Modern Periodic 

Table) vFkok nh?kkZdkj ;k izo£èkr vkorZ&lkj.kh dgrs  
gSaA

 vkèkqfud vkorZ lkj.kh esa mRd"kZ xSlksa dks rÙoksa ds 18osa lewg esa 
j[kk x;k gSA

 vkèkqfud vkorZ lkj.kh esa 18 oxZ rFkk 7 vkorZ gSaA

(ii) nh?kkZdkj vkorZ&lkj.kh ds y{k.k

 bl vkorZ&lkj.kh esa Hkh ÅèokZèkj (Vertical) rFkk {kSfrt 
(Horizontal) [kkus gSa ftUgsa Øe'k% oxZ (Groups) ,oa 
vkorZ (Periods) dgrs gSaA

 bl vkorZ&lkj.kh esa ijek.kq&Øekad tks fd ijek.kqvksa 
dk ,d ekSfyd xq.k gS] ds vkèkkj ij rRoksa esa vko£rrk 
n'kkZ;h x;h gSA

 bl vkorZ&lkj.kh esa I ls ysdj VIII vkSj mlds i'pkr~ 
'kwU; (0) dqy ukS oxZ gSaA vkSj 'kwU; (0) oxZ dks NksM+dj 
'ks"k lkrksa oxZ A vkSj mioxks± esa foHkkftr gSaA oxZ VIII dks 
rhu ÅèokZèkj [kkuksa esa mifoHkkftr dj fn;k x;k gSA bl 
vkorZ&lkj.kh esa dqy 18 ÅèokZèkj [kkus gSaA

 es.MyhQ dh vkorZ&lkj.kh ls bl vkorZ lkj.kh esa 
mioxks± dk Øe fHkUu gSA izo£/kr vkorZ&lkj.kh esa mioxks±

  dk Øe IA, IIA, IIIB, IVB, VB, VIB, VIIB, VIII, 
IB, IIB, IIIA, IVA, VA, VIA, VIIA RkFkk 0 gSA

 gkbMªkstu (H) dks mioxZ IA rFkk VII A nksuksa oxks± esa fljs 
ij j[kk x;k gSA blls nksuksa oxks± ls gkbMªkstu ds lEcUèk 
dk funsZ'k gksrk gSA

 mRÏ"V ;k vfØ; xSlksa (Inert Gas) dks vkorZ&lkj.kh ds 
nk;ha vksj var esa 'kwU; (0) oxZ esa j[kk x;k gSA ;g oxZ IA, 
mioxZ dh {kkj&èkkrqvksa vkSj VIIA mioxZ ds gSykstu rRoksa 
ds eè; lsrq dk dk;Z djrk gSA

 bl vkorZ&lkj.kh esa Hkh 1 ls ysdj dqy 7 vkorZ gSaA

  vc rd 118 rRoksa dh [kkst gks pqdh gSA

fo'ks"krk,¡
(Characteristics)

rRo
(Element)

Å"ek ,oa fo|qr dk loksZÙke pkyd pk¡nh

lokZf/kd ik;h tkus okyh /kkrq ,Y;qfefu;e

lokZf/kd vk?kkRo/;Z /kkrq lksuk

Å"ek dk nqcZyre pkyd lhlk

lcls gYdh /kkrq yhfFk;e

II. /kkrq,¡ (Metals)

,sls rRo tks bysDVªkWu dks R;kx dj èkukRed cukus dh izo`fÙk j[krs 

gSa] èkkrq (Metal) dgykrs gSaA tSlsµlksfM;e (Na), iksVSf'k;e (K), 

vk;ju (Fe), dkWij (Cu), lksuk (Au) vkfnA

lksus dh 'kq¼rk dSjsV esa pk¡nh dh 'kq¼rk Vap esa rFkk ghjs dh 
'kq¼rk QSjsV esa ekih tkrh gSA
24 dSjsV lksus esa 100% [kjk lksuk gksrk gS] tcfd 18 dSjsV lksus 
esa [kjs lksus dh ek= 75% gksrh gSA

/kkrqvksa ds HkkSfrd xq.k
 èkkrqvksa dks gFkkSMs+ ls ihV&ihV dj mldh iryh pknjsa cuk;h 

tk ldrh gSaA vFkkZr~ ls vk?kkr o/kZuh; gksrh gSaA

 èkkrq,¡ rU; (Ductile) gksrh gSa] vFkkZr~ èkkrqvksa dks irys rkjksa esa 
[khapk tk ldrk gSA

 èkkrq,¡ Å"ek ,oa fo|qr dh lapkyd (Good conductors) gSaA
 iksVSf'k;e ,oa lksfM;e (tks eqyk;e gksrk gS) dks NksM+dj èkkrq,¡ 

lkekU;r% dBksj gksrh gSaA
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 xSyh;e dejs ds rki ls FkksM+k vf/kd ij æO; voLFkk esa ik;h 

tkrh gSA

 /kkrqvksa esa mPp ruu 'kfDr (Tensile strength) gksrh gSA

 ejdjh (dks NksM+dj tks æo èkkrq gS) dks NksM+dj èkkrq,¡ dejs ds 

rki ij Bksl gksrh gSaA

 èkkrqvksa esa xyukad vkSj DoFkukad mPp gksrs gSaA

 èkkrq,¡ èofut ;k vuquknh gksrh gSa] vFkkZr~ tc ;s fdlh oLrq ls 

Vdjkrh gSa rks èofu mRiUu djrh gSaA

III. vèkkrq,¡ (Non-metals)

 tks rRo Hkaxqj] de pedhys gksrs gSa vkSj ftUgsa ihVk ugha tk 

ldrk ;k ftUgsa rkj ds :i esa [khapk ugha tk ldrk gS vkSj tks 

Å"ek vkSj fo|qr ds dqpkyd gksrs gSa] os vkerkSj ij v/kkrq 

dgykrs gSaA mnkgj.k ds fy,] vkWDlhtu vkSj ukbVªkstu ok;q 

esa eqDr voLFkk esa vkSj i`Foh dh HkwiiZVh esa la;qDr voLFkk esa 

ik, tkrs gSaA lYQj i`Foh dh HkwiiZVh esa eqDr vkSj la;qDr nksuksa 

voLFkk esa ik;k tkrk gSA

 vfØ; (ukscy) xSlsa] ghfy;e (He)] fu;kWu (Ne)] vkxZu 

(Ar)] fØIVu (Kr) vkSj thukWu (Xe) dsoy eqDr voLFkk esa 

ikbZ tkrh gSsaA

IV.  mi&èkkrq,¡ (Metalloids)

 os rRo ftuesa /kkrq vkSj v/kkrq ds xq.k gksrs gSa] mi/kkrq dgykrs 

gSaA v¼Z pkyd (semi conductor) dgykrh gSA 

 mnkgj.k ds fy,] cksjkWu] flfydkWu] tesZfu;e] VsY;qfj;e] 

vklsZfud vkSj ,aVheuh mi/kkrq,¡ gSaA

u lYQj dk mi;ksx jcj ds oYdsukbts'ku vkSj ck:n 

cukus ds fy, fd;k tkrk gSA

u QkWLQksjl dk mi;ksx moZjdksa ds fuekZ.k esa fd;k tkrk gSA

u flfydkWu dk mi;ksx v¼Zpkyd cukus ds fy, fd;k tkrk 

gS ftlds fy, ekbØksfpIl cuk, tkrs gSaA

u ihus ds ikuh dks dhVk.kqjfgr djus ds fy, Dyksjhu dk 

mi;ksx fd;k tkrk gSA
u ejhtksa ds fy, lgk;d 'olu ra= esa vkWDlhtu dk 

bLrseky fd;k tkrk gSA
u vk;ksfMu ,aVhlsfIVd esa iz;ksx fd;k tkrk gSA

6. dkcZfud jlk;u  
(Organic Chemistry)

thoèkkfj;ksa ls izkIr gksus okys fdlh Hkh inkFkZ dks iz;ksx'kkyk esa ugha cuk;k 
tk ldk FkkA lu~ 1828 esa teZuh ds izfl¼ jlk;uK oksÍj (Wohler) us 
iz;ksx'kkyk esa veksfu;e lk;usV (vdkcZfud inkFkZ) dks xeZ djds ;wfj;k 
(dkcZfud inkFkZ) izkIr fd;kA
'kq¼ jklk;fud voLFkk esa ghjd (Mk;eaM) iksfyØksesfVd gSaA iksfyØksesfVd 
vFkkZr~ dbZ jax dkA bldk iz;ksx ,d izdk'k ls vfèkd jax dk o.kZu djus 
ds fy, fd;k tkrk gSA

dkcZfud ;kSfxdksa dk oxhZdj.k
(Classification of Organic Compounds)

dkcZfud jlk;u 
(Organic Chemistry)

 [kqyh Ük`a[kyk okys can Üka`[kyk okys ;k
 ;k ,yhQSfVd ;kSfxd  pØh; ;kSfxd
 tSlsµehFksu] ,Fksu] izksisu]
 ,fFkyhu] ,flfVyhu vkfnA

 le pØh; fo"ke pØh;
  tSlsµfifjMhu] Fkks;ksQhu]
  ¶;wjku] ikbjkSy vkfnA

 ,sjkseSfVd ;kSfxd ,fylkbfDyd ;kSfxd
 tSlsµcsUthu] QhukWy] tSlsµlkbDyks izksisu]
 ,fuyhu vkfnA lkbDyks C;wVsu vkfnA

egRoiw.kZ vH;kl iz'u
 1.	 dejs osG rkiØe ij dkSu&lh vèkkrq rjy 

voLFkk esa gh ik;h tkrh gS \
  (A) QkWLQksjl (B) Dyksjhu
	 	 (C) czksehu	 (D) ghfy;e
 2.	 ,lhVksu vkSj feFkkby ,Ydksgy osG feJ.k dks 

vyx djus osG fy, dkSu&lh fuEufyf[kr 
rduhd dk ç;ksx gksrk gS \

	 	 (A) lsaVªh¶;wxs'ku	 (B) fuokZr~ vklou
	 	 (C) vkaf'kd vklou	 (D) vklou
 3.	 ty esa gkbMªkstu rFkk vkWDlhtu dk vuqikr 

Hkkj osG vuqlkj gSµ
	 	 (A)	2	:	1 (B)	 1	:	2
	 	 (C)	 8	:	1	 (D)	1	:	8

 4. ok"ihdj.k dh izfØ;k ds ckjs esa fuEufyf[kr esa 
ls dkSu&lk dFku lgh gS \

	 	 (A)	 æo voLFkk] Bksl voLFkk esa cny tkrh 
gS

	  (B)	 xSlh; voLFkk] æo voLFkk esa cny tkrh 
gS

	 	 (C)	 Bksl voLFkk] æo voLFkk esa cny tkrh 
gS

  (D)	 æo voLFkk] xSlh; voLFkk esa cny tkrh 
gS

 5.	 tc ty terk gS] bldk ?kuRo

  (A) c<+rk gS	 (B) leku jgrk gS

  (C) ?kVrk gS	 (D) 'kwU; gks tkrk gS

 6.		,d yhVj ikuh esa fdruh dSyksjh gksrh gS\

	 	 (A)	25	dSyksjh 	

	 	 (B)	 100	dSyksjh

	 	 (C)	 dksbZ dSyksjh ugha gksrh

	 	 (D)	10	dSyksjh	

 7. izksfV;e] M~;wVsfj;e vkSj VªkbfV;e dks 
fuEufyf[kr esa ls fdldh Js.kh esa j[kk x;k  
gSS \

	 	 (A)	 vkblksVksi	 (B)	 vkblksckj

	 	 (C)	 vkblksej (D)	vkblksdksj

 8.	 ghjk rFkk xzsQkbV esa leku gSµ

	 	 (A) fo|qr pkydrk	 (B) fØLVy lajpuk

	 	 (C) ?kuRo (D) ijek.kq Hkkj

 9. fuEufyf[kr esa ls D;k] tyh; fudk; esa gksus 
okys iznw"k.k esa ;ksxnku iznku ugha djrk \

	 	 (A)	 Hkkjh /kkrq (B)	 vkstksu

	 	 (C)	 ekbØksIykfLVDl	 (D)	dhVuk'kd
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 10. fuEufyf[kr esa ls D;k ,d xzhugkml xSl ugha 
gS \

	 	 (A)	 ty ok"i

	  (B)	 ukbVªl vkWDlkbM

	 	 (C)	 vkstksu

	  (D)	 dkcZu eksuksvkWDlkbM

 11. feFkkby vkWjsat ladsrd fdl pH	eku lhek 
ij viuk jax cnyrk gS \

	 	 (A)	 3.1	—	4.4 (B)	 1.0	—	3.1

	 	 (C)	 4.4	—	5.8 (D)	5.8	—	7.0

 12. isIVkbM ca/k dk fuekZ.k fdlds chp gksrk gS \

	 	 (A)	 vehuks lewg vkSj gkbMªkWfDly lewg

	  (B)	 nks gkbMªkWfDly lewg

	 	 (C)	 vehuks lewg vkSj dkcksZfDly lewg

	  (D)	 vehuks lewg vkSj dkcksZfuy lewg

 13. ikuh dks 'kq¼ djus ds fy, vkerkSj ij bLrseky 
fd;k tkus okyk jklk;fud rjhdk fuEufyf[kr 
esa ls dkSu&lk gS \

	 	 (A)	 'khrfuf"Ø;rk (gkbcjus'ku)

	  (B)	 mR[kuu (,Dldos'ku)

	 	 (C)	 Dyksjhuhdj.k

	  (D)	 vukbVªhdj.k

 14. ngu ds fy, fuEufyf[kr esa ls dkSu&lh xSl 
vko';d gS \

	 	 (A)	 gkbMªkstu

  (B)	 dkcZu eksuksvkWDlkbM

	 	 (C)	 vkWDlhtu

	  (D)	 ehFksu

 15. fuEufyf[kr esa ls dkSu ,d FkeksZlsfVax IykfLVd 
gS \

	 	 (A)	 ikWyhfFku	 (B)	 csdykbV

	 	 (C)	 ihohlh	 (D)	ikWfyLVj

 16. fuEufyf[kr esa ls dkSu foVkfeu C	dk ,d vPNk 
lzksr gS \

	 	 (A)	 gjh QwyxksHkh	 (B)	 phuh

	 	 (C)	 vaMk	 (D)	xsgw¡

 17. fuEufyf[kr esa ls fdldk mi;ksx djds ihus 
ds ikuh dk jklk;fud dhVk.kq'kks/ku fd;k tk 
ldrk gS \

	 	 (A)	 ¶yksjhu	 (B)	 Dyksjhu

	 	 (C)	 vk;ksMhu (D)	czksehu

 18.	 fuEufyf[kr esa ls dkSu&lk jklk;fud ifjorZu 
gS \

	 	 (A) iVk[kksa dk tyuk

	 	 (B) eSXuhf'k;e rkj dk xje gksuk

  (C) diM+s lq[kkuk

  (D) ikuh esa phuh dk ?kqyuk

 19.	 èkkou lksMk ;k èkkod lksMk fdldk lkèkkj.k 
uke gS \

  (A) oSGfY'k;e dkcksZusV

	 	 (B) lksfM;e dkcksZusV

	 	 (C) oSGfY'k;e ckb-dkcksZusV

	 	 (D) lksfM;e ckb-dkcksZusV

 20.		dc vfXu Toyu'khy ugha gks ikrh\

	 	 (A)	gok esa vkWDlhtu 30	çfr'kr ls de gksus 
ij

	 	 (B)	 gok esa vkWDlhtu 25	çfr'kr ls de gksus 
ij

	 	 (C)	 gok esa vkWDlhtu 20	çfr'kr ls de gksus 
ij

	 	 (D)	gok esa vkWDlhtu 15	çfr'kr ls de gksus 
ij

mÙkjekyk
 1. (C) 2. (C)	 3. (D)	 4. (D) 5. (C)

 6. (C)	 7. (A)	 8. (D) 9. (B)	 10. (D)

	 11. (A) 12. (C)	 13. (C)	 14. (C)	 15. (D)	
 16. (A)	 17. (B)	   18. (A) 19. (B) 20. (D)

rr
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laKk dk vFkZ
laKk dk 'kkfCnd vFkZ gS–^le~ $ Kk* vFkkZr~ lE;d~ Kku djkus okykA 
laKk dk i;kZ; gS–ukeA vr% fdlh Hkh O;fDr] oLrq] xq.k] Hkko] fLFkfr ds 
uke dks laKk dgrs gSaA

laKk dh ifjHkk"kk
fdlh Hkh O;fDr] oLrq] xq.k] Hkko] fLFkfr dk ifjp; djkus okys 'kCnksa dks 
laKk dgrs gSa] tSls–

O;fDr–jke] lhrk] gfj] iq#"k] L=h] rksrk] cr[k] v/;kid vkfnA

oLrq–dye] est] dqlhZ] iSu] fdrkc] ia[kk vkfnA

LFkku–vkxjk] fnYyh] uxj] xk¡o] }hi] tkiku vkfnA

Hkko–[kVkl] feBkl] cq<+kik] lq[k] nq%[k] yEckbZ] lnhZ vkfnA

laKk ds Hksn
laKk dks ik¡p Hkkxksa esa oxhZÏr fd;k x;k gS–

laKk
↓

 ↓	 ↓	 ↓	 ↓	 ↓

 O;fDrokpd tkfrokpd Hkkookpd leqnk;@ nzO;okpd

 laKk laKk laKk lewgokpd laKk

    laKk

mijksDr oxhZÏr laKk ds Hksnksa dks fuEukafdr ifjHkkf"kr fd;k x;k gS–

I. O;fDrokpd laKk–ftu laKk 'kCnksa }kjk fdlh ,d O;fDr] oLrq 
vFkok LFkku dk cks/k gksrk gS] mls O;fDrokpd laKk dgrs gSaA

 tSls–rktegy] jke] dk'kh] jkek;.k vkfnA

 O;fDrokpd laKk fuEufyf[kr :iksa esa ifjyf{kr gksrh gS–

	 O;fDr;ksa ds uke–jke] jksgu] fu'kk] jfo] eatw vkfnA

	 ufn;ksa ds uke–xaxk] ;equk] ueZnk] czãiq= vkfnA

	 fnuksa ds uke–jfookj] lkseokj] eaxyokj vkfnA

	 fn'kkvksa ds uke–iwjc] if'pe] mÙkj] nf{k.kA

	 eghuksa ds uke–lkou] Hkknksa] tuojh] Qjojh vkfnA

	 ns'kksa ds uke–:l] phu] vesfjdk] Hkkjr vkfnA

	 leqnzksa ds uke–fgUn egklkxj] iz'kkUr egklkxj] dkyk lkxj 
vkfnA

	 ioZrksa ds uke–fgeky;] vjkoyh] daputaxk vkfnA

	 ,sfrgkfld ;q¼ o ?kVukvksa ds uke–Iyklh dk ;q¼] gYnh ?kkVh 
dk ;q¼] 1857	dk LorU=rk laxzke vkfnA

	 izeq[k uxjksa o lM+dksa ds uke–y[kuÅ] bykgkckn (iz;kxjkt)] 
U;w jktkeaMh jksM] n;kyckx jksM vkfnA

	 iqLrdksa ,oa lekpkj i=ksa ds uke–jkepfjrekul] xhrk] vej 
mtkyk vkfnA

	 R;ksgkjksa ,oa mRloksa ds uke–gksyh] nhokyh] bZn] LorU=rk fnol 
vkfnA

fo'ks"kµ

O;fDrokpd laKk dk iz;ksx ,dopu ds :i esa gh fd;k tkrk gSA

II. tkfrokpd laKk–ftl 'kCn ls ,d gh tkfr ds leLr inkFkks± vFkok 
izkf.k;ksa dk cks/k gks] og tkfrokpd laKk ds vUrxZr vkrk gSA

 tSls–euq";] MkWDVj] xk¡o] yM+dk] v/;kid vkfnA

III. Hkkookpd laKk–ftu laKk 'kCnksa ds }kjk xq.k] n'kk] O;kikj ;k Hkko 
dk cks/k gks] mls Hkkookpd laKk dgrs gSaA

 Hkkookpd laKkvksa dk fuekZ.k pkj izdkj ds 'kCnksa ls fd;k tk ldrk 
gS–

(i) tkfrokpd ls fufeZr Hkkookpd laKk–mijksDr Øe esa tkfr& 
okpd laKk dk Hkkookpd laKk esa ifjofrZr :i ds mnkgj.k 
fuEukafdr gSa–

 tkfrokpd Hkkookpd laKk

 i'kq  i'kqrk
 izHkq izHkqrk
 yM+dk yM+diu
 ckyd ckydiu
 fe= fe=rk
 nq'eu nq'euh

(ii) loZuke ls fufeZr Hkkookpd laKk,¡–loZuke ls Hkkookpd laKk 
ds ifjorZu ds fuEukafdr mnkgj.k gSa–

 loZuke Hkkookpd laKk

 ijk;k ijk;kiu

 loZ loZLo

 vga vgadkj

 ee eeRo
(iii) fo'ks"k.k ls fufeZr Hkkookpd laKk,¡–fo'ks"k.k ds Hkkookpd 

laKk esa ifjofrZr Lo:i ds mnkgj.k fuEukafdr gSa–

 fo'ks"k.k Hkkookpd laKk
 e/kqj e/kqjrk
 Å¡pk Å¡pkbZ
 lQy lQyrk
 prqj prqjkbZ

Hkk"kk ,oa O;kdj.k
v/;k;

1
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(iv) fØ;k ls fufeZr Hkkookpd laKk,¡–mnkgj.k fuEukafdr gSa–

 fØ;k Hkkookpd laKk

 [ksyuk [ksy

 lquuk lqukbZ

 cquuk cqukbZ

 peduk pedk

 dekuk dekbZ

 feyuk feykoV

(v) vO;; ls fufeZr Hkkookpd laKk,¡–mnkgj.k fuEukafdr gSa–

 vO;; Hkkookpd laKk

 nwj nwjh

 Åij Åijh

 f?kd~ f/kDdkj

 'kh?kz 'kh?kzrk

 euk eukgh

 fudV fudVrk

 uhps fupkbZ

 lehi lkehI;

IV. leqnk;okpd@lewgokpd laKk–ftu laKk 'kCnksa ds }kjk vusd 
izkf.k;ksa] inkFkks± vkfn ds lewg dk cks/k gks] mUgsa lewgokpd vFkok 
leqnk;okpd laKk dgrs gSaA

 tSls–lsuk] d{kk] HkhM+] esyk] iqLrdky; vkfnA

fo'ks"kµ
;|fi lewgokpd laKk esa vusd izkf.k;ksa ;k inkFkks± ds lewg dh dYiuk 
dh tkrh gS] ysfdu budk mPpkj.k ,d gh 'kCn esa fd;k tkrk gSA

V. nzO;okpd laKk–ftu laKk 'kCnksa ls fdlh /kkrq dk cks/k gks] mls 
nzO;okpd laKk ds vUnj j[kk tkrk gSA

fo'ks"kµ
dHkh&dHkh O;fDrokpd laKk fdlh oxZ dk izfrfuf/kRo djrs gSa rks 
mudh laKk tkfrokpd gks tkrh gSA 
og yqdeku FkkA vFkkZr~ vius le; dk lcls cqf¼eku O;fDrA

loZuke
ifjHkk"kk–Hkk"kk esa lqUnjrk] laf{kIrrk ,oa iqu#fDr nks"k ls cpus ds fy, 
ftl 'kCn dk iz;ksx fd;k tkrk gS] og ̂ loZuke* gksrk gSA loZuke dk 'kkfCnd 
vFkZ gS ^lc dk uke*A vFkkZr~ lHkh laKkvksa ds LFkku ij iz;qDr gksus okys 
'kCn loZuke dgykrs gSaA blls okD; lgt ,oa ljy gks tkrk gS_ tSlsµlhrk 
vkt 'kkyk ugha vkbZ D;ksafd lhrk chekj gSA blds LFkku ij ;fn ;g dgk 
tk, ^lhrk vkt 'kkyk ugha vkbZ D;ksafd ^og* chekj gS rks loZuke ds iz;ksx 
ls ;g okD; vf/kd ljy ,oa lqUnj cu tk,xkA*

loZuke ds Hksn

loZuke dks N% Hkkxksa esa oxhZÏr fd;k tk ldrk gS] tks fuEukafdr lkj.kh esa nz"VO; gSa–

loZuke
↓

 ↓	 ↓	 ↓	 ↓	 ↓	 ↓
 iq#"kokpd loZuke fu'p;okpd loZuke vfu'p;okpd loZuke iz'uokpd loZuke lEcU/kokpd loZuke futokpd loZuke
 ↓	 ↓	 ↓	 ↓	 ↓	 ↓
 ↓ ↓ ↓ (;g] og) (dksbZ] dqN) (dkSu] D;k) (tks] lks) (vki] Lo;a] [kqn)
 mÙke e/;e vU;
 ↓	 ↓	 ↓
 (eSa] ge) (rw] rqe) (vki] og] os)

loZuke % fofo/k :i

loZuke drkZ dkjd deZ dkjd dj.k dkjd lEiznku dkjd viknku dkjd lEcU/k dkjd vf/kdj.k dkjd opu

eSa eSa] eSaus eq>dks] eq>s eq>ls eq>dks] eq>s] esjs fy, eq>ls esjk] esjh] esjs eq>esa] eq> ij ,dopu

ge ge] geus gedks] gesa gels gedks] gesa gekjs fy, gels gekjk] gekjh] gekjs geesa] ge ij cgqopu

rqe rqe] rqeus rqedks rqels rqedks] rqEgsa rqels rqEgkjk] rqEgkjh] rqEgkjs rqels] rqe ij ,dopu

og og] mlus mldks] mls mlls mldks] mls] mlds fy, mlls mldk] mldh] mlds mlesa] ml ij ,dopu

os os] mUgksaus mudks] mUgsa muls mudks] mUgsa] muds fy, muls mudk] mudh] muds muesa] mu ij cgqopu

vki
(futokpd)

vki vius dks vius ls vius fy, vius ls viuk] viuh] vius vius esa] vius ij ,dopu

mijksDr lkj.kh ds }kjk loZuke ds iz;ksx dks Hkyh&Hkk¡fr le>k tk ldrk 
gSA loZuke ds mijksDr Hksnksa dk fooj.k fuEu izdkj fn;k x;k gS–

I. iq#"kokpd loZuke–tks loZuke cksyus okys] lquus okys vFkok ftlds 
fo"k; esa dqN dgk tk;s vFkkZr~ ftudk iz;ksx ys[kd] oDrk] Jksrk ;k 
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Lo;a ds fy, djrk gS] os iq#"kokpd loZuke gksrs gSaA blds rhu Hksn 
gksrs gSa–

 (i) mÙke iq#"k–eSa] geA

 (ii) e/;e iq#"k–rw] rqeA

 (iii) vU; iq#"k–og] osA

II. fu'p;okpd loZuke–ftu loZuke 'kCnksa ds }kjk fdlh O;fDr] 
oLrq vkfn dh vksj fu'p;iwoZd ladsr djs] og fu'p;okpd loZuke 
ds vUrxZr vkrs gSaA fu'p;okpd loZuke ds nks Hksn gksrs gSa–

(i) fudVorhZ fu'p;okpd–ftuds }kjk lehi dh oLrqvksa dk 
cksèk gksrk gSA

 tSls–	;g ckr lR; gSA

(ii) nwjorhZ fu'p;okpd–ftuds }kjk nwj dh oLrqvksa dk cks/k 
djk;k tk;sA

 tSls– os yM+fd;k¡ [ksy jgh gSaA

III. vfu'p;okpd loZuke–ftu loZuke 'kCnksa ds }kjk fdlh fuf'pr 
O;fDr vFkok oLrq dk mfpr cks/k u gks] og vfu'p;okpd loZuke 
dh Js.kh esa vkrs gSaA

 tSls– dqN iz'u cgqr dfBu gSaA

  dksbZ vk;k gSA

IV. iz'uokpd loZuke–tks loZuke 'kCn laKk ds LFkku ij rks vkrs gSa] 
ysfdu okD; dks iz'u (\) esa ifjofrZr dj nsrs gSaA

 tSls– os D;k dj jgs gSa \

  dkSu vk jgk gS \

V. lEcU/kokpd loZuke–tks loZuke vU; loZukeksa ls lEcU/k lwfpr 
djrs gSa vFkkZr~ ftudk iz;ksx ijLij ,d&nwljs dh ckr dk lEcU/k 
crkus ds fy, fd;k tkrk gS] lEcU/kokpd loZuke dgykrs gSaA

 tSls– tSlh djuh oSlh HkjuhA

  eSa ftl Ldwy esa i<+rk gw¡ og fnYyh esa gSA

VI. futokpd loZuke–tks loZuke 'kCn vius fo"k; esa crk;sa vFkkZr~ 
tgk¡ vius fy, vki 'kCn ^viuk* vFkok vius vki dk iz;ksx gks] os 
futokpd loZuke dh Js.kh esa vkrs gSaA

 tSls– viuk dk;Z vius vki djksA

  rqe viuh fdrkc i<+ksA

fo'ks"k.k vkSj fo'ks";

ifjHkk"kk

laKk ;k loZuke dh fo'ks"krkvksa dk o.kZu djus okys 'kCn fo'ks"k.k dgykrs gSaA

fo'ks"k

;g fo'ks"krk laKk ds vkdkj] voLFkk] :i] xq.k] LoHkko] fLFkfr vkfn 
ls lEcfU/kr gks ldrh gSA

mnkgj.k– laKk ls lEcfU/kr–eksVk] cqf¼eku] dkyk] xksjk] ew[kZ vkfnA

  loZuke ls lEcfU/kr–bruk] og] ;g] esjk] rqEgkjkA

  fØ;k ls lEcfU/kr–xkuk xkrh gqbZ] yM+kbZ yM+rk gqvk lSfud]  
  Hkkxrh gqbZ xkM+hA

  vO;; ls lEcfU/kr–og lkjh fLFkfr;k¡ tks fdlh Hkh oLrq  
  fo'ks"k ds vUr% vkSj cká vfLrRo ls lEcU/k j[krh gSaA 

  tSls–euq"; dks >wB ugha cksyuk pkfg,A

^fo'ks";* dh ifjHkk"kk

fo'ks"k.k ftl 'kCn dh fo'ks"krk crykrk gS] mls fo'ks"; dgrs gSaA 

tSls–jke cqf¼eku gSA

blesa cqf¼eku fo'ks"k.k gS rFkk jke fo'ks"; gSA

fo'ks"k

fo'ks"; 'kCn dk iz;ksx fo'ks"k.k ls iwoZ Hkh gks ldrk gS vkSj ckn esa HkhA

tSls–iwoZ esa–FkksM+k&lk ty ykvksA] lqUnj Qy gSA

       ckn esa–;g jkLrk yEck gSA] jkLrk yEck gSA

fo'ks"k.k ds izdkj

fo'ks"k.k ewyr% pkj izdkj ds gksrs gSa ftUgsa xq.k] la[;k vkSj ifjek.k ds 
vkèkkj ij fo'ks"k.k ds Hksnksa dks fuEukafdr izdkj ls oxhZÏr fd;k x;k gS–

fo'ks"k.k
↓

 ↓	 ↓	 ↓	 ↓

 xq.kokpd ifjek.kokpd la[;kokpd lkoZukfed

 fo'ks"k.k fo'ks"k.k fo'ks"k.k fo'ks"k.k

                 
↓
	 	 																						

↓
 ↓	 ↓	 ↓	 ↓

 fu'p; vfu'p; fuf'pr vfuf'pr

 ifjek.kokpd ifjek.kokpd la[;kokpd la[;kokpd

 fo'ks"k.k fo'ks"k.k fo'ks"k.k fo'ks"k.k

   ↓

 ↓	 ↓	 ↓	 ↓	 ↓	 ↓

 x.kuk Øe vko`fÙk lewg leqPp; izR;sd

 okpd okpd okpd okpd cks/kd cks/kd

 (iwoZ la[;k fo'ks"k.k fo'ks"k.k fo'ks"k.k fo'ks"k.k fo'ks"k.k

 cks/kd)

 fo'ks"k.k

 ↓	 ↓	 ↓	 ↓

 ladsrokpd@ vfu'p;okpd iz'uokpd lEcU/kokpd

 fu'p;okpd lkoZukfed lkoZukfed lkoZukfed

 lkoZukfed fo'ks"k.k fo'ks"k.k fo'ks"k.k

 fo'ks"k.k
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fiNys i`"B ij nh xbZ lkj.kh dk foLr`r fooj.k (fo'ks"krk,¡] mnkgj.k) fuEukafdr gS–

	 Ø- la- fo'ks"k.k ds izdkj fo'ks"krk,¡ mnkgj.k

 I.	 xq.kokpd fo'ks"k.k ftl 'kCn ls laKk ;k loZuke ds xq.k] :i] jax tSls–cxhps esa lqUnj Qwy gSa] vkxjk LoPN uxj gS] 
   vkfn dk cks/k gks] mls xq.kokpd fo'ks"k.k dgrs gSaA uhye cqf¼eku gS] xyh xanh gSA
   fo'ks"k–xq.k dk vFkZ dsoy vPNkbZ gh ugha] vfirq mi;qZDr okD;ksa esa lqUnj] LoPN] cqf¼eku] xanh 'kCn 
   dksbZ Hkh fo'ks"krk gksA xq.kokpd fo'ks"k.k gSaA

 II.	 la[;kokpd fo'ks"k.k tks 'kCn laKk] loZuke 'kCn la[;k dk cks/k djk;sa tSls–nksuksa HkkbZ yM+ jgs gSa] ns'k dk gjsd ckyd ohj]
   mUgsa la[;kokpd fo'ks"k.k dgrs gSaaA vkt d{kk esa rhu fo|kFkhZ vuqifLFkr gSaA

  (i)	 fuf'fpr la[;kokpd fo'ks"k.k tks ,d fuf'pr uEcj dks crk;s] mls fuf'pr tSls–,d] nks] lkr vkfnA
   la[;kokpd fo'ks"k.k dgrs gSaA

  fuf'pr la[;kokpd fo'ks"k.k
  ds Hksn

  	 iw.kk±dcks/kd fo'ks"k.k tks laKk ;k loZuke 'kCn ,d iw.kZ la[;k dh rjQ tSls–,d yM+dk Ldwy tkrk gS] pkj vke ys vkvksA
   ladsr djs] mls iw.kk±dcks/kd fo'ks"k.k dgrs gSaA

  	 viw.kk±dcks/kd fo'ks"k.k tks laKk ;k loZuke 'kCn ,d la[;k dks u crkrs tSls–ikSu] lok] Ms<+] <kbZ] esjs ikl lok lkS #i;s 
    gq, la[;k ds ladsrd crk;s mls viw.kZcks/kd  gSa] vHkh ikSus pkj cts gSa vkfnA
   fo'ks"k.k dgrs gSaA

  	 Øepkpd fo'ks"k.k ftlesa laKk ;k loZuke 'kCnksa ds }kjk Øec¼rk tSls–igyk yM+dk ;gk¡ vk;k] uhrk d{kk esa izFke
   dks n'kkZ;k tk;s mls Øeokpd fo'ks"k.k dgrs gSaA vk;h vkfnA

  	 vko`fÙkokpd fo'ks"k.k ftu laKk ;k loZuke 'kCnksa ds }kjk fu/kkZfjr tSls–eksgu rqels nqxquk dekrk gS] jke ';ke ls nl
   vko`fÙk dks crk;k tk;sA xquk xksjk gSA

  	 lewgokpd fo'ks"k.k ftu laKk ;k loZuke 'kCnksa ls fdlh izk.kh ;k tSls–esjs rhuksa HkkbZ vkt vk;saxsA rqe pkjksa fo|ky; 
    oLrq dks lewg esa gksus dk cks/k gks] mls lewg& tkvksA
   okpd fo'ks"k.k dgrs gSaA

  	 izR;sdcks/kd fo'ks"k.k ftl laKk ;k loZuke 'kCn esa gj ,d dk cks/k tSls–jke esjs izfr cgqr n;kyq gSA ,d&,d O;fDr us
   djk;k tk;s ogk¡ izR;sdcks/kd fo'ks"k.k gksrk gSA ikuh fi;kA

  (ii)	vfuf'pr la[;kokpd bu laKk ;k loZuke 'kCnksa ls cgqRo dk cks/k gksrk tSls–iqLrdky; esa vla[; oLrq,¡ gSaA ;q¼ esa cgqr 
   fo'ks"k.k gS] mls vfuf'pr la[;kokpd fo'ks"k.k dgrs gSaA lkjs lSfud ekjs x;sA

    fo'ks"k–dHkh&dHkh nks iw.kk±dcks/kd lkFk esa tSls–nks&pkj fnu yxsaxs] pkyhl&ipkl #i;s ns nksA
   vkdj vfu'p;okpd cu tkrs gSaA

 III.	 ifjek.kokpd fo'ks"k.k ftl fo'ks"k.k ls fdlh uki&rkSy dk cks/k gksrk tSls–og nks yhVj rsy yk;kA chekj dks FkksM+k ikuh 
    gS] mls ifjek.kokpd fo'ks"k.k dgrs gSaA nsuk pkfg,A

     mi;qZDr okD;ksa esa nks yhVj] FkksM+k ikuh ifjek.kokpd 
    gSA

  ifjek.kokpd fo'ks"k.k ds izdkj

  	 fuf'pr ifjek.kokpd ftlesa ,d fuf'pr la[;k ;k uki dks fo'ks"k.k tSls–nks fdyks cslu] ,d yhVj rsy vkfnA
      fo'ks"k.k ds :i esa iz;ksx fd;k tk;sA

  	 vfuf'pr ifjek.kokpd tgk¡ fo'ks"k.k esa 'kCnksa dk iz;ksx vfuf'prrk ds tSls–FkksM+k ikuh nks] de [kkuk [kkuk pkfg,] vf/kd

   fo'ks"k.k vk/kkj ij fd;k tk;sA ifjJe djuk pkfg,A

    fo'ks"k–ifjek.kcks/kd fo'ks"k.k vf/kdka'kr% Hkko
    okpd] nzO;okpd]  lewgokpd laKk  ds  lkFk
    iz;ksx fd;s tkrs gSaA
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	 Ø- la- fo'ks"k.k ds izdkj fo'ks"krk,¡ mnkgj.k

 IV.	 lkoZukfed fo'ks"k.k tc dksbZ loZuke 'kCn laKk 'kCn ls igys vk;s tSls–og vkneh Øks/kh izo`fÙk dk gSA fdl Nk= us x`g 
    rFkk fo'ks"k.k 'kCn  dh  rjg laKk dh fo'ks"krk dk;Z ugha fd;kA
    crk;s] mls lkoZukfed fo'ks"k.k dgrs gSaA mi;qZDr  okD;ksa esa ^og* vkSj ^fdl* 'kCn lkoZukfed
    fo'ks"k.k gSaA

  lkoZukfed fo'ks"k.k ds izdkj

  	 fu'p;okpd lkoZukfed ftu laKk ;k loZuke 'kCnksa esa fu'p; dh fLFkfr tSls–;s iqLrd] og iqLrdsa vkfnA
   fo'ks"k.k gks] mls fu'p;okpd lkoZukfed fo'ks"k.k dgrs gSaA

  	 vfuf'p;okpd lkoZukfed ftu laKk ;k loZuke 'kCnksa esa iz;qDr fo'ks"k.k esa tSls–dksbZ yM+dk] dkSu&lk dk;Z] dksbZ O;fDr vkfnA
   fo'ks"k.k vfu'p; dh  fLFkfr  gks]  mls  vfu'p;okpd
    lkoZukfed fo'ks"k.k dgk tkrk gSA

  	 iz'uokpd lkoZukfed tgk¡ laKk ,oa loZuke  'kCn esa fo'ks"k.k  'kCn ds tSls–dkSu vkneh] fdrus #i;s] D;k dke vkfnA
   fo'ks"k.k :i esa iz'u iwNk tk;s ogk¡ iz'uokpd lkoZukfed
    fo'ks"k.k dgk tkrk gSA

  	 lEcU/kokpd lkoZukfed ftu laKk ;k loZuke 'kCnksa esa fo'ks"k.k ds :i esa tSls–tks iqLrd] og dye vkfnA
   fo'ks"k.k lEcU/kksa dks O;Dr fd;k tk;s] ogk¡ lEcU/kokpd
    lkoZukfed fo'ks"k.k gksrk gSA

izfo'ks"k.kµ,sls 'kCn tks fo'ks"k.k dh fo'ks"krk crykrs gSa] izfo'ks"k.k dgykrs 
gSa_ tSlsµog cgqr ifjJeh gSA 'khyk vfr fouez yM+dh gSA bu nksuksa okD;ksa 
esa ifjJeh o fouez fo'ks"k.k gSa rFkk ^cgqr* o ^vfr* izfo'ks"k.k gSaA

fØ;k

ifjHkk"kk–ftu 'kCnksa ls fdlh dk;Z ds gksus] djus vFkok fdlh fLFkfr dk 
cks/k gks] fØ;k dgrs gSaA tSls–lksuk] [kkuk] i<+uk vkfnA

fØ;k ds Hksn
↓

 ↓	 ↓

 deZ ds vk/kkj ij iz;ksx dh n`f"V ls
 ↓	 ↓

 eq[; fØ;k lgk;d fØ;k
 ↓	 ↓
	 ↓	 ↓	 ↓	 ↓	 ↓	 ↓	 ↓	 ↓	 ↓	 ↓

	 ewy fØ;k O;qRiUu ukfed leLr la;qDr feJ dky i{k o`fÙk okP;

       	 	 	

 ↓ ↓ ↓ ↓ ↓	 ↓	 ↓	 ↓	 ↓	 ↓

 vdeZd ldeZd izsj.kkFkZd O;qRiUu orZeku Hkwr Hkfo"; vkKkFkZd laHkkoukFkZd lkeF;Zlwpd

    vdeZd  ↓	 ↓	 ↓	 ↓ 

 ↓ ↓ ↓ ↓  fuR; lkrR; iw.kZ fLFkR;kRed ↓	 ↓	 ↓

 iw.kZ viw.kZ izFke f}rh;     ck/;rk fu'p;kFkZ ladsrkFkZd

 ldeZd ldeZd izsj.kkFkZd izsj.kkFkZd     lwpd

         ↓	 ↓	 ↓

 ↓ ↓       drZ`okP; deZokP; HkkookP;

 ,ddeZd f}deZd        

  ↓  ↓     	

  iw.kZ vdeZd  viw.kZ vdeZd      
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la{ksi esa mijksDr fØ;kvksa dks fuEu izdkj ls ifjHkkf"kr fd;k x;k gS–

deZ ds vk/kkj ij

I. ldeZd fØ;k–ftl fØ;k dk Qy drkZ dks NksM+dj deZ ij 
iM+s] og ldeZd fØ;k dgykrh gSA

 tSls– cPpk fp= cuk jgk gS ;k xhrk flrkj ctk jgh gSA

 vc ;fn iz'u fd;k tk, fd cPpk D;k cuk jgk gS rks mÙkj 
gksxkµ^fp=* (deZ) rFkk xhrk D;k ctk jgh gS rks mÙkj 
gksxkµ^flrkj* (deZ)A

(i) iw.kZ ldeZd fØ;k–ftl fØ;k ds }kjk iw.kZ vFkZ dk cksèk 
djk;k tkrk gSA

 tSls–xhrk xkuk xkrh gSA

 iw.kZ ldeZd fØ;k ds nks Hksn gSa–
(A) ,ddeZd fØ;k–ftu okD;ksa esa ,d gh deZ iz;qDr 

gksrk gSA
 tSls– ^^jksfgr xkuk xkrk gSA** 
(B) f}deZd fØ;k–ftu okD;ksa esa ,d gh le; esa nks 

deZ gksrs gSaA
 tSls– ^^';ke us jke dks iqLrd i<+kbZA**
  eSa yM+ds dks rek'kk fn[kkrk gw¡A

(ii) viw.kZ ldeZd fØ;k–ftl fØ;k ds iw.kZ vFkZ dk cks/k 
djkus ds fy, drkZ ds vfrfjDr vU; laKk ;k fo'ks"k.k dh 
vko';drk gksA

 tSls– ^^vkius mls egku cuk;kA**

II. vdeZd fØ;k–ftu fØ;kvksa dk vlj drkZ ij gh iM+rk gS] os 
vdeZd fØ;k dgykrh gSA budks deZ dh vko';drk ugha gksrhA

 tSls– ^^jkds'k jksrk gSA**

  ^^cl pyrh gSA**

 vdeZd fØ;k ds nks Hksn gSa–

(i) iw.kZ vdeZd fØ;k–ftl iw.kZ vdeZd fØ;k dk iwjk vk'k; 
Li"V djus ds fy, laKk ;k fo'ks"k.k dk iwfrZ ds :i esa iz;ksx 
ugha gksrkA

 tSls– ^^xaxk/kj dks ea=h cuk;kA**

(ii) viw.kZ vdeZd fØ;k–ftl vdeZd fØ;k dk iw.kZ vk'k; 
Li"V djus ds fy, laKk ;k fo'ks"k.k dk iwfrZ ds :i esa iz;ksx 
gksrk gSA

 tSls– ^^jktk us xaxk/kj dks ea=h cuk;kA**

iz;ksx dh n`f"V ls–iz;ksx dh n`f"V ls fØ;k ds fuEufyf[kr Hksn gSa–

I. iwoZdkfyd fØ;k–;s fØ;k;sa iwoZ dky esa lEiUu gks pqdh gSaA

 tSls– ^^og [kkuk [kkdj cktkj x;kA**

  ^^ge [ksydwn dj ?kj x;sA**

II. lkekU; fØ;k–;gk¡ fØ;k dk lk/kkj.k iz;ksx gksrk gSA

 tSls– ^^eSa vk;kA**

  ^^og x;kA**

III. la;qDr fØ;k–nks ;k nks ls vf/kd fØ;kvksa ds ;ksx ls tks iw.kZ 
fØ;k curh gS] mls la;qDr fØ;k dgrs gSaA

 tSlsµ^^jke [kkuk [kk pqdkA**

 bl okD; esa ^[kkuk* vkSj ^pqduk* nks fØ;kvksa ds ;ksx ls iw.kZ 
fØ;k cuh gSA vr% ;g la;qDr fØ;k gSA 

IV. izsj.kkFkZd fØ;k–bl izdkj ds okD;ksa esa drkZ viuk dk;Z Lo;a 
u djds nwljksa dks djus dh izsj.kk nsrk gSA

 tSls– ^^lhrk jlksb;s ls [kkuk cuokrh gSA**

 fo'ks"k–blds vUrxZr nks rjg ds izsjd gksrs gSaA izFke izsjd 
,oa f}rh; izsjdA

 tSls– /kkrq izFke izsjd f}rh; izsjd

  i<+uk i<+kuk i<+okuk

V. uke/kkrq fØ;k vFkok ukfer fØ;k–tks fØ;k,¡ laKk ;k fo'ks"k.k 
ls curh gSa mUgsa ^uke /kkrq fØ;k* dgrs gSaA

 laKk lsµgkFk ls gfFk;kuk] nq%[k ls nq[kkuk

 fo'ks"k.k lsµxje ls xjekuk] fpduk ls fpdukukA

VI. viw.kZ fØ;k–,slh fØ;k;sa tks vius vki esa viw.kZ gksrh gSaA

 tSls– ^^enu eksgu ekyoh; FksA**

 bl okD; esa fØ;k viw.kZ gSA vHkh"V vFkZ dks Li"V ugha dj ik 
jgh gSA ;g viw.kZ fØ;k gSA

fØ;k&fo'ks"k.k

ifjHkk"kk–ftu 'kCnksa ls fØ;k] fo'ks"k.k ;k vU; fØ;k fo'ks"k.k dh fo'ks"krk 
izdV djrs gks] fØ;k&fo'ks"k.k dgykrs gSaA

fØ;k&fo'ks"k.k ds Hkkx

vFkZ ds vkSj ifjHkk"kk ds vk/kkj ij bUgsa pkj Hkkxksa esa ck¡Vk x;k gS–

I. dkyokpd fØ;k&fo'ks"k.k–

 ifjHkk"kk–ftu fØ;k fo'ks"k.k 'kCnksa ls fØ;k esa yxus okys le; ;k 
dky dk irk yxrk gks] dkyokpd fØ;k fo'ks"k.k dgykrs gSaA

 tSls– rqe dy tkvksxsA

  eSa fQj vkÅ¡xkA

  og vHkh vk,xhA

 mijksDr okD;ksa esa ^dy*] ^fQj*] ^vHkh* 'kCn dky dks bafxr dj jgs 
gSaA vr% dkyokpd fØ;k&fo'ks"k.k esa tc] rc] ges'kk] dHkh] vHkh] 
ckn] igys] dbZ ckj] fQj dHkh] cgq/kk] fujUrj vkfn 'kCnksa dk iz;ksx 
gksrk gSA

II. LFkkuokpd fØ;k&fo'ks"k.k–

 ifjHkk"kk–ftu fØ;k fo'ks"k.k 'kCnksa ds }kjk fØ;k ds gksus dk LFkku 
Kkr gks] og LFkkuokpd fØ;k&fo'ks"k.k ds vUrxZr vkrs gSaA

 tSls– rqEgsa ;gk¡ ugha vkuk pkfg,A

  dfudk ;gk¡ py jgh gSA

  vUnj tkdj cSB tkvksA

  dy dgk¡ tkvksxs \

 mi;qZDr okD;ksa esa ^;gk¡*] ^vUnj*] ^dgk¡* vkfn 'kCn le; dks crk jgs 
gSaA vr% LFkkuokpd fØ;k&fo'ks"k.k gSA buesa vf/kdrj ;gk¡] ogk¡] tgk¡] 
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dgk¡] b/kj] m/kj] Åij] uhps vkfn LFkku ladsrd 'kCnksa dk iz;ksx 
gksrk gSA

III. ifjek.kokpd fØ;k&fo'ks"k.k–

 ifjHkk"kk–fØ;k ds ifjek.k dk Kku djkus okys 'kCn ifjek.kokpd 
fØ;k fo'ks"k.k dh Js.kh esa vkrs gSaA

 tSls– vkius dqN [kk fy;kA

  FkksM+k ikuh ns nksA

  f'k[kk T;knk cksyrh gSA

  /khjs&/khjs pyksA

 mi;qZDr okD;ksa esa iz;qDr 'kCn (dqN] FkksM+k] T;knk] /khjs) vkfn 'kCn 
fØ;k ds ifjek.k dks Li"V dj jgs gSaA buesa vf/kdka'kr% iz;qDr gksus 
okys 'kCn gSa–FkksM+k] T;knk] de] /khjs] dqN] U;wu] dsoy] izk;% vkfnA 
tks fØ;k fo'ks"k.k dks ifjek.kokpd fØ;k fo'ks"k.k cukrs gSaA

IV. jhfrokpd fØ;k&fo'ks"k.k–

 ifjHkk"kk–fØ;k ds ftu 'kCnksa ds }kjk fØ;k ds gksus ;k djus dk rjhdk 
(<ax) irk pys] os jhfrokpd fØ;k fo'ks"k.k dh Js.kh esa vkrs gSaA

 tSls– ?kksM+k rst nkSM+rk gSA

  rqe dy rd vo'; vk tkvksxsA

  gkFkh tksj ls fpa?kkM+rk gSA

 mi;qZDr okD;ksa esa iz;qDr 'kCn (rst] vo';] tksj) fØ;k ds lEiUu 
djus ds rjhds dks crk jgs gSaA jhfrokpd fØ;k fo'ks"k.k esa Bhd] lp] 
t:j] vr,o] /khjs] tksj ls] cs'kd] 'kk;n] okLro] dnkfpr~] lEHko 
vkfn 'kCnksa dk iz;ksx vf/kdka'kr% fØ;k djus ds rjhds dks crkrs gSaA

vO;;

vFkZ–vO;; 'kCn v $ O;; ls feydj cuk gS] ftldk vFkZ gS–u [kpZ 
gksuk vFkkZr~ vO;; os 'kCn gSa] ftuesa fyax] opu] dkjd vkfn ds dkj.k 
dksbZ ifjorZu ugha gksrk] os T;ksa ds R;ksa jgrs gSaA

vO;; ds Hksn

vO;; ds Hksn fuEu izdkj gSa–

I. lEcU/kcks/kd vO;;–

 ifjHkk"kk–ftu laKk ;k loZuke dk lEcU/k okD; ds vU; 'kCnksa ls 
tkuk tkrk gSa vFkkZr~ ;s laKk vkSj loZuke dk okD; ds nwljs 'kCnksa 
ds lkFk lEcU/k crkrs gSa] mUgsa lEcU/kcks/kd vO;; dgrs gSaA vFkZ ds 
vuqlkj buds fuEukafdr Hksn gSa–

 lEcU/kcks/kd vO;;  ds Hksn–

(i) dkyokpd–ds vkxs] ds ihNs] ds i'pkr~] ds iwoZ] yxHkx vkfnA

(ii) LFkkuokpd–Åij] uhps] ;gk¡] ogk¡] chp] rys vkfnA

(iii) dkj.klwpd–ds ekjs] ds dkj.k] ds fy, vkfnA

(iv) O;fDrokpd–ds fcuk] ds vykok] cxSj mlds] ds vfrfjDr 
vkfnA

(v) fn'kkokpd–Åij dh vksj] pkjksa vksj] rjQ] vkl&ikl] 
lehi] lekus vkfnA

(vi) laxzgokpd–lesr] rd] i;ZUr] Hkj vkfnA

(vii) fo"k;lwpd–ds fo"k; esa] ys[ks] ckor vkfnA

(viii) lekurklwpd–ds ln`'k] ds leku] ds rqY;] ds Hkk¡fr vkfnA

(ix) fojks/kokpd–ds izfrdwy] ds foijhr] ds mYVk] ds fo#¼ vkfnA

(x) mís';lwpd–ds gsrq] ds fy,] ds [kkfrj] ds fufeÙk vkfnA

(xi) rqyukokpd–dh vis{kk] ds ofuLcr] dh rqyuk] ds vkxs vkfnA

(xii) fofue;okpd–ds cnys] ds txg] ds ,ot vkfnA

(xiii) lEcU/klwpd–lax] lkFk] lesr] o'k] v/khu vkfnA

(xiv) lk/kuokpd–}kjk] lgkjs] ekjs] ds fy,] fufeÙk vkfnA

II. leqPp;cks/kd vO;;–

 ifjHkk"kk–ftu 'kCnksa dk iz;ksx okD;ksa dks tksM+us ds fy, fd;k tk;s] 
mUgsa leqPp;cks/kd vO;; dh Js.kh esa j[kk tkrk gSA blds rhu Hksn 
gSa–

(i) la;kstd–

 ifjHkk"kk–tks vO;; 'kCn nks ;k nks ls vf/kd 'kCnksa ;k okD;ksa 
dks vkSj] rFkk] ,oa] o vkfn 'kCnksa ds }kjk tksM+rs gSa] os la;kstd 
ds vUrxZr vkrs gSaA

 tSls– eSa vkSj esjk fe= dy vk, FksA

  jke ,oa mlds HkkbZ dy x;s FksA

  lhrk rFkk xhrk Ldwy x;haA

 mijksDr okD;ksa esa (vkSj] ,oa] rFkk) vkfn 'kCnksa esas ;kstd dh rjg 
iz;qDr fd;s x;s gSaA

  fo'ks"k–

  la;kstd lekurk ds vk/kkj ij ,d&nwljs dks tksM+rs gSaA

(ii) foHkktd–

 ifjHkk"kk–tks 'kCn nks ;k nks ls vf/kd O;fDr] oLrq] okD;ksa vkfn 
esa fdlh ,d ds xzg.k ;k R;kx dk cks/k djkrs gq, nks miokD;ksa 
dks tksM+rs gSa] mUgsa foHkktd dgk tkrk gSA

 tSls– ;k eSa ?kM+h yw¡xh ;k dEI;wVjA

  u og eq>ls cksyh u eSa mllsA

  pkgs pkdysV ys yks pkgs vkblØheA

  djks ;k ejksA

 mijksDr okD;ksa esa iz;qDr (;k] u] pkgs] ;k) 'kCn Hksn izdV djrs 
gq, tksM+us ds vFkZ esa foHkktd dh rjg iz;ksx fd;s x;s gSaA

  fo'ks"k–

  fdUrq] ijUrq] vxj] exj] D;ksafd] blfy, vkfn 'kCnksa dk  
 iz;ksx foHkktd dh rjg fd;k tkrk gSA

(iii) fodYilwpd–

 ifjHkk"kk–ftu vO;; 'kCnksa dks fodYi dh rjg iz;ksx fd;k 
tkrk gS] mUgsa fodYilwpd vO;; dgrs gSaA ;k] vFkok] vU;Fkk] 
u fd bR;kfn 'kCnksa dk iz;ksx fodYi dh rjg fd;k tkrk gSA
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 tSls– rqe tkvks ;k eSa tkÅ¡A

  vki vk jgs gks vU;Fkk esa vkÅ¡xkA

 mijksDr okD;ksa esa ^;k*] ^vU;Fkk* dk iz;ksx fodYilwpd 'kCnksa 
dh rjg fd;k x;k gSA

III. foLe;kfncks/kd vO;;–

 ifjHkk"kk–tks vO;; 'kCn vf/kdka'kr% okD; ds izkjEHk esa vk;sa ,oa 
vk'p;Z] 'kksd] ?k`.kk] g"kZ vkfn Hkkoksa dk cks/k djk;sa] mUgsa foLe;kfn& 
cks/kd vO;; dgk tkrk gSA

  fo'ks"k–

  bUgsa |ksrd Hkh dgk tkrk gSA

  tSls– gs jke ! Hk;kud nq?kZVukA

   okg ! etk vk x;kA

 foLe;kfncks/kd vO;; ds Hksn–buds }kjk gksus okys Hkkoksa ds vk/kkj 
ij buds fuEufyf[kr Hksn gSa–

 (i) foLe;kfncks/kd–vjs !] okg !] D;k !] ,sa !] vksgks !

 (ii) 'kksdcks/kd–vksg !] gk; !] gk;&gk; !] jke&jke !

 (iii) Hk;cks/kd–vksg !] cki js !

 (iv) g"kZcks/kd–/kU; !] okg !] okg&okg !] 'kkck'k !] vkgk !

 (v) ?k`.kkcks/kd–Fkw&Fkw !] fN%&fN% !] js] f/kd~ !

 (vi) Øks/kcks/kd–py !] tk&tk !] pqi !

 (vii) LohÏfrcks/kd–gk¡] th gk¡] vo';] gk¡&gk¡A

 (viii) lEcks/kcks/kd–vks] gs] ,] ,thA

 (ix) vfHkoknucks/kd–t; jke th] ueLdkj] iz.kkeA

 (x) vk'khokZncks/kd–nh?kkZ;q gks] [kq'k jgks] thrs jgksA

fØ;k&fo'ks"k.k vkSj lEcU/kcks/kd vO;; esa vUrj

tc budks fØ;k dh fo'ks"krk izdV djus ds fy, iz;ksx fd;k tkrk gS rc 
;s fØ;k&fo'ks"k.k dh Js.kh esa vkrs gSa] ogha vU; vksj tc ;s laKk ;k loZuke 
ds lkFk vkrs gSa rc ;s lEcU/kcks/kd vO;; ds vUrxZr vkrs gSaA

tSls– fQj dHkh   (fØ;k&fo'ks"k.k)

 fQj dHkh ?kj pysaxsA (lEcU/kcks/kd)

bl izdkj mi;qZDr ls Li"V gksrk gS fd fdl izdkj fØ;k fo'ks"k.k vkSj 
lEcU/kcks/kd dk iz;ksx fd;k tkrk gSA

ijh{kksi;ksxh egRoiw.kZ iz'u
 1. fn, x, okD; esas ls fØ;k Kkr dhft,A

  vthc my>u dks rqe lqy>kvksA

  (A)	 vdeZd fØ;k	 (B)	ldeZd fØ;k

  (C)	 izsj.kkFkZd fØ;k (D)	f}deZd fØ;k

 2. fn, x, okD; esa fdl izdkj dk iq#"k gS] Kkr 
dhft,A

  ge rks vkids lsod gSa] vkKk rks dhft,A

  (A)	 izFke (B)	mÙke

  (C)	 vU; (D)	e/;e

 3. fn, x, okD; esa fdl izdkj dk iq#"k gS Kkr 
dhft,µ

  vkids vkus ls eq>s cgqr [kq'kh gqbZA

  (A)	 vU; iq#"k (B)	izFke iq#"k

  (C)	 e/;e iq#"k (D)	mÙke iq#"k

	 4.	 fn, x, okD; esa ifjek.kokpd fo'ks"k.k Kkr 
dhft,A

  jke us jktw ls nks yhVj nw/k ykus dks dgkA

  (A)	 nks yhVj (B)	ykus

  (C)	 jke (D)	nw/k

 5. fn, x, okD; eas ls xq.kokpd fo'ks"k.k Kkr 
dhft,µ

  dkyhnkl fo}ku O;fDr FksA
  (A)	 Fks (B)	dkfynkl

  (C)	 O;fDr (D)	fo}ku

 6. fn, x, okD; dh fØ;k Kkr dhft,µ

  pqVdqyk lqudj ckyd eqLdqjk;k  

(A)	 vdeZd fØ;k (B)	izsj.kkFkZd fØ;k

  (C)	 ldeZd fØ;k (D)	la;qDr fØ;k

 7. fn, x, okD; esa js[kkafdr 'kCn dk iq#"k Kkr 
dhft,A

  ckfj'k esa gekjh iqLrdsa Hkhx xb±A
  (A)	 mÙke iq#"kokpd
  (B)	 e/;e iq#"kokpd
  (C)	 izFke iq#"kokpd
  (D)	 vU; iq#"kokpd

 8. fn, x, okD; esa js[kkafdr 'kCn dh laKk Kkr 
dhft,A

  rktegy dh lqUnjrk dk o.kZu djuk cgqr gh 
dfBu gSA

  (A)	 æO;okpd laKk (B)	O;fäokpd laKk

  (C)	 Hkkookpd laKk (D)	leqnk;okpd laKk

 9.	 ^dy dksbZ vk;k Fkk* bl okD; esa loZuke gS&

  (A) dy (B)	 dksbZ

  (C)	 vk;k (D) Fkk

 10.	 mlus Å¡pk egy ns[kkA

	 	 (A)	 fo'ks"k.k] xq.kokpd] iqfYyax] ,dopu

	 	 (B)	 fo'ks"k.k] ifjek.kokpd] iqfYyax ,dopu
	 	 (C)	 fo'ks"k.k] la[;kokpd] iqfYyax ,dopu
	 	 (D)	 fo'ks"k.k] lkoZukfed] L=hfyax] ,dopu
 11.	 dkSu vk;k gS \
	 	 (A)	 loZuke] iz'ukokpd] iqfYyax] ,dopu
	 	 (B)	 loZuke] iq#"kokpd] iqfYyax] ,dopu
	 	 (C)	 loZuke] fu'p;okpd] L=hfyax ,dopu
	 	 (D)	 loZuke] lEcU/kokpd] iqfYyax ,dopu

 12. xqyke 'kCn dk Hkkookpd :i _____	gSA

 	 (A)	 xqykes (B)	 xqykeh

  (C)	 xqykeiu (D)	xqykfea

 13. ^frjNk* fdl çdkj dk fo'ks"k.k gS\

  (A) lkoZukfed	 (B)	 ifjek.k cks/kd

	 	 (C)	 xq.kokpd	 (D)	la[;kokpd

 14. ^u;k* fdl çdkj dk fo'ks"k.k gS\

  (A) lkoZukfed  (B)	 la[;kokpd 

	 	 (C)	 xq.kokpd  	 (D)	ifjek.k cks/kd 

 15. lgh 'kCn ls [kkyh txg Hkfj,A

  jke ------------ yM+dk gSA

  (A)	 vPNs (B)	 vPNk

  (C)	 vPNh (D)	vPpk

 16. buesa ls dkSu&lk 'kCn Hkkookpd laKk ugha gS \

  (A)	 eukgh	 (B)	 fo}rk

	 	 (C)	 lksuk (D)	[kq'kh

 17. fuEu esa iz'uokpd loZuke dkSu&lk gS \

  (A) tks (B) lks

  (C) dksbZ (D) dkSu

 18. fdl okD; esa lEcU/k cks/kd vO;; dk iz;ksx 
gqvk gS \

	 	 (A)	 ,slk dke er djksA 

	 	 (B)	 eSa ihNs vk;k FkkA

	 	 (C) eSa ;g dke ugha d:¡xkA

	 	 (D)	 eSa dke ds ihNs vk;k FkkA
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 19. :i ds vuqlkj fØ;k&fo'ks"k.k fdrus izdkj ds 

gksrs gSa \

	 	 (A)	 ,d 	 (B)	 nks

	 	 (C) rhu	 (D)	pkj

 20. vFkZ ds vuqlkj fØ;k&fo'ks"k.k fdrus izdkj ds 

gksrs gSa \

	 	 (A)	 ,d 	 (B)	 nks

	 	 (C) rhu	 (D)	pkj

 21. fgUnh esa dqy fdrus loZuke gSa \
	 	 (A)	9		 (B)	10

	 	 (C)	11		 (D)	12

 22. ^og ,d lIrkg Ckkn vk;k* & bl okD; esa 

dkSu&lk 'kCn fØ;k&fo'ks"k.k gS \

	 	 (A) og 	 (B) ,d

	 	 (C) ckn 	 (D) vk;k

 23. ^gk;! vc eSa D;k d:¡A* & bl okD; esa 

foLe;cks/kd 'kCn crkb,A

	 	 (A) gk;	 (B) vc

	 	 (C) eSa	 (D) D;k

 24.	 fuEufyf[kr esa ls dkSu&lk 'kCn lewg okpd 

laKk ugha gS \

	 	 (A)	 lHkk (B)	 d{kk

	 	 (C)	 HkhM+ (D)	nkSM+

 25.	 ^og vki gh pyk x;kA^& okD; esa js[kkafdr 

'kCn loZuke ds fdl Hksn dk mnkgj.k gSA

	 	 (A)	 iq#"kokpd (B)	 futokpd

	 	 (C)	 fu'p;okpd (D)	lEcU/kokpd

 26.	 vQlksl! eSa ugha tk ldkA

  js[kkafdr 'kCn dk vO;; dk izdkj crkb,µ

	 	 (A)	lEcks/kulwpd vO;;

	 	 (B)	'kksdlwpd vO;;

	 	 (C)	vk'p;Zlwpd vO;;

	 	 (D)	g"kZlwpd vO;;

 27. i'kq pj jgs gSaA js[kkafdr in gS %

  (A) O;fDrokpd laKk (B) tkfrokpd laKk

  (C) Hkkookpd laKk (D) æO;okpd laKk

 28. vpwd fo'ks"k.k ds lkFk mi;qDr laKk gSµ

	 	 (A) pksV	 (B) us=

	 	 (C) fu'kkuk	 (D) tokc

	 29.	 fuEu esa loZuke 'kCn gSµ

	 	 (A) nku (B) Hktu

	 	 (C) dqN (D) i<+uk

 30.	 okg ! okg ! fdruk lqanj n`'; gSA js[kkafdr 
'kCn esa dkSu&lk vO;; gS \

	 	 (A) g"kZcksèkd vO;; 

	 	 (B) 'kksd cksèkd vO;;

	 	 (C) lEcksfèkr vO;; 

	 	 (D) frjLdkj cksèkd vO;;

 31.	 fuEufyf[kr tksM+ksa esa ls mÙke iq#"k okys tksM+ksa 
dks igpkfu,A

	 	 (A) eSa&ge (B) rw&rqe

	 	 (C) og&os (D) blls&bUgksaus

 32.	 ekèkoh vR;ar lqanj xkrh gSA js[kkafdr 'kCn 
gSµ

	 	 (A) laKk (B) lacaèkcksèkd

	 	 (C) leqPpcksèkd (D) fØ;k&fo'ks"k.k

 33.	 ^Lora=rk lcdks I;kjh gksrh gSA* okD; osG 
js[kkafdr 'kCn dk laKk Hksn gSµ

	 	 (A) tkfrokpd laKk 

	 	 (B) Hkkookpd laKk

	 	 (C) xq.kokpd laKk 

	 	 (D) mi;qZDr esa ls dksbZ ugha

 34.	 ^'khyk vius diM+s Lo;a èkksrh gSA* js[kkafdr 
'kCn loZuke 'kCn dk mfpr Hksn gSµ

	 	 (A) iq#"kokpd loZuke 

	 	 (B) futokpd loZuke

	 	 (C) fu'p;okpd loZuke 

	 	 (D) mi;qZDr esa ls dksbZ ugha
	 35.	 fuEufyf[kr esa ls fdl fodYi esa lHkh 'kCn 

Hkkookpd laKk 'kCn gSa \
	 	 (A) vehj] xjhc] lewg] feBkl 
	 	 (B) tokuh] [kV~Vkl] iqLrd] xaxk
	 	 (C) jlhyk] dM+okgV] cq<+kik] mUufr
	 	 (D) èkS;Z] pkykdh] mnklh] lw;Z 

	 36.	 ^og cgqr eèkqj xkrk gSA* buesa çfo'ks"k.k 'kCn 
dk p;u dhft,µ

	 	 (A) og (B) cgqr

	 	 (C) eèkqj (D) xkrk 

 37. eSaus jes'k ls i= fy[kok;kA bl okD; esa 
^fy[kok;k* dkSu ls çdkj dh fØ;k gS \

	 	 (A) vuqdj.kkRed fØ;k 

	 	 (B) uXeèkkrq fØ;k

	 	 (C) çsj.kkFkZd fØ;k 

	 	 (D) la;qä fØ;k 

 38.	 fuEufyf[kr fodYiksa esa ls fdl fodYi esa lHkh 
'kCn O;fDrokpd laKk,¡ gSa \

	 	 (A) jke] jkepfjrekul] xaxk

	 	 (B) Ï".k] dkek;uh] feBkl

	 	 (C) y[kuÅ] vke] cq<+kik

	 	 (D) eerk] odhy] iqLrd	

	 39.	 ^eq>s* fdl çdkj dk loZuke gS \

	 	 (A) mÙke iqjG"k	 (B) eè;e iqjG"k

	 	 (C) vU; iqjG"k	 (D) buesa ls dksbZ ugha

 40.		fuEufyf[kr esa ls dkSu&lk 'kCn tkfrokpd 
laKk ugha gS\

	 	 (A)	toku (B)	ckyd

	 	 (C)	lqUnj (D)	euq";	

 41.	 ^mldk fnO;kax ifr pyus esa vleFkZ gS* esa 
^fnO;kax* D;k gS \

	 	 (A)	 laKk	 (B)	 fo'ks"k.k

	 	 (C)	 fØ;kfo'ks"k.k	 (D)	loZuke

 42- nks 'kCnksa ;k okD;ksa dks tksM+us okys 'kCn dkSu-

ls 'kCn gksrs gSa \

	 	 (A) leqPp;okpd (B) loZuke

	 	 (C) laca/k lwpd (D) buesa ls dksbZ ugha

 43. ftleas fdlh Hkh izdkj dk O;; vFkkZr~ ifjorZu 
;k fodkj u gks] og gSµ

  (A) loZuke (B) izR;;

  (C) fo'ks"k.k (D) vO;;

 44. ^pkykdh* 'kCn ------------------- gSA

  (A) fo'ks"k.k (B) fØ;k

  (C) loZuke (D) laKk

mÙkjekyk
 1. (B) 2. (B) 3. (C) 4. (A) 5. (D)
 6. (C) 7. (A) 8. (C) 9. (B) 10. (A)
 11. (A) 12. (B) 13. (C) 14. (C) 15. (B)
 16. (C) 17. (D) 18. (D) 19. (C) 20. (D)
 21. (C) 22. (C) 23. (A) 24. (D) 25. (B)
 26. (B) 27. (B) 28. (C) 29. (C) 30. (A)
 31. (A) 32. (D) 33. (B) 34. (B) 35. (C)
 36. (B) 37. (C)  38. (A) 39. (A) 40. (C) 
 41. (B) 42. (A) 43. (D) 44. (D)

qq
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A Comprehension Exercise is mainly consisted of a passage, 
upon which questions are set. The main purpose of this 
exercise is to test the ability of a student.

Therefore student is need to read the passage carefully and 
choose the correct answer out of the given alter-natives.

Important Questions
Direction [Q. No. 1–172]

Read the passages carefully and answer the 
following questions by choosing appropriate 
answer from the alternatives given below.

Passage-1

 1.	 A	 man	 found	 a	 cocoon	 of	 a	 butterfly.	
One day a small opening appeared. 
He	 sat	 and	 watched	 the	 butterfly	 for	
several hours as it struggled to force 
its body through that little hole. Then 
it seemed to stop making any progress. 
It appeared as if it had gotten as far as 
it could, and it could go no further. So 
the	 man	 decided	 to	 help	 the	 butterfly.	
He took a pair of scissors and snipped 
off	the	remaining	bit	of	the	cocoon.	The	
butterfly	then	emerged	easily.	But	it	had	
a swollen body and small, shriveled 
wings. The man continued to watch the 
butterfly	because	he	expected	that,	at	any	
moment, the wings would enlarge and 
expand to be able to support the body, 
which would contract in time.

 2.	 Neither	happened!	 In	 fact,	 the	butterfly	
spent the rest of its life crawling around 
with a swollen body and shriveled 
wings.	 It	 never	 was	 able	 to	 fly.	 What	
the man, in his kindness and haste, did 
not understand was that the restricting 
cocoon and the struggle required for the 
butterfly	to	get	through	the	tiny	opening	
were	 God’s	 way	 of	 forcing	 fluid	 from	
the	body	of	the	butterfly	into	its	wings	so	
that	 it	would	be	ready	for	flight	once	 it	
achieved its freedom from the cocoon.

Word Meaning

cocoon—Ïfedks"k] dPps js'ke dk dksok] hole—
jU/kz] dUnjk] snipped	 off—dkVdj fudky 
nsuk] emerged—mHkj dj vkuk] swollen—
iwGyk gqvk] shriveled—floqGM+k gqvk] crawling 
around—pkjksa vksj jsaxuk] hast—tYnh] 'kh?kzrk 
restricting—ifjfer djuk] lhekc¼ djuk] 
fluid—æo inkFkZA

 1. The writer’s message in his/her essay is 
about :

  (A) needless struggles in life
	 	 (B)	not	to	have	any	problems

  (C) need for struggles in life
  (D) escape pain at any cost
 2. The essay is ........ in form.
	 	 (A)	argumentative	 (B)	factual
  (C) descriptive (D) discursive
 3. A man noticed that the ............
	 	 (A)	butterfly	was	emerging
	 	 (B)	 butterfly	was	hidden
  (C) cocoon was growing
  (D) cocoon was moving
 4.	 The	man’s	first	instinct	was	:
  (A) keep watching
	 	 (B)	 leave	the	cocoon	alone
	 	 (C)	 help	the	butterfly
	 	 (D)	 leave	the	butterfly	alone
 5. The natural process would have the 

wings	of	the	butterfly	:
 	 (A)	unfold	and	remain	stiff
	 	 (B)	 unfold	and	stretch	out
  (C) fold up and remain snug
  (D) half open and snug against the body
 6. A word that means ‘to make or become 

withered’ is :
	 	 (A)	shriveled	 (B)	moistened
  (C) folded (D) wasted
 7.	 What	the	first	word	‘A’	of	the	passage	is	?
	 	 (A)	a	noun	 (B)	 an	adverb
  (C) a determiner (D) None of these
 8. The word ‘took’ is used in the passage as 

......... .
	 	 (A)	verb	 (B)	 preposition
	 	 (C)	 infinitive	 (D)	None	of	these
 9.	 Which	 tense	 is	 used	 in	 the	 sentence,	A	

man	found	a	cocoon	of	a	butterfly.
  (A) past perfect
	 	 (B)	 present	perfect
	 	 (C)	 past	indefinite
	 	 (D)	present	indefinite
 10.	 “The	 butterfly	 then	 emerged	 easily”.	

Which	degree	of	adjective	is	used	in	the	
sentence	?

	 	 (A)	comparative	 (B)	 positive
  (C) superlative (D) None
 11.	 Which	one	is	the	synonym	of	the	word-

freedom.
	 	 (A)	 liberty	 (B)	 captivity
  (C) limitation (D) servitude

Passage-2

The political system always dominates 
the entire social scene; and hence those who 
wield political power are generally able to 
control	 all	 the	 different	 social	 sub-systems	
and manipulate them to their own advantage. 
The social groups in power therefore have 
always manipulated the education systems, 
especially when these happen to depend upon 
the state for their very existence to strengthen 
and perpetuate their own privileged position. 
But	 herein	 lies	 a	 contradiction.	 For	 the	 very	
realization	 of	 their	 selfish	 ends,	 the	 social	
groups in power are compelled to extend the 
benefits	 of	 these	 educational	 systems	 to	 the	
under privileged groups also. The inevitable 
task is generally performed with three 
precautions abundantly taken care of; One, the 
privileged groups continue to be the principal 
beneficiaries	 of	 the	 educational	 system,	
dominate the higher stages of education or 
the lead core of prestigious and quality 
institution or the most useful of courses, so 
as to safeguard their dominant position of 
leadership in all walks of life; Second, the 
system is so operated that under-privileged 
groups can utilize it only marginally in real 
terms and the bulk of them become either 
dropouts or push outs and get reconciled to 
their own interior status in society, Third, 
the few from the weaker section that survive 
and succeed in spite of all the handicaps are 
generally coopted within the system to prevent 
dissatisfaction.

Word Meaning

dominate—çHkqRo j[kuk] 'kklu djuk] 
wield—mi;ksx djuk] sub-system—mi&rU=] 
manipulate—oqG'kyrkiwoZd iz;ksx djuk] 
existence—vfLrRo] perpetuate—fLFkj djuk] 
cuk;s j[kuk] privileged—xkSjokfUor] Contra-
diction—fojks/kkHkkl] Compelled—ck/; 
djuk] inevitable—vifjgk;Z] abundantly—
izpqj ek=k esa] beneficiaries—ykHkkfUor gksus 
okys] prestigious—izfrf"Br] utilize—mi;ksx 
djuk] marginally—ekewyh] reconciled—
lkeatL; LFkkfir djuk] survive—cus jguk 
;k thfor j[kuk] co-opted—lg;ksfxr djukA
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 12. How do socially powerful people try to 
maintain	their	privileged	position	?

	 	 (A)	By	 maintaining	 control	 over	 poli-
tical systems

	 	 (B)	 By	maintaining	 control	 over	 social	
systems

	 	 (C)	 By	 maintaining	 control	 over	 edu-
cation systems

  (D) All of the above
 13.	 Why	 underprivileged	 sections	 have	 to	

reconcile	to	their	inferior	status	?
	 	 (A)	They	are	unable	to	effectively	utilize	

the education system
	 	 (B)	 They	have	no	interest	in	the	system
  (C) They are illiterate
  (D) All of the above
 14.	 What	 is	 the	major	 idea	 reflected	 in	 the	

passage	?
  (A) Powerful people are unable to fully 

control the system
	 	 (B)	Major	 benefits	 have	 been	 snatched	

by the underprivileged
	 	 (C)	 Both	(A)	and	(B)
	 	 (D)	Neither	(A)	nor	(B)
 15.	 While	writing	a	notice,	the	writer	should	

prefer :
	 	 (A)	active	voice	 (B)	passive	voice
  (C) any voice (D) None of these
 16.	 Where	 will	 you	 add	 disclosures	 in	 a	

letter	?
	 	 (A)	Below	 the	 signature	 and	 the	 right	

side margin
	 	 (B)	 Below	the	signature	and	the	left	side	

margin
  (C) Above the signature and the right 

side margin
  (D) Any of the above
 17. ‘Phonetics’ is basically associated with :
	 	 (A)	sounds	 (B)	sentences
  (C) grammar (D) All of these
 18. The political system always dominates 

the	 entire	 scene	 ........	 .	Which	 tense	 is	
used	in	the	above	sentence	?

  (A) present tense
	 	 (B)	 present	indefinite	tense
	 	 (C)	 past	indefinite	tense
  (D) present perfect tense
 19. The word ‘upon’ is used in the passage 

as ........... .
	 	 (A)	an	adjective	 (B)	 a	noun
  (C) a determiner (D) a preposition
 20. ............ and the bulk of them become 

either dropouts or pushouts and get 
reconciled to their own interior status in 
society.

  The underlined words in the  above 
sentence is :

	 	 (A)	noun	 (B)	 pronoun
	 	 (C)	 conjunction	 (D)	 interjection
 21. The inevitable task is generally 

performed with three precautions 
abundantly taken care of;

  The underlined words in the above 
sentence are :

	 	 (A)	Article,	adjective,	adverb
	 	 (B)	 Noun,	adjective,	adverb
	 	 (C)	 Adjective,	adjective	noun
  (D) Possessive noun, article

Passage-3

If the census tells us that India has two 
or three hundred languages, it also tells us, 
I	 believe,	 that	 Germany	 has	 about	 fifty	 or	
sixty languages. I do not remember anyone 
pointing out this fact in proof of the disunity 
or disparity of Germany. As a matter of fact, a 
census mentions all manner of petty languages, 
sometimes spoken by a few thousand persons 
only; and often dialects are classed for 
scientific	 purposes	 as	 different	 languages.	
India seems to me to have surprisingly few 
languages, considering its area. Compared to 
the same area in Europe, it is far more closely 
allied in regard to language, but because of 
widespread illiteracy, common standards have 
not developed and dialects have formed. The 
principal languages of India are Hindustani (of 
the	 two	 varieties,	Hindi	 and	Urdu),	 Bengali,	
Gujarati,	 Marathi,	 Tamil,	 Telugu,	 Malyalam	
and Kannada. If Assamese, Oriya, Sindhi, 
Kashmiri,	Pushtu	and	Punjabi	are	added,	 the	
whole country is covered except for some hill 
and forest tribes. Of these, the Indo-Aryan 
languages, which cover the whole north, 
centre and west of India, are closely allied; 
and the southern Dravidian languages, though 
different,	 have	 been	 greatly	 influenced	 by	
Sanskrit, and are full of Sanskrit words.

Word Meaning

census—tux.kuk] disunity—foHksn] ,drk 
dk vHkko] disparity—vlekurk] petty 
languages—ladh.kZ Hkk"kk;sa] dialects—cksfy;k¡ 
;k miHkk"kk,¡] scientific	 purpose—oSKkfud 
mís';] widespread illiteracy—cM+s iSekus ij 
vf'k{kkA

 22. In the passage the author :
  (A) compares India with Germany
	 	 (B)	defends	the	multilingual	situation	of	

India
  (C) criticises the illiteracy in India
	 	 (D)	classifies	the	Indian	languages
 23. One of the reasons why there are many 

dialects in India is :
  (A) vast area
	 		(B)	population
  (C) more communities
  (D) illiteracy
 24. The Dravidian languages have been 

greatly	influenced	by	Sanskrit.	This	:
  (A) makes them inferior to the Indo-

Aryan languages
	 	 (B)	 makes	 them	 superior	 to	 the	 Indo-

Aryan languages
  (C) brings them close to the Indo-Aryan 

languages
	 	 (D)	makes	them	very	different	from	the	

other Indian languages

 25.	 Which	 of	 the	 following	 statements	 is	
true	according	to	the	given	passage	?

  (A) India has far too many languages
	 	 (B)	 India	is	a	vast	country	with	not	too	

many languages
  (C) India has as many languages as 

Europe does
  (D) Indian languages are not as well 

developed as those of Europe
 26.	 But	is	a	...........	of	speech.
	 	 (A)	Part	 (B)	kind	
	 	 (C)	 Figure		 (D)	None	of	these
 27. Give the opposite of ‘Superior’.
	 	 (A)		vast		 (B)	inferior
  (C)  huge (D) din
 28. Too is used in ............ sense.
	 	 (A)	positive		 (B)	 neutral
   (C) negative (D) All of these
 29. Give the opposite of ‘far.’
	 	 (A)	near	 (B)	top	
  (C) bottom (D) below
 30. “The principal languages of india are 

Hindustani	 ............	 .	 ”	 The	 underlined	
word is .........

	 	 (A)	a	pronoun	 (B)	 a	noun
	 	 (C)	 a	preposition	 (D)	a	conjunction
 31. Of these, the indo-Aryan languages 

which cover the whole north, ........... .
  (A) a personal pronoun
	 	 (B)	 a	relative	pronoun
  (C) a distributive pronoun
	 	 (D)	a	reflexive	pronoun
 32. “............ common standards have not 

developed	 and	 dialects	 have	 formed.”	
Here the verb ‘have not developed’ is in 
which tense.

  (A) past perfect continuous
	 	 (B)	 past	perfect
  (C) present perfect
	 	 (D)	 future	indefinite

Passage-4

Our body is a wondrous mechanism 
and	when	 subjected	 to	 unusual	 stress	 over	 a	
period of time, it adapts itself to deal more 
effectively	 with	 that	 stress.	 Therefore,	 when	
you exert your muscles against resistance, 
they are forced to adapt and deal with this 
extraordinary workload. This is the principle 
of	 weight	 training.	 Strands	 of	 muscle	 fibres	
become thicker and stronger in response to the 
demands placed on them.

One of the great merits of weight training 
is the strength of your heart. During weight 
training, your heart is forced to beat faster 
and	 stronger	 in	 order	 to	 pump	 sufficient	
blood to the muscles being worked. In time, 
your heart, like your body, will adapt to 
this extra-workload by becoming stronger 
and	more	 efficient.	 Since	 your	 body	 needs	 a	
given amount of blood to perform its daily 
tasks, your heart will now need fewer beats 
to pump the same quantity of blood. Sounds 
good	?	There’s	more.	Your	entire	circulatory	
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system is given a thorough workout every 
time you exercise, which increases its overall 
efficiency.	 Even	 the	 neural	 paths	 from	 your	
brain’s command centres to each individual 
muscle	 become	 more	 effective,	 enabling	
easier	 recruitment	 of	 muscle	 fibres	 for	
carrying out physical tasks. In essence, your 
body	 becomes	 a	 well-oiled	 and	 finely-tuned	
piece of machinery, whirring along without 
any	breakdown.	In	today’s	stress-filled	world,	
you need all the help you can get.

Word Meaning

wondrous mechanism—peRdkfjd rU= ;k 
fØ;kfof/k] unusual—vlkekU;] adapts—
vuqowGy cukuk] resistance—izfrjks/k] extra-
ordinary—vn~Hkqr vlk/kkj.k] strands—
js'kk] circulatory system—lapkj iz.kkyh] 
enabling—;ksX; cukuk] whirring—QjQjkgV] 
essence—fu"d"kZ] lkj ;k ewyrRoA

 33. The principle of weight training is :
  (A) disposing extra workload
	 	 (B)	 thickening	 of	 body	 through	 extra	

consumption
  (C) helping the body adapt to increased 

stress
  (D) training muscles to exert more 

pressure
 34.	 Weight	training	makes	the	muscles	:
  (A) thicker and stronger
	 	 (B)	become	stranded
  (C) become intense
  (D) resist workload
 35. During weight training the heart pumps :
  (A) required blood
	 	 (B)	an	extraordinary	amount	of	blood
  (C) less blood
  (D) more blood
 36.	 A	stronger	and	more	efficient	heart	:
  (A) can rest longer, reducing its 

workload
	 	 (B)	 is	assisted	by	muscles	of	the	body
  (C) beats faster and more often to pump 

blood
  (D) needs fewer beats to pump the same 

amount of blood
 37.	 When	 neural	 paths	 become	 more	

effective	?
  (A) the brain employs various muscles 

easily for physical tasks
	 	 (B)	 the	muscles	function	effectively	and	

independently
  (C) the brain functions at extraordinary 

speed
  (D) the brain opens new pathways for 

communication
 38.	 What	 does	 the	 term	 ‘well-oiled’	 in	 the	

passage	denote	?
	 	 (A)	Massaged	 (B)	Greased
  (C) Healthy (D) Services
 39.	 Which	one	of	the	following	is	the	most	

appropriate	title	for	the	passage	?

	 	 (A)	The	Mechanics	of	Weight	Training
	 	 (B)	How	to	retain	your	health	?
	 	 (C)	Health	is	Wealth
  (D) Stressbusting
 40.	 What	does	the	above	passage	suggest	?
	 	 (A)	We	should	ignore	physical	exercise
	 	 (B)	We	 should	 subject	 our	 body	 to	 as	

much exercise as it can withstand
	 	 (C)	We	 should	 carry	 out	 physical	

exercise as a routine
  (D) Physical exercise is necessary 

occasionally
 41.	 The	word	‘wondrous’	(first	line)	is–
	 	 (A)	an	adverb	 (B)	an	adjective
  (C) a verb (D) a noun
 42. One of the great merits of weight training 

is the strength of your heart.
	 	 Which	degree	of	adjective	has	been	used	

in	the	above	sentence	?
	 	 (A)	Comparative	 (B)	 Superlative
	 	 (C)	 Positive	 (D)	Both	A	&	B
 43. The most important part of some idea or 

thought is called :
	 	 (A)	Reference	 (B)	 Context
  (C) Essence (D) None of these
 44. “During the wait training, your heart is 

forced	to	beat	faster	and	stronger	........”
	 	 Which	words	in	the	above	sentence	are	

in	comparative	degree	?
	 	 (A)	Fastest	and	strongest
	 	 (B)	 Fast	and	strong
	 	 (C)	 Faster	and	stronger
  (D) None of these
 45. How many determiners have been used 

in	the	following	sentence	?
  Since your body needs a given amount 

of blood to perform its daily tasks your 
heart will now need fewer beats to pump 
the same quantity of blood.

	 	 (A)	2	 (B)	 1
  (C) 4 (D) 3
 46. Enabling easier recruitment of muscle 

fibres	for	carrying	out	physical	task.
  Here the word  ‘easier’ in :
  (A) Comparative degree
	 	 (B)	 Positive	degree
  (C) Superlative degree
  (D) None of these
 47.	 What	the	first	word	‘our’	of	the	passage	

is :
  (A) Possessive pronoun
	 	 (B)	 Possessive	adjective
	 	 (C)	 Reflexive	pronoun
  (D) Proper noun
 48.	 Which	one	of	 the	antonym	of	 the	word	

“Strength”	?
	 	 (A)	Frailty	 (B)	 Robustness
	 	 (C)	Muscle	 (D)	Power

Passage-5

Books	 are	 of	 great	 value	 in	 life.	 They	
provide	us	all	that	we	need	in	life.	Books	take	

us to height and thus they make us great and 
valuable in life.

Good books are our sincere friends. they 
are	the	true	friends.	Books	become	our	friend	
in time when we need friends most. They are 
the storehouse of knowledge. Printing Press 
has brought books in large numbers. In this 
world good and evil go side by side. Evil 
ties to overpower the good and many a time 
it	 succeed	 in	 its	 efforts.	 When	 evil	 in	 man	
overpowers the good in him, he becomes a 
Satan but when the good is not subdued by 
evil, the man remains godly.

Word Meaning

provide—miyC/k djuk] valuable—ewY;oku] 
sincere—xEHkhj] fu"diV] storehouse of 
knowledge—Kku Hk.Mkj] good and evil—
vPNkbZ vkSj cqjkbZ] side by side—lkFk&lkFk] 
overpower—ijkftr djuk] efforts—iz;kl] 
subdued—o'khHkwrA

 49.	 What	is	the	word	“life”	in	the	first	line	of	
the	passage	?

	 	 (A)	an	adjective
	 	 (B)	 an	abstract	noun
  (C) a common noun
  (D) a collective noun
 50. The word ‘sincere’ in the above passage 

is :
  (A) an adverb
	 	 (B)	 an	adjective
  (C) possessive pronoun
  (D) None of these
 51.	 Which	tense	is	used	in	the	above	passage	?
  (A) Past perfect tense
	 	 (B)	 Present	perfect	tense
	 	 (C)	 Present	indefinite	tense
	 	 (D)	Past	indefinite	tense
 52. How many determiners are used in 

the following sentence. Evil ties to 
overpower the good and many a time it 
succeed	in	its	efforts.

	 	 (A)	1	 (B)	 3
  (C) 2 (D) 4
 53. Printing press has brought books in large 

numbers. The tense used in the verb ‘has 
brought’ is :

  (A) Past perfect
	 	 (B)	 Present	perfect
	 	 (C)	 Present	indefinite
	 	 (D)	Past	indefinite
 54. They provide us all that we need in life. 

Here the word ‘us’ is in—
	 	 (A)	Subjective	case	(B)	 Objective	case
  (C) Possessive case (D) None of these

Passage-6

Your	body	 is	made	up	of	 sixty	per	 cent	
water	 and	 you	 lose	 the	 essential	 fluid	 every	
minute of every day as you breathe, digest and 
hopefully work up a sweat. It is important that 
you put back every drop. Starting now, drink 
eight 230 mL glasses of water every single 
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day–that’s	 the	 minimum,	 your	 body	 needs	
daily. That is the non-negotiable sugar savvy 
hydration	 Mantra.	 Many	 times	 when	 you	
think you’re hungry, sleepy, depressed and/
or	 irritated,	 you’re	 actually	 just	 dehydrated.	
Drinking enough water actually helps you 
combat water retention. Sounds counter 
intuitive, but think about it. If you are running 
around in a semi-dehydrated state all the 
time, your body is going to hang on to every 
single	drop,	giving	you	 that	puffy,	unhealthy	
appearance.	When	you	are	properly	hydrating,	
your body gets the message that all systems 
are operating smoothly and it continues its 
work	of	flushing	out	your	system	and	ridding	
itself	of	the	excess	fluids.

If your goal is to lose weight, water is 
a	must.	When	 you’re	 dehydrated,	 your	 body	
sends out signals that you need assistance. 
Many	 people	 mistake	 those	 thirsty	 SOS	
signals for hunger and take in hundreds of 
extra calories. They also don’t solve the real 
problem–thirst!	 Drinking	 water	 can	 be	 a	
powerful appetite suppressant and allows you 
to	 cue	 into	your	 real	hunger.	Your	body	also	
needs plenty of water for proper digestion, so 
you can get the most from the foods you eat. 
You	are	less	susceptible	to	food	cravings	when	
your stomach is full and you’re getting all the 
nutrients you need. Drink two glasses of water 
before	every	meal–you’ll	eat	less!	Your	body	
uses water for fat.

Word Meaning

non-negotiable—vijØkE;] (that can not 
be bought or sold depressed) —f[kUufpr] 
irritated—oqGfir] dehydrated—futZfyr] 
retention —vo/kkj.kk] intuitive—varKkZuh 
lgt Kku ls mRiUu] puffy—LFkwy] smoothy—
fu£o?u fcuk fdlh leL;k osG] suppressant—
neudkjh] susceptible—vfrlaosnu'khy] 
cravings—r`".kk] izcy bPNk] nutrients—
iks"kd rRoA

 55. Our systems operate satisfactorily
  (A) if excess fat is reduced
	 	 (B)	 when	we	enjoy	a	sound	sleep
  (C) when we are properly hydrated
  (D) if we consume lots of fruits and  

 vegetables
 56. The best way to lose weight is to
  (A) eat less starchy food
	 	 (B)	 take	weight-reducing	pills
  (C) exercise atleast twice a day
  (D) drink plenty of water
 57.	 When	we	are	dehydrated,	we	think	we
  (A) are about to collapse
	 	 (B)	 want	to	vomit
  (C) are tired
  (D) need food
 58.	 What	is	the	word	‘water’	in	the	first	line	

of	the	passage	?
  (a) a noun
  (b) a common noun

  (c) a material noun
  (d) a possessive noun
  (A) Only (a)
	 	 (B)	 Only	(c)
	 	 (C)	 Both	(a)	and	(c)
	 	 (D)	Both	(a)	and	(b)
 59.	 “..................	 your	 body	 needs	 daily”.	

Which	tense	is	used	in	this	sentence	?
	 	 (A)	Present	indefinite	tense
	 	 (B)	 Present	perfect	tense
  (C) Past perfect tense
  (D) None of these
 60. “Drinking enough water actually helps 

you	combat	water	retention.”
  The underlined words in this sentence 

are—
	 	 (A)	 Infinitive	 (B)	 Gerund
  (C) Participle (D) Adverb

Passage-7

As the rulers of the planet, humans 
like to think that it the large creatures who 
will emerge victorious from the struggle 
for survival. However, nature teaches us 
the opposite: it is often the smallest species 
which are the toughest and most adaptable. A 
perfect example is the hummingbird, which 
is found in the Americas. One species of 
hummingbird known as the bee hummingbird 
ranks as the world's smallest and lightest bird 
and	 it	 is	 rarely	 visible	 when	 it	 is	 in	 flight.	
Humming	birds	are	the	only	birds	that	can	fly	
backwards. They feed mainly on the nectar of 
flowers,	a	liquid	that	is	rich	in	energy.	Nectar	
is an ideal food source, for hummingbirds. 
They need an incredible amount of energy to 
sustain their body metabolism. A humming-
bird's	wings	 flap	 at	 a	 rate	 of	 about	 80	 times	
per second and its tiny heart beats more than 
1000	times	per	minute.	This	is	why	they	must	
consume relatively large quantities of food. In 
the course of a day, a hummingbird consumes 
about half its body weight in nectar.

Word Meaning

ruler—'kkld] planet—xzg] creatures—
tho] emerge—mHkjuk] struggle—la?k"kZ] 
survival—mÙkjthfork] species—tkfr] 
adaptable—vuqowGyuh;] rarely visible—cgqr 
de] nectar	 of	 flowers—e/kq] incredible—
vrqY;] sustain—cuk;s j[kuk] metabolism—
p;kip;] consume—miHkksx djuk] relatively 
—vis{kkÏr ;k rqyukRed :i lsA

 61. Nature has made man realise the fact that :
  (A) the large creatures emerge victorious 

from the struggle for survival
	 	 (B)	 the	 smallest	 creatures	 are	 the	

toughest and most adaptable
  (C) humans who rule the planet are the 

most powerful beings on Earth
  (D) the largest and the smallest species 

are equally tough and strong

 62.	 Which	of	the	following	statements	about	
the	bee	hummingbird	is	true	?

	 	 (A)	 It	is	obviously	visible	when	it	flies.
	 	 (B)	 It	 escapes	 our	 sight	 when	 it	 is	 in	

flight.
	 	 (C)	It	could	fly	high	beyond	the	clouds.
	 	 (D)	 It	cannot	be	seen	when	it	is	in	flight.
 63. Hummingbirds need a lot of energy in 

order to :
  (A) maintain their body metabolism
	 	 (B)	 flap	their	wings	and	fly	backwards
  (C) sustain a steady rhythm of heart-beat
  (D) win in the struggle for survival
 64. The hummingbirds are exclusive in the 

sense that :
  (A) they subsist only on nectar
	 	 (B)	 their	 pulse	 rate	 is	 more	 than	 1000	

per minute
  (C) they consume half their bodyweight 

everyday
	 	 (D)	 they	can	fly	backwards
 65. The word 'incredible' in the passage 

means :
	 	 (A)	 tremendous	 (B)	 inexhaustible
  (C) unbelievable (D) phenomenal
 66. In the passage "smallest" word is given. 

Find	out	the	positive	degree	of	this	word.
	 	 (A)	 small	 (B)	 smaller
  (C) small above (D) None of these
 67. The word ‘planet’ is used in the passage 

as .............
	 	 (A)	noun	 (B)	 adjective
	 	 (C)	 conjunction	 (D)	pronoun
 68.	 Which	 tense	 is	 used	 in	 the	 following	

sentence	?
  ‘They need an incredible amount of 

energy to sustain their body metabolism :
	 	 (A)	present	indefinite
	 	 (B)	 present	perfect
	 	 (C)	 future	indefinite
	 	 (D)	past	indefinite

Passage-8

As you know a great many people in 
India cannot read or write. They are illiterate. 
This is not their fault. They have never had the 
chance	to	learn	to	read.	But	we	know,	too,	that	
our country cannot progress as it should do 
if	the	majority	of	the	people	are	ignorant	and	
uneducated. If we are to be the best kind of 
citizens	we	must	be	educated.	We	must	at	least	
be able to read books and newspapers and 
magazines. Now those of us, who have had 
the chance to go to school and to be educated, 
have been given something of which many of 
our	neighbours	have	been	deprived	off.	They,	
therefore, need our help. In this matter we are 
in a position to help them, if we are willing to 
do	so.	We	should	show	our	neighbourliness	if	
we found our next door neighbour lying at the 
side of the road unable to move because he 
had broken his leg. Similarly we should show 
our	neighbourliness	when	we	find	him	unable	
to make progress because he cannot read.
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Word Meaning

illiterate—vf'kf{kr] fault—nks"k] deh] 
progress—izxfr] mRFkku] majority—cgqer] 
cgqla[;d] ignorant—vufHkK] vf'kf{kr] 
educated—f'kf{kr] unable—v;ksX;] neigh-
bourliness—feyulkfjrkA

 69. Choose the word from the alternatives 
that is opposite in meaning to the word 
‘illiterate’ as used in the paragraph.

	 	 (A)	deilliterate	 (B)	 non-illiterate
  (C) un-illiterate (D) literate
 70.	 The	word	illiterate	is	used	in	the	first	line	

of the paragraph as :
	 	 (A)	an	adjective	 (B)	a	noun	
  (C) a pronoun (D) an adverb
 71. Which	 tense	 is	 being	 used	 in	 the	

sentence, ‘They have never had the 
chance	to	learn	or	read’?

	 	 (A)	Present	indefinite
	 	 (B)	 Present	perfect
	 	 (C)	 Past	indefinite
  (D) Past perfect
 72.	 Choose	an	appropriate	determiner	to	fill	

in the blank :
	 	 We	 should	 show	our	neighbourliness	 if	

we	 found	 one	 person	 lying	 injured	 at				
........... side of the road. 

	 	 (A)	a		 (B)	 an
  (C) the  (D) over
 73. If we are to be the best kind of citizens, 

we must be educated. 
	 	 Which	degree	of	adjective	has	been	used	

in	the	above	sentence	?
	 	 (A)	Positive		 (B)	Comparative
  (C) Superlative  (D) None
 74. In India many people especially in rural 

areas, are still illiterate and ignorant. 
Here the word illiterate is—

	 	 (A)	a	noun	 (B)	a	pronoun
	 	 (C)	an	adjective	 (D)	conjunction
 75. Many	 of	 our	 neighbours	 have	 been	

deprived. 
  Here the word ‘many’ is a—
	 	 (A)	noun	 (B)	 adjective	
  (C) determiner (D) preposition
 76. Of which many of our neighbours have 

been	deprived	off.	Change	this	sentence	
to past perfect tense.

	 	 (A)	off	which	many	 of	 our	 neighbours	
were	deprived	off

	 	 (B)	 of	 which	 many	 of	 our	 neighbours	
had	been	deprived	off

  (C) of which many of our neighbours 
were	being	deprived	off	

  (D) of which many of our neighbour had 
been	depriving	off

 77. Choose the word from the alternatives 
that expresses the best meaning to the 
word ‘progress’ as used in the para-
graph.

	 	 (A)	growth	 (B)	 return
  (C) deteriorate  (D) None

 78. A person who is unable to read and write :
	 	 (A)	 learned	 (B)	 illiterate
  (C) eligible (D) None

Passage-9

The king turned round and saw a bearded 
man running towards them. His hands were 
pressed against his stomach, from which blood 
was	flowing.	When	he	reached	the	king	he	fell	
fainting to the ground. The king and the hermit 
removed the man’s clothing and found a large 
wound in his stomach. The king washed and 
covered it with his handkerchief. At last the 
bleeding stopped.

The man began to feel better. The king 
brought fresh water and gave it to him. Then 
the king with the hermit’s help carried the 
wounded man into the hut and laid him on 
the bed. The king tired by his walk and the 
work	he	had	done,	lay	down	on	the	floor	and	
slept	through	the	night.	When	he	awoke,	it	was	
several minutes before he could remember 
where he was or who the strange bearded man 
lying on the bed was.

“Forgive	me!”	said	the	bearded	man	in	a	
weak voice.

“I do not know you and have nothing to 
forgive	you	for,”	said	the	king.

“You	do	not	know	me,	but	I	know	you.	I	
am that enemy of yours who swore revenge on 
you, because you put my brother to death and 
seized my property. I know you had gone alone 
to see the hermit, and I made up my mind to 
kill	you	on	your	way	home.	But	the	day	passed	
and you did not return. So I left my hiding 
place, and I came upon your bodyguard, who 
recognised me and wounded me. I escaped 
from them but I should have died if you had 
not dressed my wounds. I wished to kill you, 
and you have saved my life. Now, if I live, and 
if you wish it. I will serve you as your most 
faithful servant and will order my sons to do 
the	same.	Forgive	me!”

The king was very glad to have made 
peace with his enemy so easily and to have 
won him over as a friend.

Word Meaning

bleeding—jDrlzko ([kwu dk cguk)] 
wounded—?kk;y] seized—vf/kdkj esa djuk] 
hiding place—xqIr LFkku] recognised—
vfHkKkr] igpkuuk] dressed—?kko ij iV~Vh 
ck¡èkuk] serve—lsok djuk] faithful—oQknkj] 
forgive—{kek djukA

 79. The bearded man was :
  (A) a hermit
	 	 (B)	the	king’s	enemy
  (C) the king’s bodyguard
  (D) the king’s servant
 80. The king washed and dressed the wound 

because he wanted to :
  (A) make peace with the bearded man
	 	 (B)	help	the	hermit
  (C) help a wounded man
  (D) have the bearded man in his service

 81. The bearded man asked for the king’s 
forgiveness because :

  (A) he slept on the bed while the king 
slept	on	the	floor

	 	 (B)	 the	king’s	bodyguard	wounded	him
  (C) he wounded the king’s bodyguard
  (D) while he wished to kill the king, it 

was the king who had saved his life.
 82.  The bearded man swore revenge on the 

king because :
  (A) the king put his brother to death and 

seized his property
	 	 (B)	 the	king	had	gone	 alone	 to	 see	 the	

hermit
  (C) the king’s bodyguard wounded him
  (D) the king wanted him to be his 

faithful servant
 83.  The king was very glad because :
  (A) he had a peaceful sleep through the 

night.
	 	 (B)	he	had	won	an	old	enemy	over	as	a	

friend
  (C) the hermit had helped him
  (D) he had helped a wounded man
 84. The word ‘against’ is used in the second 

line of the passage as :
	 	 (A)	conjunction	 (B)	 preposition
	 	 (C)	 adjective	 (D)	adverb
 85.	 Which	 tense	 has	 been	 used	 in	 the	

following sentence.
  ‘The king washed and covered it with his 

handkerchief’.
	 	 (A)	Past	indefinite
	 	 (B)	 Present	indefinite
  (C) Present perfect
  (D) Past continuous
 86. The man began to feel better.
	 	 Which	degree	of	adjective	has	been	used	

in	the	above	sentence	?
	 	 (A)	positive	 (B)	 superlative
  (C) comparative (D) None
 87. Choose the word from the alternatives 

that is opposite in meaning to the word 
‘faithful’ as used in the paragraph.

	 	 (A)	 treacherous	 (B)	 loyal
  (C) devoted (D) good

Passage-10

Have you ever wondered what the 
qualities	of	a	really	professional	teacher	are	?	
I know that all teachers want their students to 
like them, but being liked isn’t the be-all and 
end-all	 really,	 is	 it	?	 I	mean	 teachers	have	 to	
make some unpopular decisions sometimes. 
Teachers	 can	 be	 popular	 just	 because	 they	
are friendly and helpful, but to be truly 
professional	and	effective,	we	need	to	be	able	
to identify the skills and behaviour we require 
in a true professional. A professional teacher 
needs	to	be	confident	without	being	arrogant.	
Nobody can expect to have all the answers, so, 
if a student asks a real stinker, the professional 
teacher should be able to admit defeat but 



 112   |    

offer	 to	 find	 out	 more	 for	 the	 student.	 And	
they	must	 carry	 that	 promise	 out.	When	 the	
teacher enters the classroom, she/he should 
have all the required materials and the lesson-
plan ready. And, in orchestrating the class, 
the teacher must give everyone their chance 
to	 contribute	 and	 should	 be	 flexible	 enough	
to modify lessons if they are obviously not 
going to plan. Indeed, a fallback position is 
part of good planning. It stands to reason also 
that a teacher must observe punctuality and 
appropriate tidiness and dress : it is not possible 
to demand such behaviour from students if the 
teacher doesn’t set the standards.

The last thing I would mention is that 
teacher should be able to feel that their 
professionalism entitles them to back up from 
the school directors. If a teacher has a problem 
class or student, then the school should have 
procedures	 for	 handling	 the	 difficulties.	 The	
teacher should not have to feel alone and 
vulnerable	 if	 a	 difficult	 situation	 arises.	 So,	
yes, professionalism cuts both ways : in the 
standards we demand of teachers and the 
framework we have for giving them support.

Word Meaning

professional—O;kolkf;d] is'ksoj] friendly—
fe=or~] confident—vkRefo'oklh] arrogant—
vfHkekuh] stinker—vfç; vkneh] flexible—
yphyk] contribute—;ksxnku] modify 
—:ikUrj djuk] fallback—fuorZu] iyVko] 
mention—mYys[k djuk] entitle—lEc¼ 
gksuk] procedures—çfØ;k,¡] dk;Zi¼fr] 
framework—:ijs[kk] lajpukA

 88. The expression .... isn’t the be-all and 
end-all.... is an assumption that pertains 
to the ..... point of view.

	 	 (A)	writer’s	 (B)	 teachers’
  (C) students’ (D) general
 89. Here, the fallback position is the system 

where ..... well prepared.
  (A) good students are
	 	 (B)	good	teachers	are
  (C) teachers, even if caught out 

unexpectedly, are still
  (D) students and teachers who support 

each other are
 90. Here able to admit defeat implies that :
  (A) students can ‘catch’ a teacher 

unaware
	 	 (B)	 teachers	 easily	 lose	 self-confidence	

as they lack professionalism
  (C) it doesn’t matter if students often 

contradict what their teacher says
	 	 (D)	 teachers	should	be	confident	enough	

to own up to their ‘unpreparedness’
 91. Here, orchestrating the class suggests :
  (A) the teacher controlling the class to 

ensure high grades
	 	 (B)	 the	 whole	 class	 performing	

uniformly well

  (C) acknowledging the individual 
differences	 in	 the	 process	 of	
achievement

  (D) that music helps academic achieve-
ment

 92. Here, ....... asks a real stinker ..... 
suggests that :

  (A) teachers are always unprepared
	 	 (B)	 students	can	be	better	informed	than	

their teachers
  (C) students dislike teachers in general
  (D) teachers are unprofessional in 

students’ eyes
 93. A word that can best replace the word 

entitles in the passage is :
	 	 (A)	warrants	 (B)	names	 	

(C) calls (D) gives
 94. The writer’s view that professionalism 

cuts both ways means :
  (A) teachers are faced with students and 

trustees hold them accountable
	 	 (B)	 teachers	 teach	 well	 when	 trustees	

pay them well
  (C) trustees and their employee owe 

each other support
  (D) students and teachers owe respect to 

the management of their school
 95. A word from the passage that is the 

antonym of the word unshakable, is :
	 	 (A)	vulnerable		 (B)	difficult
	 	 (C)	helpful		 (D)	effective
 96. Here, framework refers to the overall :
  (A) school curriculum
	 	 (B)	 clearly	spelt	out	duties	for	teachers
  (C) system for assessment of teachers’ 

performance
	 	 (D)	 transparency	 in	 fixing	 teachers’	

salary
 97.	 Choose	 an	 appropriate	 article	 to	 fill	 in	

the blank—
  ..................... professional teacher needs 

to	be	confident	without	being	arrogant.
	 	 (A)	an	 (B)	 the
  (C) a (D) many
 98. Nobody can expect to have all the 

answers, ........... .
  Here the word ‘Nobody’ is a ............. .
	 	 (A)	conjunction	 (B)	 pronoun
	 	 (C)	 noun	 (D)	adjective

Passage-11

Some researchers suggest that 
emotional intelligence can be learned and 
strengthened, while others claim it is an inborn 
characteristic. The purpose for developing our 
emotional literacy is to precisely identify and 
communicate	 our	 feelings.	When	we	 do	 this	
we	are	helping	nature	fulfil	its	design	for	our	
feelings.	We	must	know	how	we	feel	in	order	
to	be	able	to	fill	our	emotional	heeds.	And	we	
must communicate our feelings in order to 
get the emotional support and understanding 
we need from others, as well as to show our 

emotional support and understanding to them. 
Also,	 one	 of	 the	 first	 steps	 to	 developing	
our emotional intelligence is to improve 
our emotional literacy. In other words, to 
improve ability to identify our feelings by 
their	specific	names	and	the	more	specific	we	
can be, the better. In the English language 
we have thousands of words which describe 
and	 identify	our	 emotions,	we	 just	 don’t	 use	
many of them. If you are interested in working 
on	 your	 emotional	 literacy,	 the	 first	 step	 is	
to start using simple, three word sentences 
such as these : I feel sad. I feel hurt. I feel 
offended.	I	feel	appreciated.	I	feel	motivated.	I	
feel	disrespected.	When	we	talk	about	feelings	
using three word sentences we are sending 
what have been called ‘I messages’. On the 
other hand, when we say things like “you 
make	me	so	 jealous”	we	are	 sending	a	“You	
message”.	These	“you	messages”	typically	put	
the other person on the defensive, which hurts 
communication and relationships rather than 
helping.

Word Meaning

inborn—tUe~tkr] LokHkkfod] precisely—
fuf'pr :i ls] heed—/;ku] literacy—
lk{kjrk] specific—fo'ks"k] foy{k.k] 
offended—viekfur] oqGfir] appreciated—
ljkgk tkuk] iz'kalk djuk] motivated—
vfHkizsfjr] jealous—}s"kh] bZ";kZyq] defensive—
j{kkRed] hurt—gkfuA

 99.	 Which	of	the	following	is	the	same	in	the	
meaning	to	the	word	‘support’	?

	 	 (A)	assist	 (B)	 oppose
  (C) contradict (D) undermine
 100. ‘Emotional’ is formed from the word :
	 	 (A)	Emotionalize	 (B)	 Emotion
  (C) Emotionally (D) None of these
 101. Here ‘emotional support’ suggests :
	 	 (A)	pity	 (B)	 tolerance
  (C)  wise counsel (D) sympathy
 102. The antonym from the passage for the 

word ‘general’ is :
	 	 (A)	nature	 (B)	improve
	 	 (C)	simple	 (D)	specific
 103. In the context ‘defensive’ means :
  (A) support what is right
	 	 (B)	support	a	point	of	view
	 	 (C)	attack	an	injustice
  (D) expressing anger
 104. A word that means ‘of a nature’ is :
	 	 (A)	literacy		 (B)	offended
  (C) precisely (D) typically

Passage-12

What	 is	 the	 future	 which	 awaits	 our	
children	 ?	The	underlying	 assumption	of	 the	
question that Indian children have a common 
future is itself dubious. It can legitimately 
be asked whether a student who is well fed, 
attending a boarding school in the salubrious 
climate of the hills, and learning to use 
computers has any future in common with 
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a malnourished child who goes to a school 
with no blackboards, if indeed he does go to 
school. The later may have no worth-while 
future at all. And it might be worth-while to 
analyze	the	significance	of	this	marginalization	
of	 more	 than	 seventy	 five	 percent	 of	 the	
children of this country. The failure to provide 
an infrastructure for primary education 
in the villages of India more than 60 years 
after independence is in sharp contrast with 
the sophisticated institutions, for technical 
institutes of higher education are funded by 
the government, which essentially means that 
the money to support them comes from taxes. 
And since indirect taxation forms a substantial 
part of the taxes collected by the government, 
the	financial	burden	is	borne	by	all	the	people.	
L. K. Jha put it graphically when he observed 
that 25 paise of every rupee spent on educating 
an IIT student comes from the pockets of men 
and women whose children may never enter a 
proper classroom.

Word Meaning

assumption—iwoZ/kkj.kk] dubious—lafnXèk] 
legitimately—tk;t] roZGlaxr rjhosG 
ls] fed—¥lfpr] iksf"kr] salubrious—
LokLF;oèkZd] worth-while—mi;qDr] ykHkizn] 
analyze—fo'ys"k.k djuk] marginalization—
izHkkoghu djuk] infrastructure—vk/kkjHkwr 
lajpuk ;k cqfu;knh <k¡pk] sophisticated—
ifj"Ïr] çxfr'khy] substantial—vko';d 
inkFkZ] observed—voyksfdr] fuxjkuh djukA

 105.	 Which	 one	 of	 the	 following	 words	 in	
comparative	degree	?

	 	 (A)	proper	 (B)	 never
  (C) higher (D) legitimately
 106.	 Which	one	is	the	compound	word	among	

the	following	?
	 	 (A)	classroom	 (B)	 education
  (C) provide (D) failure
 107. Identify the word closest in meaning to 

the	word	“DUBIOUS”
	 	 (A)	unarguable		 (B)	uncertain
  (C) undoubted  (D) undeniable
 108. Identify the word opposite in meaning to 

the	word	“SOPHISTICATED”
	 	 (A)	complicated	 (B)	stylish
	 	 (C)	difficult	 (D)	facile
 109.	 What	 is	 the	major	 concern	 reflected	 in	

the	passage	?
	 	 (A)	The	gap	between	different	 sections	

in Indian society is increasing
	 	 (B)	 Indian	 children	 do	 not	 enjoy	

common future
	 	 (C)	 both	(A)	and	(B)	
	 	 (D)	only	(B)

Passage-13

People	 in	 the	villages	of	Rajasthan	 lead	
a very simple life. Their way of living has not 
changed over the years. They live in circular 
huts. The walls of these huts are covered 

with cowdung. Every hut has a small place 
for worship. The life of these people is full 
of	difficulties.	 It	 is	 very	hot	 in	 summers	 and	
cold	 in	 winters.	 Water	 is	 a	 major	 problem.	
Sometimes they have to walk a long distance 
to	get	drinking	water.	For	their	agriculture	they	
depend	 on	 rains.	 But	 these	 people	 are	 very	
brave.	They	have	learnt	to	face	difficulties	and	
they	never	lose	hope.	They	also	like	to	enjoy	
their	 life.	 Women	 like	 to	 wear	 dresses	 full	
of bright colours. People living in villages in 
Rajasthan	have	a	 rich	 tradition	of	music	 and	
dance.	The	people	of	Rajasthan	are	very	proud	
of their culture.

Word Meaning

lead—fuokZg ;k lapkyu djuk] circular 
huts—o`Ùkkdkj >ksifM+;k¡] cowdung—xkscj] 
tradition—ijEijk] culture—laLÏfr ;k 
lH;rkA

 110. The word ‘cowdung’ is a :
  (A) blend
	 	 (B)	 primary	derivative
  (C) second derivative
  (D) compound word
 111.	 Which	 synonym	 of	 the	 word	 ‘rich’	 is	

misspelt	?
	 	 (A)	wealthy	 (B)	 afluent
  (C) opulent (D) prosperous
 112.	 Which	 of	 the	 following	 words	 is	 a	

synonym	for	‘brave’	?
	 	 (A)	hardworking	 (B)	 valiant
  (C) prosperous (D) enthusiastic
 113. The antonym of ‘bright’ is :
	 	 (A)	colourful	 (B)	 transparent
  (C) dull (D) dark
 114.	 Which	 of	 the	 following	 words	 is	

correctly	spelt	?
	 	 (A)	definition	 (B)	 defination
	 	 (C)	difination	 (D)	definetion
 115.	 The	 adjective	 ‘simple’	 can	 give	 us	 the	

noun :
	 	 (A)	 simplify	 (B)	 simply
  (C) simplistic (D) simplicity
 116. ‘The way of living’ can be replaced with 

the word :
	 	 (A)	 livelihood	 (B)	 liveliness
  (C) lifelike (D) lifestyle
 117.	 Which	 of	 the	 following	 is	 an	 adjective	

formed	from	the	noun	‘music’	?
	 	 (A)	musician	 (B)	 musical
  (C) musically (D) musicality

Passage-14

Our country gave birth to a mighty soul 
and he shone like a beacon not only for India 
but also for the whole world. And yet he was 
done to death by one of our own brothers 
and	compatriots.	How	did	 this	happen	?	You	
might think that it was an act of madness but 
that does not explain this tragedy. It could 
only occur because the seed for it was sown 
in the poison of hatred and enmity that spread 

throughout	 the	country	and	affected	so	many	
of our people. Out of that seed grew this 
poisonous plant. It is the duty of all of us 
to	 fight	 this	 poison	 of	 hatred	 and	 ill-will.	 If	
we	 have	 learnt	 anything	 from	 Gandhiji,	 we	
must bear no ill-will or enmity towards and 
person. The individual is not our enemy, it is 
the	poison	within	him	that	fight	and	which	we	
must put an end to.

Word Meaning

mighty—ijkØeh] 'kfDr'kkyh] beacon—
laosGr }hi] izdk'k] compatriots—Lons'koklh] 
tragedy—nq[kkUr] izkljh] hatred—}s"k] 
enmity—oSeuL;] ill-will—bZ";kZA

 118.	 Which	 one	 of	 the	 following	 is	 the	
synonym	of	the	word	‘beacon’	?

	 	 (A)	 light	 (B)	 dark
  (C) black (D) stator 
 119. Ill-will is :
  (A) an acronym
	 	 (B)	 a	blend
  (C) a compound word
  (D) a primary derivative
 120.	 Who	is	 ‘the	Mighty	soul’	 referred	 to	 in	

the	above	passage	?
  (A) Nathuram Godsey
	 	 (B)	Almighty	God
	 	 (C)	Mahatma	Gandhi
  (D) None of these
 121.	 What	do	we	learn	from	Gandhiji	?
  (A) That we must hate all our enemies.
	 	 (B)	 That	 we	 must	 have	 no	 ill-will	 or	

enmity towards any person.
  (C) That Indians should provoke 

communal riots.
  (D) That all may live in India but some 

of them have right to be Indian.
 122.	 What	 is	 the	 poison	 referred	 to	 in	 the	

above	passage	?
  (A) Hatred and goodwill to all other 

persons.
	 	 (B)	Poisonous	seeds	and	plants.
  (C) Hatred and ill-will towards other 

persons.
  (D) Love and patriotism.

Passage-15

He has reservations on the treatment of 
dance	 in	Indian	films,	but,	given	a	chance	 to	
work on his own terms, legendary Kathak 
Dancer	 Pandit	 Birju	 Maharaj	 would	 like	 to	
work	 more	 in	 Bollywood.	 The	 75-year-old	
tells us, “In my opinion, dance is adulterated 
in	Bollywood.	To	make	it	more	dramatic,	the	
dancers are asked to perform in an exaggerated 
manner. That makes any kind of dance impure, 
especially classical dance. I’d like to work 
more	in	Hindi	films,	provided	my	dance	is	not	
tampered	with.”

The kathak maestro tells us that over the 
years he’s been highly impressed with how 
some female actors have showcased classical 
dance on screen. On being asked on how he 
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sees the passion for dance among youngsters in 
the	country,	Birju	Maharaj	says,	“I	see	that	the	
young generation is divided in their response 
to	classical	dance.	But	 in	all	my	 interactions	
with the younger lot, I have been impressed. 
These children have such amazing presence 
of mind, listening and learning while I talk 
and	teach	them.”		It	is	often	said	that	classical	
dance doesn’t receive due credit, but the man 
who	is	an	authority	on	the	subject	thinks	Delhi	
receives the art well. “I feel that classical 
dance might not be on a rise, in popularity, 
but I have always been overwhelmed by the 
response	 that	 I	 have	 received	 in	 Delhi.	 My	
performances have always been applauded by 
packed	houses	in	the	Capital,”	he	opines.

Word Meaning

Terms—'krZ] legendary—ikSjkf.kd] to 
perform—fu"iknu djuk] fØ;kfUor djuk] 
exaggerated—vfr'k;ksfDriw.kZ] impure—
nwf"kr] v'kq¼] tampared with—foy;u] 
maestra—laxhrK] dykdkj] interaction—
ijLijfØ;k] amazing—foLe;dkjh] over-
whelmed—vHkhHkwr] applauded—ljkguk] 
rkyh ctkdj iz'kalk djuk] opine—fopkj 
djukA

 123. Something that was used in ancient times 
and is now no longer used :

	 	 (A)	modern	 (B)	 tradition
  (C) classical (D) none of these
 124.	 Which	one	of	the	following	is	a	secondary	

derivative	?
	 	 (A)	 response	 (B)	 capital
  (C) younger (D) art
 125. The information presented here about 

Birju	Maharaj	can	be	found	in	a/an	:
  (A) encyclopaedia
	 	 (B)	autobiography
  (C) newspaper article
  (D) diary
 126. The observation that ‘dance is 

adulterated’ means that the dance form 
is :

	 	 (A)	performed	only	in	films
	 	 (B)	suitable	to	be	performed	by	adults
  (C) not practiced according to tradition
  (D) found in adult entertainment
 127. A ‘packed house’ during his perfor-

mance suggests that it was :
  (A) exceeding allotted time
	 	 (B)	well	attended
	 	 (C)	jammed	in	tightly
	 	 (D)	filled	into
 128. The younger dancers have ‘presence of 

mind’ means that they
  (A) can combine to perform in the 

traditional and modern styles
	 	 (B)	 are	 calm	 while	 they	 prepare	 to	

perform
  (C) are open to learning the pure form of 

the dance
  (D) prefer traditional styles of dancing

 129. A word that can replace the phrase 
‘tampered with’ in the passage is :

	 	 (A)	disturbed	 (B)	misused
	 	 (C)	falsified	 (D)	misrepresented
 130. An antonym for the word ‘showcased’ is :
	 	 (A)	abridged	 (B)	withheld
  (C) advertised (D) published
 131. A synonym for the word ‘inspired’ from 

the text is :
	 	 (A)	received	 (B)	divided
  (C) adulterated (D) impressed

Passage-16

Something is radically wrong with the 
entire structure of human relationships that 
make man delight in killing man, whether it 
be in the name of civilization or religion or 
anything else. Two wrongs do not make a right, 
hatred must beget hatred. It is this fundamental 
truth that women have got to bring home to 
the people in their respective countries. No 
peace treaties can avail that have revenge as 
their basis and self righteous arrogance and 
hypocrisy	in	the	so	called	victors.	But	women	
are the natural preservers of Life.

Word Meaning

radically—ekSfyd :i ls] delight—g£"kr ;k 
vkuafnr djuk] religion—/keZ] iaFk] beget—
mRiUu djuk] treaty—lfU/k] avail—izkIr 
djuk] revenge—izfr'kks/k] righteous—
U;k;laxr] arrogance—vfHkeku] hypocrisy—
ik[k.M] preserver—laj{kdA

 132. Choose the word which is the most nearly 
the same meaning as the word ‘righteous’ 
as used in passage :

	 	 (A)	virtuous	 (B)	 corrupt
  (C) slut (D) unfair
 133.	 Which	one	of	the	following	words	is	spelt	

correctly	?
	 	 (A)	avail	 (B)	 aveil
  (C) aviel (D) evail
 134. The expression “Two wrongs do not 

make	a	right”	means	that	:
  (A) a wrong action in retaliation does 

not mend matters.
	 	 (B)	 hatred	 destroys	 the	 person	 who	

perpetrates it.
  (C) a tit for tat policy aggravates hatred.
  (D) even repeated assertions of a wrong 

statement do not make it right.
 135.	 Which	word	 is	 opposite	 in	meaning	 to	

‘preserver’	as	used	in	the	passage	?
	 	 (A)	enemy	 (B)	destroyer
  (C) rival (D) belligerent
 136.	 Which	 of	 the	 following	would	 sum	 up	

most suitably the central idea of the 
passage	?

  (A) The role of women in the world of 
hatred and violence

	 	 (B)	Man’s	instinct	of	destroying	others
  (C) Hatred leads to further hatred
	 	 (D)	The	significance	of	peace	treaties

Passage-17

The massive fort of Jodhpur looked 
down from the hill at the new city which had 
sprawled out around the old one. The desert 
lay beyond the city. It crouched there like a 
lion, and was the colour of one, its rippled 
tawny	 pelt	 flea-specked	 here	 and	 there	 with	
small clumps of scrub. A gritty wind blew out 
of	it,	little	rivers	of	sand	eddied	briefly	down	
the pavements, then were snatched back into 
the	air	 and	flung	 like	challenge	 to	 the	 south.	
At the edge of the city, herds of camels twined 
their long necks around stunted trees, as 
though they were snakes. Then there were no 
more trees. Tall whirl-winds of sand marched 
down towards us from the horizon.

The desert enclosed us for the next ten 
days. There was a glare and dazzle on the 
skyline at dawn, then the ferocious eye of 
summer opened for a long look at its domain. 
For	 the	 next	 twelve	 hours	 it	 scowled	 down	
at	 the	 sand.	We	 closed	 our	 eyes,	 visualized	
shadow and water, narrowed them open once 
more to the parch and scald of the desert wind. 
The shifting wind caused the dunes constantly 
to collapse and reform, or drifted them lazily 
out as bulwarks across the road. The car had 
to stop at frequent intervals, so that we could 
clear the heaped sand away, or because one of 
the tyres, hissing on the burning surface of the 
tarmac, had exploded. During those prolonged 
and sweaty intervals by the roadside, we were 
passed, sometimes, by the ghostly herds of 
livestock moving south.

Word Meaning

massive—e/;dk;] fo'kky] looked down—
uhps ns[kk] sprawled—vO;ofLFkr :i ls iSGy 
tkuk] crouched—ncd] >qdko] gritty—
jsrhyk] fdlfdlk] flung—QVdk] isaGdku] whirl 
winds—pØokr] coaMj] marched—owGp fd;k] 
glare—ped] dazzle—pdkpkSa/k] ferocious—
mn.M] ozwGj] domain izkUr] fj;klr] scowled 
down—xqLls ls ns[kuk] parch and scald—
>qylkuk] dune—Vhyk] ckywowGV] bulwarks—
pkjnhokjh] ijdksVk] tarmac—iDdh lM+d] 
prolonged—nh?kZdkyhuA

 137.	 Which	one	of	the	following	is	a	secondary	
derivative	?

	 	 (A)	collapse	 (B)	 reform
  (C) desert (D) back 
 138.	 Which	one	is	the	compound	word	among	

the	following	?
	 	 (A)	 tall	 (B)	 shadow
  (C) whirl-winds (D) tarmac
 139.	 The	only	objects	that	actually	broke	the	

monotony of the vast desert were ..........
  (A) lions living in it
	 	 (B)	rivers	of	sand	in	it.
  (C) clumps of scrub here and there
  (D) shadow and water.
 140.	 Between	the	fort	and	the	desert	there	is/

are :
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	 	 (A)	a	hill	 (B)	two	cities
  (C) three cities (D) no city
 141. ......... are compared to snakes.
  (A) Herds of camels
	 	 (B)	Edges	of	the	city
  (C) Stunted trees
  (D) Long necks of camels
 142. The narrator’s style of description is :
	 	 (A)	scholarly	 (B)	poetic
  (C) philosophic  (D) analytical
 143. ‘............. The new city which had 

sprawled	..........’	Which	part	of	speech	is	
the	bold	word	in	the	above	clause	?

	 	 (A)	Noun	 (B)	Pronoun
	 	 (C)	Adjective	 (D)	Conjunction
 144. The desert enclosed us for the next ten 

days. Voice in the above sentence has 
been correctly changed in :

	 	 (A)	We	were	enclosed	by	the	desert.
	 	 (B)	We	had	been	enclosed	by	the	desert.
  (C) The desert had been enclosed.
  (D) The desert was enclosed by us.

Passage-18

Raja	Ram	Mohan	Roy	is	considered	the	
pioneer of modern Indian Renaissance for 
the remarkable reforms he brought about in 
the	 18th	 century	 India.	 Among	 his	 efforts,	
the	 abolition	 of	 the	 Sati-pratha–a	 practice	 in	
which	 the	widow	was	 compelled	 to	 sacrifice	
herself	on	the	funeral	pyre	of	her	husband–was	
prominent.	His	efforts	were	also	instrumental	
in eradicating the Purdah system and child 
marriage.	 In	 1828,	Ram	Mohan	Roy	 formed	
the	 Brahmo	 Samaj,	 a	 group	 of	 people,	 who	
had no faith in idol-worship and were against 
the caste restrictions.

Raja	 Ram	 Mohan	 Roy’s	 father	 was	 a	
wealthy	 Brahmin	 and	 strictly	 performed	 the	
duties	set	by	the	religion.	Ram	Mohan	himself	
was also devoted to Lord Vishnu and in his 
14th	year,	 he	wanted	 to	 become	 a	monk	but	
his	mother,	Tarini	Devi	objected	to	his	desire.

Ram	 Mohan	 viewed	 education	 as	 a	
medium to implement the social reforms. 
So,	 in	 1815,	 Ram	 Mohan	 came	 to	 Calcutta	
and the very next year, started an English 
College by putting in his own savings. He 
was well aware that the students should learn 
the	 English	 language	 and	 scientific	 subjects	
and that’s why he criticised the government’s 
policy of opening only Sanskrit schools. 
According to him, Indians would lag behind 
if	 they	 do	 not	 get	 to	 study	 modern	 subjects	
like	Mathematics,	Geography	and	Latin.	The	
government	accepted	this	idea	of	Ram	Mohan	
and also implemented it but not before his 
death.	Ram	Mohan	was	also	 the	first	 to	give	
importance to the development of mother 
tongue.	 His	 Gaudiya	 Byakaran	 in	 Bengali	
is the best of his prose works. Rabindranath 
Tagore	 and	Bankimchandra	 also	 followed	 in	
the	footsteps	of	Ram	Mohan	Roy.

Ram	Mohan	Roy	was	a	staunch	supporter	
of free speech and expression and fought for 
the rights of Vernacular Press. He also brought 

out	 a	 newspaper	 in	 Persian	 called	 Miratul-
Akhbar	 (the	Mirror	 of	News)	 and	 a	Bengali	
weekly	called	Sambad	Kaumudi	(the	Moon	of	
Intelligence). In those days items of news and 
articles had to be approved by the government 
before	being	published.	Ram	Mohan	protested	
against this control by arguing that newspapers 
should be free and that the truth should not be 
suppressed simply because the government 
did not like it.

Word Meaning

pioneer—vxznwr] iFkizn'kZd] indian  
renaissance—Hkkjrh;] iqutkZxj.k] 
remarkable reforms—mYys[kuh; lq/kkj] 
brought about—lEikfnr djuk] abolition—
mUewyu] compelled do—ck/; djuk] funeral 
pyre—fprk] prominent—ç[;kr] eq[;r%] 
eradicating—mUewyu djuk] fuewZy djuk] 
staunch supporter—dV~Vj leFkZdA

 145.	 Raja	Ram	Mohan	Roy	is	known	for	his	:
  (A) economic reforms
	 	 (B)	literary	reforms
  (C) political reforms
  (D) social reforms
 146.	 When	 he	 was	 a	 teenager,	 Raja	 Ram	

Mohan	 Roy	 expressed	 his	 desire	 to	
become a :

	 	 (A)	journalist	 (B)	monk
  (C) teacher (D) businessman
 147.	 Raja	 Ram	 Mohan	 Roy	 believed	 that	

Indians would lag behind if they :
  (A) forgot their cultural roots
	 	 (B)	did	not	learn	traditional	skills
  (C) gave up study of Sanskrit
	 	 (D)	did	not	study	modern	subjects
 148.	 Raja	Ram	Mohan	Roy	strongly	supported
  (A) rituals and observances
	 	 (B)	physical	education
  (C) freedom of speech and expression
  (D) moral education
 149.	 Which	synonym	of	the	word	renaissance	

is	misspelt	?
	 	 (A)	reuvenation	 (B)	renewal
  (C) comeback (D) alternation
 150. Choose the one word which means-

women	whose	husband	is	died	?
	 	 (A)	widow	 (B)	lady
  (C) spinster (D) None of these
 151.	 Which	 one	 of	 the	 following	 is	 a	

compound	word	?
	 	 (A)	restrictions	 (B)	idol-worship
	 	 (C)	viewed	 (D)	scientific

Passage-19

There is no short cut to success. The 
route to success is hard and long. Consistent 
hard work is the main secret of success. 
Those who shun work are bound to fail. The 
second ingredient of success is perseverance. 
Perseverance is the steadfast pursuit of an 
aim without any let-up or hindrance. There 

may	 be	 difficulties,	 obstacles,	 hurdles	 and	
barriers in your path, but you don’t have to get 
discouraged,	disheartened	and	frightened.	You	
have to push on with fortitude. Temptations 
of	comfort	and	enjoyment	have	to	be	brushed	
aside.

Another important and indispensible 
requirement for success is concentration. All 
your attention and energy should be riveted 
to	 your	 aim	 in	 life.	You	 should	 not	 be	 able	
to think of anything except your goal. No 
digressions and deviations.

Word Meaning

hard and long—tfVy] shun—cpuk] 
udkjuk]  ingredient—la?kVd] vo;o] let up 
or hindrance—Îkl vkSj vojks/k] frightend—
Hk;Hkhr] temptations—çyksHku] fortitude—
èkS;Z] lgu&'kfDr] indispensible—vifjgk;Z] 
concentration—,dkxzrk] riveted—[k¡wVh ls 
tM+uk] /;ku vkd£"kr djuk] digressions and 
deviation—fo"k;kUrj vkSj fopyuA

 152. In the above paragraph the word ‘second’ 
indicates :

	 	 (A)	sequence	 (B)	addition
  (C) emphasis  (D) time
 153.	 Which	one	of	the	following	is	the	most	

appropriate	title	for	the	passage	?
  (A) Aim of life
	 	 (B)	Hard	work	and	success
  (C) Shortcut of success
  (D) The secret of success
 154. Hard work ...... in success.
	 	 (A)	result	 (B)	results
  (C) resulted (D) None of these
 155. In the above passage the author wants to 

convey :
  (A) success is the result of hard work
	 	 (B)	perseverance	is	essential	for	success
  (C) to get success, get rid of all obstacles
  (D) All of the above
 156. People do hard work, hard work is 

essential for success, so people are hard 
working. Above lines contain :

  (A) the fallacy of hasty generalization
	 	 (B)	the	fallacy	of	false	analogy
  (C) the fallacy of equivocation
  (D) the fallacy of composition.
 157. Another important and indispensible 

requirement for success is :
	 	 (A)	energy	 (B)	attention
  (C) courage (D) concentration
 158.	 The	synonym	of	‘Fortitude’	is	:
	 	 (A)	Fear	 (B)	cowardice
  (C) Patience (D) weakness
 159. The opposite of ‘success is :
	 	 (A)	achievement	 (B)	gain
  (C) forfeit (D) winner
 160.	 Which	one	of	the	following	is	a	secondary	

derivative	?
	 	 (A)	requirement	 (B)	path
  (C) another (D) goal
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Passage-20

Raja	Ravi	Verma	was	the	Indian	King	and	
painter whose paintings brought a momentous 
turn in Indian art. His works on great Indian 
epics	 Ramayana	 and	 Mahabharata	 brought	
the omnipresent deities to the surroundings of 
earthy world. This showed excellent fusion of 
Indian traditional art with European realism. 
These	 paintings	 influenced	 future	 generation	
artists	 and	 also	 influenced	 the	 literature	 and	
films.	 His	 representation	 of	 mythological	
characters has become a part of the Indian 
imagination of the classics. His style is 
criticized for being too gaudy and sentimental.

Ravi Verma was born on April 29th, 
1848	 in	 Kilimanoor	 Palace	 in	 Kerala.	 Ravi	
Verma was brought up in an environment of 
art and culture. At the age of seven he started 
painting	the	figures	of	animals,	acts	and	scenes	
from daily life on the wall with charcoal. As 
he grew up, he was exposed to the famous 
paintings of Italian painting. Here he was using 
indigenous	paints	made	from	leaves,	flowers.	
He enhanced his creativity by listening to the 
music of veterans, watching Kathakali, a folk 
dance form, going through the manuscripts 
preserved in ancient families and listening to 
the artistic interpretation of the epics.

Raja	Ravi	Verma	is	most	remembered	for	
his paintings of beautifully sari-clad women, 
who were depicted as graceful and shapely.

Word Meaning

momentus—egÙoiw.kZ] omnipresent—
loZ=] fusion—foy;] traditional art—
ikjEifjd dyk] mythological—,sfrgkfld 
ikSjkf.kd] gandy—HkM+dhyk] indigenous—
Lons'kh] enhanced—ifjÏr] c<+k gqvk] 
interpretation—çLrqrhdj.k] fuoZpu] epics—
xzUFk] egkdkO;A

 161. In the extract, ‘artistic interpretation of 
the epics’ means he was interested in :

  (A) unusual and rare myths found in 
legends.

	 	 (B)	 popular	writing	of	his	time.
  (C) unique rendering of old mythologies.
  (D) standards interpretation of the 

Indian epics.
 162.	 Find	a	word	in	the	passage	which	is	the	

opposite of ‘minimized’ :
	 	 (A)	enhanced	 (B)	influenced
  (C) criticized (D) exposed
 163. The article is a/an
	 	 (A)	autobiography	 (B)	fiction
  (C) essay (D) biography
 164.	 The	focus	is	on	the	subject’s	association	

with :
  (A) dance (Kathakali)
	 	 (B)	sculpture
  (C) painting
  (D) music
 165. The themes of Ravi Verma’s famous 

paintings were :

	 	 (A)	female	figures
	 	 (B)	deities
  (C) animals and habitats
  (D) natural scenery
 166. He was especially able to access histori-

cal documents in the possession of :
  (A) his family members in Kilimanoor
	 	 (B)	national	museums	that	curate	them
  (C) certain individuals
  (D) families who inherited them
 167. As he matured in his craft, Ravi Verma’s 

skills	were	influenced	by	:
  (A) Ancient manuscripts
	 	 (B)	Italian	artists
  (C) Indian cinema
  (D) None of these
 168. ‘His style is criticized for being too 

gaudy and sentimental’ means that his 
work was characterized by :

  (A) strong colours and emotionally 
appealing

	 	 (B)	 pale	colours	and	sad	atmosphere
  (C) unrealistic images
  (D) lacking intellectual and emotional 

depth
 169. A synonym for ‘omnipresent’ is :
	 	 (A)	magnificent	 (B)	conspicuous
  (C) universal (D) partly invisible
 170.	 Which	 one	 of	 the	 following	 words	 is	

spelt	correctly	?
	 	 (A)	environment	 (B)	figurs
  (C) indegenous (D) anecient
 171.	 “Sentimental”	is	formed	from	the	word	:
	 	 (A)	sentement	 (B)	sentiment
  (C) sintimono (D) None of these
 172. Choose the one word which means one 

present everywhere :
	 	 (A)	omnipresent	 (B)	atheist
  (C) ascetic (D) braggart

Answers with Explanation

 1. (C) The writer’s message in his/her 
essay is about need for struggles in 
life.

 2. (D) The essay is discursive in form.
 3.	 (A)		A	man	noticed	that	the	butterfly	was	

emerging.
 4.	 (C)		The	man’s	first	instinct	was	to	help	

the	butterfly.
 5.	 (B)		The	natural	process	would	have	the	

wings	of	the	butterfly	are	unfold	and	
stretch out.

 6. (A)  A word that means to make or 
become withered is ‘shriveled’.

 7. (C) a determiner
 8. (A) verb
 9.	 (C)	 past	indefinite
 10. (D) None
 11. (A) liberty
 12.  (C)  Socially powerful people try to 

maintain their privileged position by 

maintaining control over education 
systems.

 13.  (A)  The underprivileged sections 
have to reconcile to their inferior 
status because they are unable to 
effectively	 utilize	 the	 education	
system.

 14. 	(D)		Neither	(A)	nor	(B)
 15. 	(B)		While	 writing	 a	 notice,	 the	 writer	

should prefer passive voice.
 16. 	(B)		Disclosures	 in	 a	 letter	 is	 added	

below the signature and at the left 
side of the margin.

 17.  (A)  Phonetics is basically associated 
with sounds because phonetics 
refers to a branch of linguistics and 
it	deals	with	proper	scientific	study	
of sounds associated with human  
speech.

 18.	 (B)	 present	indefinite	tense
 19. (D) a preposition
 20.	 (C)	 conjunction
 21.	 (A)	Article,	adjective,	adverb
 22.  (A)  In the passage the author compares 

India with Germany.
 23.  (D)  One of the reasons why there are 

many dialects in India is illiteracy. 
 24. 	(B)		The	Dravidian	languages	have	been	

greatly	influenced	by	Sanskrit.	This	
makes them superior to the Indo- 
Aryan languages.

 25.  (A)  India has far too many languages. 
This statement is true according to 
the given passage.

 26. 	(A)		But	 is	 a	 part	 of	 speech	 (This	 is	 a	
conjunction	 which	 gives	 contra-
dictory sense.)

 27. 	(B)		Superior	 means	 good	 quality,	
exclusive, Opposite is inferior ; vast 
means gigantic huge, enormous, 
grand. din means uproar, hubclub.

 28.  (C)  ‘Too’ is used in Negative sense. 
It is an adverb and too is always 
followed by ‘to’.

 29. 	(A)		Far	means	distant,	Opposite	is	near,	
top means elite, chief; below means 
down, underneath; bottom means 
base, basic.

 30.	 (D)	a	conjunction
 31.	 (B)	 a	relative	pronoun
 32. (C) present perfect
 33. (C)  The principle of weight training is 

helping the body adapt to increased 
stress.

 34. 	(A)		Weight	 training	makes	 the	muscles	
thicker and stronger.

 35.  (A)  During weight training the heart 
pumps required blood.

 36. 	(D)		A	stronger	and	more	efficient	heart	
needs fewer beats to pump the same 
amount of blood.

 37. 	(A)		When	 neural	 paths	 become	 more	
effective	 the	brain	employs	various	
muscles easily for physical tasks.
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 38. 	(B)		The	term	‘well-oiled’	in	the	passage	
denote ‘Greased’.

 39.  (A)  The most appropriate title for the 
passage	 is	 ‘The	 Mechanics	 of	
Weight	Training’.

 40.  (C)  The above passage suggest we 
should carry out physical exercise 
as a routine.

 41. 	(B)		The	word	wondrous	in	first	line	is	an	
adjective.

 42. (C) Positive
 43. (C) Essence
 44.	 (C)	 Faster	and	stronger
 45. (D) 3
 46. (A) Comparative degree
 47.	 (B)	 Possessive	adjective
 48.	 (A)	Frailty
 49.	 (B)	 an	abstract	noun
 50.	 (B)	 an	adjective
 51.	 (C)	 present	indefinite	tense
 52. (C) 2
 53.	 (B)	 Present	perfect
 54.	 (B)	 Objective	case
 55.  (C)  Our systems operate satisfactorily, 

when we are properly hydrated.
 56.  (D)  The best way to lose weight is to 

drink plenty of water.
 57. 	(D)		When	we	are	dehydrated,	we	 think	

we need food.
 58.	 (C)	 Both	(a)	and	(c)
 59.	 (A)	Present	indefinite	tense
 60. (C) Participle
 61. (A) the large creatures emerge victorious 

from the struggle for survival
 62.	 (D)	 It	cannot	be	seen	when	it	is	in	flight.
 63. (A) maintain their body metabolism
 64.	 (B)	 their	 pulse	 rate	 is	 more	 than	 1000	

per minute.
 65. (C) unbelievable
 66. (A) small
 67. (A) noun
 68.	 (A)	present	indefinite
 69. (D) literate
 70.	 (B)	a	noun
 71. (B)	 Present	perfect
 72. (C) the
 73. (C) Superlative
 74. (C)	an	adjective
 75. (C) determiner
 76. (B)	 of	 which	 many	 of	 our	 neighbours	 

	 had	been	deprived	off
 77. (A) growth
 78. (B)	 illiterate
 79. 	(B)		The	 bearded	 man	 was	 the	 king’s	

enemy.
 80.  (C)  The king washed and dressed the 

wound because he wanted to help a 
wounded man.

 81.  (D)  The bearded man asked for the 
king’s forgiveness because while he 
wished to kill the king, it was the 
king who saved his life.

 82.  (A)  The bearded man swore revenge 
on the king because the king put 
his brother to death and seized his 
property.

 83.  (D)  The king was very glad because he 
had helped a wounded man.

 84.	 (B)	 Preposition
 85.	 (A)	Past	indefinite
 86. (C) Comparative
 87. (A) Treacherous
 88. 	(B)		The	 expression	 isn’t	 the	 be-

all………..’’ is an assumption that 
pertains to the teachers point of 
view.

 89. (C)  Here the fallback position is the 
system where teachers, even if 
caught out unexpectedly, are still.

 90. (D)  Here able to admit defeat implies 
teachers	should	be	confident	enough	
to own up to their ‘unpreparedness’.

 91.	 (B)		Here,	 orchestrating	 the	 class	
suggests the whole class performing 
uniformly well.

 92.	 (B)		Here	asks	a	real	stinker	suggests	that	
students can be better informed than 
their teachers.  

 93. (A)  ‘Entitles’ in the passage can be 
replaced as warrants, which means 
justification	 or	 an	 authority	 for	
action, belief or feeling.

 94. (C)  The writer’s view here means 
trustee and their employee owe each 
other support.

 95. (A)  Antonym of the word unshakable 
is	 ‘vulnerable’.	 Difficult	 means	
complicated,	 intricate;	 effective	
means intended result; helpful 
means promotor or supporter.

 96. (A)  Here framework refers to the overall 
school curriculum.

 97. (C) a
 98.	 (B)	 pronoun
 99. (A) assist
 100.	 (B)	 Emotion
 101.  (D)  ‘Emotional Support’ suggests 

sympathy.
 102.		(D)		Antonym	 of	 general	 is	 specific,	

particular. Improve means make or 
become better. Nature means basic 
or inherent features. Simple means 
easily understood, facile.

 103.  (D)  Defensive means expressing anger.
 104.  (D)  ‘Of a nature’ means typically.
 105. (C) higher
 106. (A) classroom
 107.		(B)		Dubious	means	uncertain,	doubting;	

Undoubted means unable not 
question or doubted by anyone; 
unarguable means indisputable; 
undeniable means unable to be 
denied.

 108.  (D)  Opposite of sophisticated is facile. 
Sophisticated means stagy, Svelte, 
Artificial,	 Nature,	 Stylish	 means	

fashionable	elegant.	Difficult	means	
complicated, intricate.

 109. 	(C)		The	 major	 concern	 reflected	 in	
the passage is the gap between 
different	 sections	 in	 Indian	 society	
is increasing and Indian children do 
not	enjoy	common	future.

 110. (D) compound word
 111.	 (B)	 afluent
 112. 	(B)		Synonym	of	brave	is	valiant.	Bold,	

Courageous.	 	Hard	Working	means	
Laborious, Diligent; Enthusiastic 
means Interest or Approval. 
Prosperous	means	Wealthy.

 113. 	(C)		Antonym	 of	 Bright	 is	 dull	 (Bright	
means Shiny, Glossy.)

   Colourful means full of interest 
lively; Transparent means lucid. 
Dark	means	Bleak.

 114. 	(A)		‘Definition’	 is	 correctly	 spelt	
word, which means the degree of 
distinctness	 in	outline	of	an	object,	
image or sound.

 115.  (D)  Noun form of Simple is Simplicity.
 116.  (D) The way of living means lifestyle, 

Lifelike means very similar to 
the person or  thing  represented; 
Livelihood means a means of 
securing the necessities of life; 
Liveliness means energetic, 
enthusiastic.

 117. (A)		Music	 is	 a	 noun	 its	 adjective	 is	
Musician.

 118. (A) light
 119. (C) a compound word
 120. 	(C)		Mahatma	Gandhi	is	referred	as	‘the	

Mighty	Soul’	in	the	passage	He	was	
done to death because the poison of  
hatred and enmity had.

 121. 	(B)		We	 learn	 from	 Gandhiji	 that	 we	
must have no ill-will or enmity 
towards any person.

 122.  (C)  Poison referred in the passage is 
Hatred and ill-will towards other 
persons.

 123. (C) classical
 124. (C) younger
 125.  (C)  The information presented here 

about	Birju	Maharaj	can	be	found	in	
a newspaper article.

 126.  (C)  The observation that ‘dance is 
adulterated’ means that the dance 
form is not practiced according to 
tradition.

 127. 	(B)		A	 ‘packed	 house’	 during	 his	
performance suggests that it was 
well attended.

 128. 	(C)		The	Younger	dancers	have	‘presence	
of mind’ means that they are open to 
learning the pure form of the dance.

 129.  (D)  Tampered with which can be 
replaced by misrepresented. 
Disturbed	 means	 upset,	 falsified	
means alter information or 
documents so as to mislead; misused 
means use in wrong way or purpose.
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 130. 	(B)		An	 antonym	 for	 the	 word	
‘showcased’ is withheld means 
refuse to give something, abridged 
means curtail or shorter without 
losing  the sense; published means 
prepare for public sale, advertised 
means draw attention, in public.

 131.  (D)  Synonym of inspired is impressed, 
received means be given, paid 
something; adulterated means make 
impure debase, divided means to be 
separated.

 132. (A) virtuous
 133. (A) avail
 134.  (D)  ‘Two wrongs do not make a right’ 

this expression means even repeated 
assertions of a wrong statement do 
not make it right.

 135. 	(B)		Preserver	 means	 conserver.	
Oppostite is destroyer; enemy 
means foe, emulator. Rival means 
equal, opposed.

 136.  (C)  The central idea of the passage is 
Hatred leads to further hatred.

 137.	 (B)	 reform
 138. (C) whirl-winds
 139. 	(C)		The	only	objects	that	actually	broke	

the monotony of the vast desert 
were clumps of scrub here and there.

 140. 	(A)		Between	the	fort	and	the	desert	there	
is a hill.

 141. 	(B)		Edges	 of	 the	 city	 are	 compared	 to	
snakes.

 142. 	(B)		The	narrator’s	style	of	description	is	
poetic.

 143. 	(B)		The	 bold	 word	 ‘which’	 refers	 to	
pronoun (Relative Pronoun)

 144. 	(A)		We	 were	 enclosed	 by	 the	 desert	
(Case of Simple Past Tense).

 145. 	(D)		Raja	Ram	Mohan	Roy	is	known	for	
his social reforms.

 146. 	(B)		When	he	was	a	teenager,	Raja	Ram	
Mohan	Roy	expressed	his	desire	to	
become a monk.

 147. 	(B)		Raja	Ram	Mohan	Roy	believed	that	
Indians would lag behind if they did 
not learn traditional skills.

 148. 	(C)		Raja	 Ram	 Mohan	 Roy	 strongly	
supported freedom of speech and 
expression.

 149. (A)  reuvenation
 150. (A)  widow
 151. (B)		idol-worship
 152.  (A)  In the paragraph the word  ‘second’ 

indicates sequence.
 153.  (D)  Appropriate Title for the passage is 

‘The Secret of Success’.
 154. 	(B)		Hard	work	results	 in	success	(Case	

of	Present	Indefinite	Tense).
 155.  (D)  In the passage the author wants to 

convey that success is the result of 
hard work, perseverance is essential 
for success and to get success, 
get rid of all obstacles. (All of the 
above)

 156.  (A)  People do hard work …………. 
these lines contain the fallacy of 
hasty generalization.

 157.  (D)  Concentration.
 158.  (C)  Patience.

 159.  (C)  The opposite of success is forfeit.
 160. (A)  requirement.
 161. (C)  In the extract ‘artistic interpretation 

of the epics means he was interested 
in unique rendering of old mytholo-
gies.

 162. (A)  Opposite  word of ‘minimized’ is 
enhanced minimized means curtail, 
concise, compact, reduce.

 163.  (C)  The article is an essay.
 164. 	(C)		The	 focus	 on	 the	 subject’s	

association with painting.
 165. 	(B)		The	themes	of	Ravi	Verma’s	famous	

paintings were deities.
 166. (D) He was especially able to access 

historical documents in the 
possession of families who inherited 
them.

 167. 	(B)		As	 he	 matured	 	 in	 his	 craft,	 Ravi	
Verma’s	 skills	 were	 influenced	 by	
Italian artists.

 168.  (A)  His style is criticized for being 
too gaudy and sentimental means 
that his work was characterized 
by strong colours and emotionally 
appealing. 

 169. (C)  A synonym for omnipresent is 
universal, wide spread. Partly 
invisible means conspicuously 
hidden.	 Magnificient	 means	
excellent, extremely beautiful. 
Conspicuous means clearly visible.

 170. (A)  environment
 171. (B)		sentiment
 172. (A)  omnipresent

rr
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1.  ;kaf=dh  
(Mechanies)

I.	 HkkSfrd jkf'k;k¡ (Physical Quantities) 

	 nqfu;k	esa	tks	Hkh	dqN	ekiuh;	gS]	HkkSfrd	jkf'k	gSA

	 ;g	jkf'k	nks	izdkj	dh	gksrh	gSa&

(i)  vfn'k jkf'k (Scalar Quantities)µblesa	 dsoy	 ifj.kke	

gksrk	gS]	fn'kk	ugha_	tSls&æO;eku	(Mass)]	?kuRo	(Density)]	

bR;kfnA

(ii)  lfn'k jkf'k (Vector Quantities)µblesa	 fn'kk	 o	ifj.kke	

gksrk	 gSa]	 tSls&foLFkkiu	 (Displacement)]	 osx	 (Velocity)]	

bR;kfnA

	 fdlh	jkf'k	osG	ekiu	osG	 funsZ'k	ekud	dks	ek=d	 (Unit)	dgrs	gSaA	

ek=d	nks	izdkj	osG	gksrs	gSaµ

(A)	ewy ek=d

 ewy	ek=d	(Basic Unit)	mu	jkf'k;ksa	dks	dgk	tkrk	gS	rFkk	tks	

LorU=	gksrs	gSa]	tks	 fdlh	nwljh	jkf'k	ij	fuHkZj	ugha	djrs	gSa]	

tSlsµyEckbZ]	æO;eku]	le;A

(B)	 O;qRiUu ek=d

 O;qRiUu	ek=d	 (Derived Unit) mu	jkf'k;ksaa	dks	dgrs	gSa]	tks	

ewy	ek=dksa	dh	lgk;rk	ls	O;ä	fd;s	tkrs	gSa_	tSlsµRoj.k]	osx]	

vkosx	bR;kfnA

2.  ek=d i¼fr;k¡  
(Units Systems)

I. CGS i¼fr (lseh&xzke&lsd.M i¼fr)µbl	 i¼fr	 esa	 yEckbZ	

lseh	esa]	æO;eku	xzke	esa	o	le;	lsd.M	esa	ekik	tkrk	gSA	bls	ehfVªd	

;k	Ýsap	i¼fr	Hkh	dgk	tkrk	gSA

II. FPS i¼fr (QqV&ikm.M&lsd.M i¼fr)µbl	i¼fr	esa	yEckbZ	

QqV	esa]	æO;eku	ikm.M	esa	rFkk	le;	lsd.M	esa	ekik	tkrk	gSA	;g	

i¼fr	fczfV'k	i¼fr	osG	uke	ls	Hkh	tkuh	tkrh	gSA

III. MKS i¼fr (ehVj&fdyksxzke&lsd.M i¼fr)µbl	 i¼fr	 esa	

yEckbZ	 ehVj	esa]	 æO;eku	 fdyksxzke	esa	 rFkk	le;	lsd.M	esa	 ekik	

tkrk	gSA	oSKkfud	ekiksa	esa	bldk	vfèkd	iz;ksx	fd;k	tkrk	gSA	nwjh	osG	

oqGN	NksVs	o	cM+s	ek=d	fuEufyf[kr	gSaµ

l	 izdk'k o"kZ (Light Year)µfuokZr	esa	izdk'k	osG	}kjk	,d	o"kZ	esa	

r;	dh	xbZ	nwjh	gSA	bldk	eku	9·46 × 1015 m osG	cjkcj	gksrk	
gSA

l	 [kxksyh; bdkbZ (Astronomical Unit)µlw;Z	 ls	 i`Foh	 osG	
chp	dh	vkSlr	nwjh	gSA	bldk	eku	1·496 × 1011m osG	cjkcj	
gksrk	gSA

l ikjlsd (Parsec)µ;g	 ikjysfDVd	 lsd.M	 dk	 laf{kIrk{kj	
gksrk	gSA	bldk	eku	3.26 izdk'k	o"kZ	(Light Year) osG	cjkcj	
gksrk	gSA	;g	nwjh	dk	lcls	cM+k	ek=d	gksrk	gSA	1 ikjlsd	= 
3.08 ×1016m 

l QehZehVj (Fermimeter)µfdlh	 ijek.kq	 osG	 ukfHkd	
(Nucleus)	osG	vkSlr	O;kl	dks	,d	QehZehVj	esa		ekik	tkrk	gSA	
bldk	eku	10–15m osG	cjkcj	gksrk	gSA

l	 QSne (Fathom)µbldk	 iz;ksx	 leqæ dh xgjkbZ ekius	 esa	
fd;k	tkrk	gSA	,d	QSne	6 QhV	;k	1.828m osG	cjkcj	gksrk	gSA

l	 1 osGcy	= 100	QSne

l	 leqæh ehy (Nautical mile)µleqæ	 esa	 nwjh	 ekius	 esa	 bldk	

iz;ksx	fd;k	tkrk	gSA	,d	leqæh	ehy	dk	eku	1852m osG	cjkcj	

gksrk	gSA

rsy dh eki

	l	rsy	dh	eki	lkekU;r%	cSjy esa	dh	tkrh	 gSA	rsy	osG	1 cSjy	esa	
158·987295 yhVj	vFkkZr~	yxHkx	159 yhVj	gksrs	gSaA

egRoiw.kZ vH;kl iz'u

 1. ,d	QehZehVj	rqY;	gSµ
  (A) 1012 ehVj	ds	 (B) 10–12 ehVj	ds
  (C) 1015 ehVj	ds	 (D) 10–15 ehVj	ds
	 2. gVZ~t	D;k	ekius	dh	;wfuV	gS\
	 	 (A) rjaxksa	dh	rhozrk
	 	 (B) rjaxksa	dh	vko`fÙk
	 	 (C) rjaxnS/;Z

	 	 (D) rjaxksa	dh	Li"Vrk

 3. lwph&I dks	lwph&II ls	lqesfyr	djsa	rFkk	uhps	
fn,	x,	dwV	dk	ç;ksx	djds	lgh	mÙkj	pqfu,µ

	 	 lwph&I lwph&II

  (HkkSfrd jkf'k;k¡) (bdkbZ)

  (a) Roj.k	 (1) twy

	 	 (b) cy	 (2) U;wVu&lsdaM

	 	 (c) Ïr	dk;Z	 (3) U;wVu

	 	 (d) vkosx	 (4) ehVj@lsdaM2

  dwV %
	 	 	 (a) (b) (c) (d)
	 	 (A) 1 2 3 4
	 	 (B) 3 4 1 2
	 	 (C) 2 3 4 1
	 	 (D) 4 3 1 2

	 4. lwph&I dks	lwph&II ls	lqesfyr	dhft,	rFkk	
uhps	fn,	x,	dwV	dk	ç;ksx	djds	lgh	mÙkj	
pqfu,µ

ekiu
v/;k;

1
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	 	 lwph&I (bdkbZ) lwph&II (çkpy)

  (a) okWV	 (1) Å"ek

	 	 (b) ukWV	 (2)	 ukSlapkyu

	 	 (c) ukWfVdy	ehy	 (3) leqæh	 tgkt	dh	 	
	 	 	 xfr

	 	 (d) dSyksjh	 (4) 'kfDr

	 	 dwV %

   (a) (b) (c) (d)

	 	 (A) 3 1 4 2

	  (B) 1 2 3 4

  (C) 4 3 2 1

	  (D) 2 4 1 3

	 5. ,d	ekbØkWu	cjkcj	gSµ

	 	 (A) 	10–6 ehVj	 (B) 		10–8	ehVj

	 	 (C) 		10–3	ehVj	 (D) 		10–12 ehVj

	 6. 1 ihdksehVj	cjkcj	gksrk	gSµ

	 	 (A) 10—6 ehVj	ds (B) 10—9 ehVj	ds

  (C) 10—12 ehVj	ds (D) 10—15 ehVj	ds

 7. /ofu	dh	rhozrk	dks	ekius	okyk	;a=	gSµ

	 	 (A) ØksuksehVj (B) ,uheksehVj

  (C) vkWfM;ksQksu (D) vkWfM;ksehVj

	 8. ikbjfgfy;ksehVj	dk	ç;ksx	 fuEu	esa	ls	 fdls	
ukius	ds	fy,	fd;k	tkrk	gS\

  (A) lu	LikWV	dks

	  (B) lksyj	jsfM,'ku	dks

  (C) gok	rki	dks

	  (D) ikS/kksa	ds	rki	dks

 9. lwph&I dks	lwph&II ds	lkFk	lqesfyr	djsa	

	 	 rFkk	 lgh	 mÙkj	 uhps	 fn,	 x,	dwV	 ls	 p;u	
dhft,µ

	 	 lwph&I lwph&II
  (midj.k@;a=) (ekiu dh xbZ jkf'k)
  (a) ,ehVj	 (1) nkc

	 	 (b) gkbxzkehVj	 (2) Hkkj

	 	 (c) fLçax	rqyk	 (3) /kkjk

	 	 (d) cSjksehVj	 (4) lkis{k	vkæZrk

	 	 dwV %
   (a) (b) (c) (d)
  (A) 2 3 4 1
  (B) 3 4 2 1
  (C) 4 1 2 3
  (D) 1 2 3 4

 10. lqesfyr	dhft,µ

	 	 (a) QSnksehVj	 (1) ok;qeaMyh;	nkc

	 	 (b) cSjksehVj	 (2) ok;qeaMyh;			
	 	 	 vkæZrk

	 	 (c) gkbxzksehVj	 (3) ÅapkbZ

	 	 (d) vYVhehVj	 (4) leqæ	dh	xgjkbZ

	 	 dwV %
   (a) (b) (c) (d)
  (A) 2 3 1 4
  (B) 4 1 2 3
  (C) 4 2 3 1
  (D) 3 1 2 4

	11. fuEufyf[kr	;qXeksa	esa	ls	fdu	HkkSfrd	jkf'k;ksa	ds	
leku	foeh;	lw=	ugha	gS\

	 	 (A) cy	,oa	nkc (B) dk;Z	,oa	ÅtkZ

  (C) vkosx	,oa	laosx (D) Hkkj	,oa	cy

	12. fuEufyf[kr	esa	dkSu&lh	osDVj	ek=k	gS\

	 	 (A) cy	 (B) pky

	 	 (C) ÅtkZ	 (D) rkieku

	13. ,d	ekbØksu	fdlds	cjkcj	gksrk	gS\

	 	 (A) 100 feeh	 (B) 1000 lseh

	 	 (C) 0.01 feeh	 (D) 0.001 feeh

 14. fuEufyf[kr	dk	feyku	dhft,µ

	 	 lwph&I lwph&II

  (a) fjDVj	Ldsy	 1. nkc

	 	 (b) C;wQksVZ	Ldsy	 2. ije	rki

	 	 (c) dsfYou	Ldsy	 3. HkwdEih;	rhozrk

	 	 (d) fefyckj	Ldsy	 4. gok	dh	xfr

	 	 dwV %

   (a) (b) (c) (d)
  (A) 3 4 2 1
  (B) 4 2 1 3
  (C) 1 3 4 2
  (D) 3 4 1 2

 15. ,d	uSuksehVj	(Nanometer) cjkcj	gksrk	gSµ

	 	 (A) 10—9 lseh	 (B) 10—7 lseh

	 	 (C) 109 feeh	 (D) 10—6 lseh

 16. dk;Z	dh	bdkbZ	D;k	gS\

	 	 (A) twy	 (B) okWV~l

	 	 (C) gVZ~t	 (D) fdxzk

 17. 'kfDr	dk	ek=d	gSµ

	 	 (A) gVZ~t	 (B) oksYV

	 	 (C) okV	 (D)	U;wVªkWu

	18. dk;Z	dk	ek=d	gSµ

	 	 (A)	 twy	 (B) U;wVªkWu

	 	 (C) okWV	 (D) Mkbu

	19. ,d	 ikjlsd]	 rkjksa	 laca/kh	 nwfj;k¡	 ekius	 dk	
ek=d]	cjkcj	gSµ

	 	 (A) 4.25 çdk'k	o"kZ	

	 	 (B) 3.25 çdk'k	o"kZ

	 	 (C) 4.50 çdk'k	o"kZ	

	 	 (D) 3.05 çdk'k	o"kZ

 20. ^,fEi;j*	ekius	dh	bdkbZ	gSµ

	 	 (A) oksYVst	 (B) fo|qr	/kkjk

	 	 (C) çfrjks/k	 (D) ikoj

mÙkjekyk
 1. (D)	 2. (B) 3. (D) 4. (C) 5. (C)

 6. (C) 7. (D) 8. (B) 9. (B) 10. (B)

	11. (A)	 12. (A)	 13. (D)	 14. (A) 15. (B)

	16. (A)	 17. (C) 18. (A) 19. (B) 20. (B)

qq
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 VBODMAS fu;e	(VBODMAS Law)

I.	 fdlh	Hkh	O;atd	dks	ljy	djrs	le;	VBODMAS dk	fu;e	fuEu	
Øekuqlkj	iz;ksx	fd;k	tkrk	gSµ

 Øekad ladsr uke ladsrk{kj
(i) V Vinculum (js[kk	dks"Bd) — (Bar)

(ii) B Bracket (dks"Bd) ( ), { } rFkk	[ ]
(iii) O of (dk) × (xq.kk)
(iv) D Division (Hkkx) ÷ (Hkkx)
(v) M Multiplication (xq.kk) × (xq.kk)
(vi) A Addition (;ksx) + (;ksx)
(vii) S Subtraction (?kVko) – (?kVko)

II. xf.kr	esa	cM+s&cM+s	O;atdksa	dks	muds	ljyre	:i	esa	izLrqr	djuk	gh	
ljyhdj.k	dgykrk	gSA	ljyhdj.k	esa	fuEu	dks"Bdksa	dk	iz;ksx	fd;k	
tkrk	gSµ

 Øekad dks"Bd	dk	uke ladsr
(i) js[kk	dks"Bd	(Bar Bracket) ‘–’

(ii) NksVk	dks"Bd	(Circular Bracket) ‘(  )’

(iii) ea>yk	dks"Bd	(Curly Bracket) ‘{  }’

(iv) cM+k	dks"Bd	(Box Bracket) ‘[  ]’

	 fdlh	O;atd	esa	mi;qZDr	lHkh	dks"Bd	gksus	ij	mUgsa	Øe'k%	js[kk	dks"Bd]	
NksVk	dks"Bd]	ea>yk	dks"Bd	rFkk	cM+k	dks"Bd	[kksyuk	pkfg,A

	 mnk-	%	 [ { ( )}]6 4 3 2 1− ÷ × −
	
dk

	

1

2 	
dks	gy	dhft,A

	 gy	%	 [6 – {4 ÷ (3 × 1)}] dk	
1

2

 
 = [6 – {4 ÷ 3}] dk

	

1

2

 
 =

 
[ { }]6 4 3

1

2
− ÷ ×

 
 =

 
6

4

3

1

2
−





×

  
=

 

18 4

3
×

1

2

14

3
×

1

2
=

7

3

− =

	 mnk-	%	 ljy	dhft,µ

	 		 84 + 16 ÷ 2 – 7 dk	6 + 3 × 2

	 gy	%	 84 + 16 ÷ 2 – 7 dk	6 + 3 × 2 (^dk*	lafØ;k)

   ⇒ 84 + 16 ÷ 2 – 42 + 6 (÷ lafØ;k)

   ⇒ 84 + 8 – 42 + 6 (+ lafØ;k)
   ⇒ 98 – 42 (– lafØ;k)
   ⇒ 56 

 okLrfod	la[;k	dk	fujis{k	eku	;k	ekikad		
(Absolute Value of Modulus of Real Numbers)

fdlh	okLrfod	la[;k	dk	fujis{k	eku	;k	ekikad]	ml	la[;k	ds	vkafdd	
eku	(/kukRed)	ds	cjkcj	gksrk	gSµ

 
| x | =

 

x x

x x

,

,

tc
tc

>
− <





0

0

mnkgj.kkFkZ	% | 4 | = 4; | – 5 | = – (– 5) = 5

 | 2.5 | = 2.5

vr%	fdlh	la[;k	dk	fujis{k	eku	(absolute value) ;k	ekikad	(Modulus) 

dks	ml	la[;k	dh	'kwU;	ls	nwjh	ds	cjkcj	ekuk	tkrk	gSA

egRoiw.kZ	lw=	(Important Formulae)

• (a + b)2 = a2 + 2ab + b2

• (a – b)2 = a2 – 2ab + b2

• a2 – b2 = (a + b)(a – b)
• (a + b + c)2 = a2 + b2 + c2 + 2(ab + bc + ca)
• (a + b)2 + (a – b)2 = 2(a2 + b2)
• (a + b)2 – (a – b)2 = 4ab
• a3 – b3 = (a – b) (a2 + ab + b2)
• a3 + b3 = (a + b) (a2 – ab + b2)
• (a – b)3 = a3 – b3 – 3ab(a – b)
• (a + b)3 = a3 + b3 + 3ab(a + b)
• a3 + b3 = (a + b)3 – 3ab (a + b)
• a3 – b3 = (a – b)3 + 3ab (a – b)
• a3 + b3 + c3 – 3abc = (a + b + c) (a2 + b2 + c2 – ab – bc – ca)

• ;fn	a + b + c = 0 gks]	rc	a3 + b3 + c3 = 3abc
• (a + b + c)3 =  a3 + b3 + c3 + 3(a + b)(b + c)(c + a)

• fdUgha	nks	leqPp;	A rFkk	B ds	fy,	lw=	fuEuor~	gSaµ

A B� A B� B A�

A B

 (i) n(A – B) + n(A ∩ B) = n(A)

 (ii) n(B – A) + n(A ∩ B) = n(B)

 (iii) n(A ∪ B) = n(A – B) + n(A ∩ B) + n(B – A)

 (iv) n(A ∪ B) = n(A) + n(B) – n(A ∩ B)

v/;k;

3
ljyhdj.k

(Simplification)
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ijh{kksi;ksxh	egRoiw.kZ	iz'u

	 1. 
( . ) ( . ) ( . ) . . .13 8 15 6 19 4 13 8 15 6 58 2

138 156 194 138 156 156 194 194 138

– × ×

– × × ×

3 3 3

2 2 2

+ +

+ + + +

	 	dk	eku	gS&

	 	 (A)	 1000 (B) 10,000

	 	 (C)	 10 (D)	100

 2. 
.

. . . . .
0 1

0 1 0 1 0 01 0 01 0 1× × –+
 dk	eku

  (A) 0·01 (B) 0·001

  (C) 1 (D) 10

	
3.

	 ...72 72 72– – '3- 	

... ,20 20 20– – – 3

  dk	eku	\

	 	 (A) 4 (B) 2

	 	 (C) 3.6 (D) 8

 4.	
5

5 8 2 4 8 5 20×'+ - + -
	 dk	 eku	 D;k	

gksxk	\	

	 	 (A) 7.5 (B) 8

	 	 (C) 6.5 (D) 6.25

	 5.	;fn	A = 
2 2 1

2 8 17 5 18 3 36
×
× ×'
+

+ - +
	rFkk

B =
( ) ( )

5

78 39 57 19 2 5 28 14 5×' ' '+ - +

gS	rks	(A + B) dk	eku	D;k	gksxk	\

	 	 (A) 23.2 (B) 22.8

	 	 (C) 24.6 (D) 23

	 6.	 5 + 8 ÷ 5 × 3 + 2 × 3 – (5 – 8 + 6 × 3 ÷ 2) 

dk	eku	\

	 	 (A) 21.8 (B) 30

	 	 (C) 9.8 (D) 15.8

	 7.	 28 ÷ 7 + 3.5 × 3 × 2 + 8 – 7 – (4 × 8 + 8) 

dk	eku	D;k	gS\
	 	 (A) –16 (B) 10

	 	 (C) – 10 (D) –14

 8. ;fn	A = 
( )

5
2 3 8 2 5 8 4– × – ÷ ×+

	rFkk	

B =
 5

8 5 3 1 5 2 5– × ÷ · – +
	
rks	 (A + B) 

dk	eku	D;k	gksxk\
  (A) 3 (B) 3.1

  (C) – 2.5 (D) 4

 9. 2 + 3 × 2 – 7 ÷ 8 × 4 – 8 × 3 + 2 dk	eku	
gSµ

  (A) – 17.5 (B) 18.5

  (C) 17.5 (D) –18.5

 10. 
98×98 — 2× 2

98 — 2
 = ?

  (A) 96 (B) 100

  (C) 102 (D) 90

 11. 
3 3 3(2.5) + (3.2) — (4.7) + 7.5× 3.2 × 4.7

625 +1024 + 47 × 47 — 25× 32 + 32 × 47 + 47 × 25
	

dk	eku	gS	&
  (A) 0.1 (B) 0.01

  (C) 0 (D) 0.001

 12. 
5 — 2

= + 10
5 + 2

a b 	rc	(a – b) cjkcj	gS%

  (A) 3 (B) 4 

  (C) 2 (D) 5

 13. (46.7)3 – (41.7)3 – 140.1 × 208.5 dk	eku	
D;k	gksxk\

  (A) 175 (B) 27

  (C) 125 (D) 64 

 14. 
2 2

2 2

(68.4) + (31.6)

(684 + 316) + (684 — 316)	dk	eku	blds	

cjkcj	gS	:
  (A) 0.005 (B) 0.05

  (C) 0.025 (D) 0.0025

 15. 
2 2(369 + 731) — (369 — 731)

36.9×73.1
	 d k 	 e k u	

cjkcj	gS	&	
  (A) 40 (B) 20

  (C) 200 (D) 400

 16. 7×21÷ 3+ 3
= ?

8 ÷ 4×2  (A) 13 (B) 17

  (C) 31 (D) 1

 17. 72 ÷ (3)2 + (2)2 = ?

  (A) 1 (B) 6

  (C) 0 (D) 12

 18. fuEufyf[kr	dk	eku	Kkr	dhft,µ

	 	 147 147 147 143 143 143
147 147 147 143 143 143

× × – × ×
× × ×+ +

  (A) 290
1 	 (B) 290

  (C) 4
1 	 (D) 4

 19. fuEufyf[kr	dks	ljy	dhft,µ

	 	 –1 1 1 1 1 1– – – –] g6 @" ,
  (A) 0 (B) 1

  (C) 2 (D) 3

 20. 3 × 2 ÷ 2 dk 3 × 3 ÷

  

1
5 5 5 5 5 5 10

5
 + × ÷ − ÷  

dk dk 

  dk	ljyhÏr	eku	gksxkµ

  (A) 59
30  (B) 5

17

  (C) 7
6  (D) 3

2

O;k[;kRed	gy

 1. (C) gy&

  
( . ) ( . ) ( . ) . . .13 8 15 6 19 4 13 8 15 6 58 2

138 156 194 138 156 156 194 194 138

– × ×

– × × ×

3 3 3

2 2 2

+ +

+ + + +

 

( ) ( ) ( . )

( ) ( ) ( ) ( ) ( )

1000

1
138 156 19 4 3 138 156 194

138 156 194 138 156 156 194 138 194

– – × × ×

– – × – × – – ×

3 3 3

2 2 2

+ +

+ +

7 A

  ekuk	a = 138,  b = 156,  c = –194

 
( )

a b c abc

a b c ab bc ac

3

1000

–

– – –
3 3 3

2 2 2

+ +

+ +

( ) ( )

( )

a b c a b c ab bc ac

a b c ab ab ac1000
2 2 2

2 2 2

+ + + + - - -

+ + - - -

       
a b c

1000
138 156 194

1000
- -

=
+ -

 

                = 10

 2. (B)
 

= 
.

. . .
0 1

0 01 0 0001 0 01+ -

      =
 .

.
0 1

0 0001

      = 0.001

 3. (B) Short Method :

   ;fn	

( ) ( ) ( ) ...x x x x x x1 1 1 3+ - + + + -

   rks]	eku	= x

 	 	 vr%	iz'ukuqlkj

	 	⇒ ...8 9 8 9 8 9× × × 3- -` j   ÷
...4 5 4 5 4 5× × – × 3-` j

	 	⇒ 8 ÷ 4
	 	⇒ 2.

 4. (C) 
.

5
13 0 5 40 20–- +

   
.

5
12 5 20+

   = 
.

5
32 5

   = 6.5
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5. (B) A = 

4 1
10 85 6 36×

+
- +

  

  = 
5

75 216- +

    = 
5

141

                        A = 28.2

  vc B = 
( )

5

2 3 2 5 2 5×+ - +

     = 
5

75 216- +

     = 
5

141

     = –5.4

               (A + B) = 28.2 – 5.4

    = 22.8
 

6. (C) ⇒ ( )5
5
8

3 6 3 9× – –+ + +

   ⇒ 5
5
24

6 6–+ +

   ⇒  
5

25 24+

   ⇒ 
5
49

 ⇒ 9.8
 7. (D) = 4 + 3.5 × 6 + 1 – (32 + 8)
   = 4 + 21 + 1 – 40
   = – 14
 8. (C) ⇒ 

A = 
( . )

5

5 16 2 5- -

   ⇒ A = – ·
5

13 5  = – 2.7

   vc]	blh	izdkj]

	 	 	 	 B = 
5

8 5 2 2 5×- - +

     = 
5

8 10 3- +

     = .
5
1

0 2=

    A + B = – 2.7 + 0.2 = – 2.5

 9. (A) ⇒ 2 + 6 –
 8

7 4× – 24 + 2

   ⇒ 2 + 6 – 
2
7

22–

   ⇒ 14 2
7- -

   ⇒ – 14 – 3.5
   ⇒ – 17.5

 10. (B) ekuk	la[;k	x gS]

	 	 	 x = 
98 98 — 2 2

98 — 2

× ×

    = 
(98 2)(98 — 2)

98 — 2

+

     [a2 – b2 = (a + b) (a – b)]
    = 98 + 2
    = 100

 11. (B) 3 3 3

2 2 2

(2.5) +(3.2) +(—4.7) —3×2.5×3.2×(—4.7)

100[(2.5) +(3.2) +(—4.7) —2.5×3.2—3.2

× (—4.7)+(—4.7)×2.5]

   ekuk	a = 2.5, b = 3.2

   

3 3 3

2 2 2

— 3

100[ — — — ]

a b c abc

a b c ab bc ca

+ +
+ +

 = 
2 2 2

2 2 2

( ) ( — — — )

100 ( — — — )

a b c a b c ab bc ca

a b c ab bc ca

+ + + +
+ +

   = 
100

a b c+ +

   = 
2.5 3.2 — 4.7

100

+

   = 
1

100
   = 0.01

 12. (A) 
5 — 2

5 2+  = 10a b+

	 	 	 gj	dk	ifjes;dj.k	djus	ij]

	 	 	
5 — 2 5 — 2

5 2 5 — 2
×

+  = 10a b+

   
( )

( ) ( )

2

2 2

5 — 2

5 — 2
 = 10a b+

   
7 — 2 10

3  = 10a b+

   rqyuk	djus	ij]

	 	 	 a = 
7

3
, b = 

2
—

3

   ∴ a – b = 
7 2

— —
3 3

 
  

   ∴ a – b = 3

 13. (C) (46.7)3 – (41.7)3 – 140.1 × 208.5
   = (46.7)3 – (41.7)3 – 3 × 46.7 × 41.7 

(46.7 – 41.7)

   ekuk	a = 46.7, b = 41.7
   a3 – b3 – 3ab (a – b) = (a – b)3

    = (46.7 – 41.7)3

    = 53

    = 125

	 14. (A) 

2 2

2 2

(68.4) (31.6)

(684 316) (684 — 316)

+
+ +

   ekuk	a = 64.4
           b = 34.6

   

2 2

2 2(10 10 ) (10 —10 )

a b

a b a b

+
+ +

 =

2 2

2 2 2 2100( 2 ) 100( — 2 )

a b

a b ab a b ab

+
+ + + +

   = 

2 2

2 2100 2( )

a b

a b

+
× +

   = 
1

200

   = 0.005

	 15. (D)	 ekuk	369 = a

           731 = b

   rc	
2 2( ) — ( — )

10 10

a b a b
a b

+

×

   = 
2 2 2 22 — — 2

100

a b ab a b ab
ab

+ + +

   = 
4

100
ab

ab
×

   = 400

 16. (A) 
7 21 3 3

8 4 2

× ÷ +
÷ ×  = 

7 7 3

2 2

× +
×

    = 
49 3

4

+

    = 
52

4
    = 13
 17. (D) 72 ÷ (3)2 + (2)2 = 72 ÷ 9 + 4
    = 8 + 4
    = 12

 18.  (C) = 147 147 147 143 143 143
147 147 147 143 143 143

× × – × ×
× × ×+ +

   = ( ) ( )
( ) ( )

147 143
147 147 143 143

–
×
3 3

2 2+ +

   = ( – )[( ) ×

( ) ]

( ) ( )
147 143 147 147 143

143

147 147 143 143×
2

2

2 2

+

+

+ +

[Q a3 – b3 = (a – b)(a2 + ab + b2)]

   = 147 143
1

4
1

– =

 19.  (A) 1 – [1 – {1 – (1 – 1 1– )}]
   1 – [1 – {1 – (1 – 0)}]
    1 – [1 – {1 – 1}]
    1 – [1 – 0]
   1 – 1 = 0
 20. (C) 3 × 2 ÷ 6 × 3 ÷

   

1
5 5 5 25 — 5 10

5
 + × ÷ ÷ ×  

   = 3 × 2 ÷ 6 × 3 ÷ 
   (5 + 5 × 5 ÷ 25 – 5 ÷ 2)

   = 
1

3 2 3
6

× × × ÷

1 1
5 5 5 — 5

25 2
 + × × ×  

    

5
3 5 1—

2
 = ÷ +  

   = 
5

3 6 —
2

 ÷    = 
7

3
2

 ÷   

   = 
2 6

3
7 7

× =

   vr%	fodYi	(C)	lgh	gSA

qq
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